PUBLIC SCHOOL CRICKET IN 1934.

By A. PODMORE.

As in the previous season, the weather conditions in 1934 were all that could be desired, only occasional thunderstorms, mostly in the North of England, interrupting the course of the games. During the fourteen days at Lord's, which frequently have suffered serious interference in past years, rain stopped play for no more than three hours in all, though the Young Surrey Amateurs were not so fortunate at the Oval a month later. Towards the end of term some grounds suffered, especially with regard to the outfield, because of a general shortage of rain.

The fielding, notably in the big schools, maintained its high standard of excellence, and was at its best at Lord's, notwithstanding the terrible state of the turf in front of the Tavern. The catch by which P. M. Studd dismissed the Hon. N. H. Villiers in the Eton and Harrow match will not be forgotten by those who saw it. The Harrovian ran nearly twenty yards and, at deep mid-wicket, took a very hard skimming hit inches from the ground, falling over in making it. It earned him the Ebrington Cup for the best catch of the season. The Army set a wonderful example of fielding on the first day of the Schools' match, and the boys ran it very close. M. M. Walford, the Rugby captain, who had previously brought off three brilliant catches, effected two more at deep square leg and long off, and N. W. D. Yardley (St. Peter's, York) was always prominent.

Some notable batting performances were achieved during the term on the hard, true wickets. N. W. D. Yardley (145) and S. A. Newman (74) established a first wicket record of 232 for St. Peter's, York; J. D. L. Dickson (Marlborough), going in ninth against Liverpool, hit up 90 in thirty-five minutes; E. R. Speak (175) and R. Bagnall (81) scored 256 out of a total of 295 in two hours for Leatherhead; A. N. A. Boyd, the Eton captain, made 153 against the Eton Ramblers, 57 against the Free Foresters, and 111 against Charterhouse in consecutive innings; A. F. T. White (115) and M. T. Jennings (142 not out) put on 250 for Uppingham's first wicket against Cambridge O.U's.; F. W. Cole completed

his century in forty-two minutes following a declaration by the Haberdashers, and in partnership with A. R. Millard (51 not out) scored 153 in forty-eight minutes to win the game on time for Bancroft's; R. M. Hollis (60) and M. A. Peters (33 not out), added 100 for the last wicket of Charterhouse, who beat Christ Church, Oxford, by 22 runs; for Tonbridge, who lost seven wickets for 63 against a score of 261 by Blackheath, L. D. Gardner (93) and J. O. Graham (106), newcomers to the eleven, hit off the runs without being separated, the winning hit being made on the stroke of time; after losing three batsmen without a run scored, Alleyn's declared with seven wickets down for 194 and beat M.C.C. by 19 runs; N. L. Lupton, captain of Pocklington, scored 126 against Ripon Grammar School in a little over an hour, and took six wickets for 10 runs.

There were several delightful stroke-players, notably, Pawle (Harrow), Foster (Winchester), Villiers (Eton), Hayfield (Haileybury), Day (Tonbridge), Calvert (St. Lawrence), Hamp (Malvern), and Davies-Scourfield (Winchester).

Still, batsmen did not have matters all their own way and several good bowling feats were recorded. Conditions seldom favoured left-handers, but T. G. L. Ballance's record of fifty-three wickets for 11 runs each at Uppingham speaks for itself, and B. R. Darewski was consistent for Haileybury. B. K. Totton took six wickets for 7 runs for St. Paul's against Leys. The faster right-handers were better suited. Among notable achievements was that of J. S. Foster (Cheltenham) who, early in the season, obtained six Malvern wickets for 21: R. R. Bond made a successful first appearance for Harrow by taking six for 22, and R. W. W. Howell, of St. Edward's had the unusual experience of dismissing six Oriel College batsmen for only 19 runs in an innings of 173. H. R. A. Beresford, the Rossall captain, secured seven for 17 against Sedbergh and eight for 18 against the Masters, and the last five wickets of the Bournemouth Club fell at Ramsgate to J. R. Sharpe, St. Lawrence, without a run being scored.

In the circumstances, with the conditions so much in favour of batsmen, the bowlers realised the urgent necessity of keeping a length, though in some of the important matches there was a tendency to bowl short. The wicket-keeping again reached a high standard, and was a feature of the fortnight's cricket at Lord's. The bugbear of the "two shoulders," and "safety first"—not only in the play, but in "declaring"—was still in evidence. On the other hand, several captains believed in the theory that if one gave one's opponents a chance of making the runs, one possessed a better chance of getting them out, and, even at the expense of losing now and then, had the more enjoyable season.

The Eton and Harrow match for the greater part followed on the lines of the last few years, little enterprise being shown in the batting, but it finished in a blaze of glory. Harrow were the better side except in the all-important department of fielding. and there is no doubt that failure to hold their catches robbed · the side of a big chance of a long-delayed victory. Undoubtedly they had the worst of the wicket, but they had only themselves to thank for the big score Eton put up. Boyd, the Eton captain. who batted so consistently through the season, contributed a careful 100, but he should have been caught in the slips at 10, in the outfield at 41, and again in the slips at 95. On the other hand, Villiers, who completed a brilliant 50 in fifty-five minutes, was out to the great catch by Studd to which reference has been made. Among other bright interludes in the game, the spin bowling of the 15year-old J. P. Mann calls for special mention. The pitch certainly gave him great assistance and he was indebted to Magill and his elder brother for exceptional catches at cover and extra mid-off, but he got an enormous amount of work on the ball and had all the Harrovians guessing. After another dull period, during which Harrow, having followed on, wiped off the deficit for the loss of three wickets, came a magnificent effort by Pawle which will always be remembered by those who saw it. Two hours remained for play and, his side being safe from defeat, Pawle saw his opportunity and took it with both hands. He cut, drove and slashed the tired Eton bowling to all parts of the field, 104 runs being added in an hour, and then he declared leaving Eton fifty minutes in which to make 107 runs for victory. Pawle had scored 94 the previous year and his 93 represented magnificent cricket; but even finer was the truly splendid spirit he showed in denying himself the coveted century because there still remained a chance—even if a thin one—that Harrow might bring off a win. This was indeed "cricket" in the very highest sense of the term. Eton accepted the challenge, but in the end had to be content to play out time.

Interest was sustained in the Winchester and Eton match all through the two days, honours being fairly divided. In much good cricket, each held the advantage in turn, Wilson, Pilkington and in the second innings, Rees-Davies, bowling very steadily. Wilson, a son of C. E. M. and a nephew of E. R., bowled thirty-four overs for 54 runs and five wickets with an accuracy worthy of the family tradition. He was mainly responsible for the downfall of six Eton wickets on the second morning for 98 runs. The Winchester fielding was always keen and accurate, with Foster, in the slips, P. A. T. Holme, at cover point, and Eggar especially worthy of notice. Foster brought off three typical slip-catches and one from a mishit over his head on the leg side. Eton, for whom Fisher kept

wicket really well and Magill excelled at cover point, committed one or two mistakes in the first innings, but made amends in the second. Much of the batting was bright and enterprising, Davies-Scourfield and Foster each time opening Winchester's innings confidently, and Scott, who for the only time in the season lost his in-swing almost completely, proving his all-round worth in two useful displays. The younger Holme gave great promise for the future. Dixon showed a welcome return to form for Eton in the highest innings of the match, and F. G. Mann shaped well.

CLIFTON V. TONBRIDGE.

Tonbridge beat Clifton by 173 runs, but the sides were so evenly matched that, had Clifton seized their opportunities when Tonbridge led by only 83 with four wickets down in their second innings, the result might well have been reversed. Then Day gave two easy chances, but afterwards made no mistake and carried his bat for 130. Clifton being set 267 runs to win in just over three hours, Nuttall and Horsford started well, but with the exception of Weston, who hit hard for 121 in the first innings, the rest did nothing. It was Day's match as, in addition to scoring 201 runs for once out, he took, with his left-hand lobs, four wickets for 52 runs. Weston did great work for Clifton, dismissing five batsmen for 74 and scoring 145 runs.

RUGBY V. MARLBOROUGH.

The Marlborough batsmen, so successful in the trial games, failed again, as has so often happened when they come to the lively wickets at Lord's, and Rugby won easily. The wicket-keeping of Jelf for Marlborough and of Steel for the winners reached a high standard, but the feature of the match was the all-round play of Walford, the Rugby captain. He fielded brilliantly at cover point, took nine wickets with his medium-paced left-hand bowling for 67 runs, and, at a critical period, played the best innings of the match. Steel batted soundly to begin with, and West, who bowled untiringly, besides taking five wickets for 54, hit wholeheartedly. For Marlborough, Hewan, the captain, if experiencing some good fortune, showed pluck.

CHELTENHAM V. HAILEYBURY.

Haileybury went to Lord's with the reputation of being the best all-round team to represent the school for many years. It came as a mild surprise, therefore, when Norris, upon winning the toss, sent Haileybury in to bat. However, Foster, who bowled at a good pace and turned the ball quickly, at once justified his reputation by clean bowling three batsmen with only seven runs on the

board. Childs, as in the previous year, steadied the side, but seven wickets were down for 102 when P. K. Mayhew came in to hit up a cheery 59, and Gale and Annison gave further proof of the batting strength by adding 49 for the last stand. Against varied bowling and admirable fielding, Cheltenham collapsed. Next morning, Pope, Eagar, Norris and de Castle played with great pluck and determination, but Haileybury, set 73 runs to win, obtained them for the loss of two wickets.

Two representative sides had been selected for the Lord's Schools and The Rest, the most important fixture of the Schools season, in which the Lord's Schools just failed to drive home an advantage gained on the first innings. Darewski might have taken a risk and declared a quarter of an hour earlier, but possibly he had heard rumours of C. G. Toppin's furious hitting in similar circumstances in 1925. As it was, the Rest finished 120 behind with three wickets to fall. A beautiful innings of 92 by Pawle—his third in two seasons at Lord's—the bowling of Ballance and the wicket-keeping of Hayles and Brodhurst were features of the game. The fielding was as good as anyone could wish to see, and Walford brought off three brilliant catches in different positions. The batting was sound all through and Mayhew and Hayles hit up 71 and 53 in two bright eighth wicket stands for the Lord's Schools.

Against the Army, the Schools gave the best display of batting and fielding seen since the inauguration of the match in 1920. Yardley put together a great innings of 117—the first century scored against the Army. He played every stroke with the ease of the batsman who knows where to place his feet, and combined an impregnable defence with splendid power in driving. Walford proved his value by helping Yardley to add 89 for the sixth wicket, and Mayhew made a bright if somewhat unorthodox 56 (not out) in thirtyfive minutes before the innings was declared at 303 for eight wickets. A beautiful innings by R. E. H. Hudson, supported by R. J. Packe and P. M. Hughes, enabled the Army to lead by 16 runs. Nuttall, who hit very hard, and Yardley obtained 84 for the first wicket in the Schools second innings, Bell played sound cricket, and Pawle scored with delightful freedom, sending up the second hundred with only two wickets down. Four more batsmen fell in trying to get runs in a hurry, and the Army were left 200 runs to make in an hour and a half—a severe but not impossible task. Hudson and C. P. Hamilton made 73 together, and when bad light stopped play 105 runs had been scored in just over three-quarters of an hour for the loss of two wickets. Although, throughout the Army's two innings, Darewski kept an admirable length, the bowling on the whole was disappointing.

It may have been the dull overcast weather or the reaction from the brilliance of the cricket earlier in the week, but at any rate the first day's play in the Young Amateurs and Professionals match was almost depressing. The Professionals occupied three hours and threequarters over a total of 192 and the Amateurs' fielding did not compensate. Emmett and Compton made some good strokes, but little enterprise was shown, K. Cranston (Liverpool College) bowling 23 overs, 11 maidens, for 36 runs and 4 wickets. The Amateurs, with the exception of Cranston, C. L. Edgson (Stamford), and D. M. Matthews (Felsted) were little more venturesome, being all out for 164. Putner troubled most of the batsmen with his leg-breaks. In marked contrast to the methods employed during the opening stage, Putner hit freely for 126, reaching three figures in eighty minutes. Declaring at 213 for five, the Professionals left their opponents three hours in which to get 242 to win. E. B. Calvert (St. Lawrence) played a steady innings, but Putner and Turvey, the slow bowlers, supported by keen fielding, carried all before them until J. M. S. Burrow (Denstone) and B. H. Fisher (Eton), who also kept wicket very well, added 71 for the ninth wicket by the best cricket of an innings that closed for 153.

THE COLTS MATCH.

The Colts match, which concluded a most enjoyable fourteen days, brought to light some very promising young cricketers. The players were all under 16 on May 1 and many of them should be heard of in their school elevens in 1935. Some have already made their names, notably J. M. Pollen, a hard-hitting batsman from Downside with all the left-hander's strokes, and F. F. Richardson, an all-round left-hander, who will captain Westminster this summer. Harrow produced two fast-medium bowlers in D. W. Stuart and W. G. Stewart, whose names may well cause confusion in 1936, and the most promising batsman seen during the fortnight was perhaps M. D. Watson, a son of H. D. Watson, who played two beautiful, wristy innings of 38 and 24 (not out) without a mistake. Eton had a diminutive batsman in D. Curling, the possessor of a good eye and excellent wrists.

THE OVAL WEEK.

Rain interfered considerably with the annual week at the Oval. It robbed the Young Amateurs of a victory over Essex and saved them from almost certain defeat by Kent. The Middlesex match was won by a wicket on the stroke of time. With the exception of J. M. Lomas (Charterhouse), who possessed a considerable range of strokes and a very strong defence for so young a player, there was no outstanding batsman on the Young Surrey Amateurs side. With brilliant exceptions in K. R. G. Campbell (Dulwich) and

Lomas, the fielding on the whole, and particularly in the slips, disappointed. R. West (Rugby) saw accepted only one chance of the many offered from his bowling during the week. He and D. E. Young (K.C.S., Wimbledon), leg-breaks, bore the burden of the bowling and between them accounted for thirty-one of the forty-two wickets which fell, Young taking nineteen for 14 runs apiece and West twelve for 16 each.

Little more than an innings each could be played in the Essex match and the visitors, with six wickets down in the second innings, finished only 11 runs on.

Thanks mainly to two good innings by Lomas and the bowling of West and Young, Surrey beat Middlesex, the same two bowlers hitting off 25 runs for the last wicket without being separated. D. E. C. Steel (Rugby), who opened for the visitors, fell in each innings to a brilliant catch.

The final match with Kent produced the best cricket of the week. D. M. Harris (Sherborne) with 78 was the main contributor to Surrey's total of 216, and in reply the visitors lost three wickets for 28. P. G. Foster (Winchester) who hit freely and D. A. S. Day (Tonbridge) then added 142 runs. Foster and A. M. Hayfield followed with a partnership of 163 in a little over an hour, when Foster was finely caught at cover point for a delightful 165. Hayfield completed a chanceless hundred and the innings was declared at 367 for six wickets. At the drawing of stumps, Surrey stood 46 runs behind with four wickets down in the second innings.

The Eton eleven of 1934, under the captaincy of Boyd, made very little history and will not long be remembered. This is the more to be regretted since the side opened the season on Upper Club with three extremely good performances. They all but defeated Liverpool and gained smashing victories over the M.C.C. and Butterflies. But cricket played on Upper Club in May, though idvllic, produces form that is altogether misleading. Visiting batsmen, somewhat out of practice, cannot sight the ball, and the home bowlers find the task of taking wickets much easier than is good for them. The selection of the eleven would probably be simplified were all the matches played in the brighter light of Agar's Plough, which revealed very serious shortcomings. The batting of Boyd was extraordinarily successful, but he and his illustrious predecessor are dangerous models, and it is difficult to say how far they are to blame for the prevailing Eton fault of whipping the leading shoulder round to square leg and presenting the whole front to the bowler. Such a movement kills the cut and makes all off-side play streaky. Every member of the side except Magill, the two Manns and Campbell committed that crime, and only Boyd and

Villiers, the left-handers, were good enough to get away with it. Boyd enjoyed a wonderful season, as would Villiers, had he exercised the same patience as his captain. Of the rest, F. G. Mann showed by far the best technique. Pilkington and Magill made good scores on occasions, and Dixon, who played excellently at Winchester, made, at the end of his last season, some return to the form of his early days.

Rees-Davies, easily the most pertinacious of the fast bowlers. was not really fast enough and Campbell became more and more innocuous. The former has a poor action; the latter lost entirely what was once a good one. Pilkington, an old hand who varied his pace cleverly, and Magill were better than they looked and a search for a slow spinner soon revealed the fact that J. P. Mann was easily the best. He can be, as the Harrovians know, very good indeed. His bowling at Lord's formed one of the three memorable things in the season. The other two were Boyd's batting throughout the year, and Villiers' innings (not forgetting Studd's catch which dismissed him) against Harrow. Wild, a young and quick left-hander, should be very useful this year. Fisher was one of the most notable of recent Eton wicket-keepers, and the fielding vastly better than that of the previous year, Magill being outstanding at cover point. Fisher, next year's captain, will have Rees-Davies, the two Manns, Wild and Cassavetti (12th man) left to help him. Batsmen and a steady bowler are urgently needed.

That Harrow commanded the best all-round side of the last few years will readily be admitted. Of the twelve matches played, three were won, including that at Charterhouse, and a particularly fine victory against I.Z., whose score of 254 for seven (declared) the school passed with four wickets down, thanks to a quick century by Carris; six were drawn—three well in Harrow's favour—and three lost. As to the defeats, the Harlequins and Crusaders both won after the school had declared, and the only occasion when the batting partially broke down was against the M.C.C., who succeeded by 72 runs. The batting was sound all through-nine of the side averaged over 20-and the bowling possessed variety with Duveen, left-hand, and Bond and Kaye, fast-medium, Carris, left-hand, and Stogdon. Bond, who delivers the ball from a good height, but at present is apt to slow up on the bowling crease, proved a great acquisition, and Duveen bowled as well as ever, but seldom found a wicket to help him. The fielding was generally reliable and the catching safe.

The poor cricket shown by the eleven for the greater part of the two days at Lord's was therefore all the more disappointing; but the magnificent display by Pawle in the concluding stages

of the game more than made amends. It was as brave and unselfish cricket as has ever been seen in the historic match and a fitting climax to the school career of a great captain. With eight of the side remaining, under Studd, for next year, including Carris, Duveen, Stogdon, Kaye, Neumark, Bond and Joynson, and many promising colts coming on, there is little fear for the future of Harrow cricket.

Winchester, a really good batting side, possessed in Foster and Davies-Scourfield a dangerous opening pair and both strokeplayers. M. W. Holme missed the first month of term, but filled the breach at No. 3 with sufficient success to promise well for the next two years. Eggar not only saved the side by his dogged defence on many occasions, but also showed his ability to score exceedingly fast. Grover had an "off" year with the bat, but proved an efficient wicket-keeper and revealed judgment and perception as captain. Of the remainder of the batting, it suffices to say that No. 10 on several occasions was tried as No. 1. The bowling lacked variety, as the main work in attack fell on Scott, Bryan and Wilson, all three medium-paced right-hand. However, they all knew how to bowl a length, and Wilson's five wickets in the Eton first innings may well be a foretaste of many successes during his next two vears. Scott's in-swingers to a leg-side field gave the side an encouraging start in practically every match with two or three cheap wickets. Townsend's leg-breaks were very valuable against Charterhouse when he took five wickets. In the field, the team lacked its usual quickness. There were, however, four fine individual fieldsmen. P. A. T. Holme, at cover, Foster, at first slip, Eggar and Wrench. The one-day matches at Charterhouse and Harrow were drawn without advantage to either side, but Winchester defeated Marlborough convincingly, Eggar (93) helping to add 120 runs in something like three-quarters of an hour after lunch. Eton gained a lead of 32 runs on the first innings and had slightly the best of the position at the close, but not all the honours, for, Wilson dismissing five batsmen for 54, a collapse occurred on the second morning on a plumb wicket. Prospects for the coming season are encouraging with Eggar as captain, and Foster, Faber, Wilson and M. W. Holme to support him.

The Rugby Eleven failed to do themselves true justice throughout the season until, at Lord's, they defeated Marlborough by nine wickets. In all the club matches, the school fared much better than against other schools. They beat a powerful Butterflies' Eleven, and Steel and Kershaw put on 164 runs for the second wicket against a very strong Foresters' side. On the other hand, they lost the Clifton match when, with all their wickets in hand, they needed only 129 runs to win, and Uppingham beat them when they had

no more than seven runs to get and four wickets to fall. Rugby and Repton met for the first time, Repton winning by three wickets. Walford, the captain, never really came off till he showed at Lord's what a fine all-round player he is. Steel and Kershaw were the sole consistent run-getters on the side, the former reaching his 500 runs during his innings at Lord's. West proved a really fine bowler when things went well with him, taking forty-seven wickets for under 12 runs apiece. Very steady fielding made up for any weakness in the bowling which, apart from West, reached no high standard. Walford set a brilliant example and Steel, who will captain the side this year, filled the breach behind the wicket very effectively. Kettle, Dewar and Appleby will also be available.

With six old colours-including three bowlers, and the wicketkeeper-Marlborough had every reason to anticipate another successful season. Actually, they were a little disappointing, for they won only three matches, lost four and drew four. In a strong batting side, No. 10 was just as likely to (and did) make as many runs as those much higher up, but the bowlers did not come on as much as expected. Cheltenham were beaten by an innings and 95 runs, Hewan, the captain (106) and Cheales (94) making a big stand for the second wicket; time saved Wellington from defeat and rain spoiled the Harrow match. The team collapsed on the livelier wicket at Winchester and again at Lord's against Rugby. Jelf, a very promising stumper, superseded Fletcher behind the wicket, the latter retaining his place in the side for his batting and fielding. Heyland, who played only in the later matches, headed the batting with an average of 41, and Whitehouse, Hewan and Dickson showed great improvement, but Harbottle, the left-hander who promised so well in the previous year, did not experience the best of luck. The fielding generally was good. With Hewan again captain, and Whitehouse, Harbottle, Dickson, Westwood, Fletcher, Cheales, O'Regan and Jelf staving on, Marlborough should be in a happy position in 1935.

Cheltenham, with four matches won, four drawn and four lost, showed much better figures than in 1933. Of the four school matches, however, those against Marlborough and Haileybury, were lost by big margins and that with Clifton—largely spoiled by rain—left drawn. Main credit for the victory over Malvern belonged to Foster, who took six of the first seven wickets for 12 runs and brought about the dismissal of the visitors for 91. Against Marlborough, Foster secured a wicket in his first over, but then an epidemic of dropped catches allowed the next partnership to realise 204 runs. Against a powerful Haileybury side at Lord's, he sent back the first three batsmen for seven runs when Cheltenham won the toss and put their opponents in, and he bowled consistently

well all through the season. Making the ball do a little either way, he came quickly off the pitch and rarely failed to get an early wicket or two. Norris kept wicket really well throughout the summer and was an excellent captain. Arengo-Jones was much the best batsman, but Eagar, out of luck, failed to make as many runs as expected. Powell was steady, and Pope and de Castle showed great promise for the future. The bowling lacked variety, Pope and Arengo-Jones, medium-paced right-hand being similar in type to Foster. With all the side except Norris, Arengo-Jones and Fisher, again available, the outlook for 1935 is promising.

Able to call upon eight old colours, Haileybury fully realised expectations, losing only to M.C.C., Crusaders and Gentlemen of Herts., and beating all their school opponents, including Uppingham—for the first time since 1913—in addition to Caius College Googlies and Foresters. The games against Wadham College, Old Haileyburians, F. Pawle's XI, Cryptics and Incogniti were drawn, mostly in favour of the school. The strength of the side was reflected by the inclusion of four representatives in the Public Schools XI at Lord's against the Army. They possessed a large number of all-rounders, including a first-rate wicket-keeper in Hayles, and they played as a team, with every member able to get runs. Six of the side averaged over 25-and they hit the ball. Purdy and Ridler were a sound opening pair; Hayfield, who scored over 600 runs, combined a great variety of strokes with sound defence; Childs. a player with a true cricketer's temperament, should again make many runs this year, and P. K. Mayhew and Hayles formed an ideal No. 8 and 9. P. K. Mayhew, fast-medium, Darewski, a lefthand spinner, Hayfield, leg-breaks and googlies, Gale, leg-breaks, C. P. Mayhew, left-hand, and Annison constituted a varied and accurate attack supported by good ground fielding and very safe catching. Finally, Haileybury were fortunate in their captain, Darewski, who handled his bowling with judgment. With Hayles, P. K. Mayhew, Childs, Purdy and Annison remaining, they should still be well up to the average this year.

Although able to include six members of the 1933 eleven, Clifton did not meet with the success anticipated, for the batting proved disappointing, and Scott, a young leg-break bowler who may come into his own this year, scarcely fulfilled early promise. On the other hand, M. H. Anderson, the wicket-keeper, had few superiors in the schools, and Nuttall was a safe and brilliant cover-point. Inasmuch as they beat Rugby and had much the better of a rainy draw with Cheltenham, the season cannot be written down as a failure. At Lord's they looked to be gaining the upper hand against Tonbridge on the second morning, but were outplayed in the concluding stages.

With an aggregate of over 400 runs, Nuttall was a most consistent opening batsman, but he accomplished little in the inter-school matches. Heath and Weston showed themselves attractive hitters with not much pretence to soundness, and Lapage often rendered valuable help. As to the bowling, Scott took 37 wickets for just under 18 runs apiece; Weston (slow-medium right), always ready to experiment, put in much useful service, his nine Rugby wickets for 47 being a fine performance, and Heath worked indefatigably; but Lapage rarely combined pace with accuracy. Watkins, slow-left, improved considerably. Six old colours, including M. H. Anderson, Weston and Scott, staying on, the side should do well, but sound batsmen are sorely needed.

A useful average side, without a tail in run-getting, but with no really good bowler, Tonbridge won four and lost three of their fifteen engagements. The batting stood them in good stead on several occasions and a fine eighth wicket partnership brought a brilliant win over Blackheath, when, after the loss of seven men for 63 in reply to a total of 261, Graham (106) and Gardner (93) won the match without being separated. The first three inter-school matches were drawn, and the season finished with a somewhat unlooked-for victory over Clifton, Day, with scores of 71 and 130 (not out) being mainly responsible. Apart from Day, who hit with immense power and was not afraid to get his left foot to the pitch of the ball, the most consistent batsmen were La Fontaine, the captain, and Graham, who also improved considerably as a wicket-keeper. While the ground fielding reached the average, the catching was poora fact the more unfortunate in view of the meagre bowling resources. Great credit fell to Flower, Popple and Parsons, who kept at it hard in face of missed catches and plumb wickets. Cobb is the new captain and Parsons, Thompson and Hobbs are also returning.

The Westminster season was only moderately successful, three matches being won, three drawn, and six lost. They beat Wellington, drew with Stowe and Radley, and suffered severe defeats from Sherborne and Charterhouse. The batting was fairly strong, centuries being scored by Hobbs (2), Alderson and Angelo, but the cares of captaincy weighed heavily upon Angelo, who until the last match of term against the Old Boys, failed to reproduce his form of the previous year. Still, Angelo, with his leg-breaks, achieved most success among the bowlers the others never looking dangerous on the hard wickets, and the eleven deserved credit for developing into a particularly good fielding side, with Alderson outstanding. Richardson, a left-hand all-rounder who played in the Colts Match at Lord's in 1933 and 1934, will captain the side in 1935, and Symons, Rayne and Stocker, of the Old Pinks, remain in addition to Lygon, Currie and Cunliffe, who appeared in several matches.

When Lomas was available, Charterhouse possessed exceptional batting strength and were well up to standard in bowling and fielding. Unfortunately illness kept him out of the team for three weeks in the middle of term and prevented him from appearing against Eton and Harrow. Westminster were beaten by eight wickets and Wellington dismissed for 127 after Charterhouse had declared at 348 for three wickets. The games with Winchester and Eton ended in draws, that with Harrow being lost by nine wickets. Field and Lomas were the most reliable of the batsmen, and Richards, the captain, played three fine innings, including a century against Wellington. Paynter and Reynolds also made useful scores on occasions. Power, a good opening fast bowler, Diver, medium right-hand, and Hollis, a slow spinner, shared the bowling. Wilson, who succeeds Richards as captain, was hardly so successful as in 1933. Other colours remaining are Lomas, Power, Hollis, and Reynolds.

A side of good average ability, Repton won five matches, lost four, and drew two, but the batting to begin with disappointed. Barrett, who, against Shrewsbury, made 81 not out on a wet wicket when only two other members of the side reached double figures, was the one consistent batsman, though later Montgomery ran into form and scored a beautiful century against the Repton Pilgrims. The main strength of the team lay in the bowling of Foster and Greswell, the former a medium off-spinner who varied his pace skilfully, and Greswell an in-swinger with deceptive flight. Ashton and Seaford, both fast-medium right-handers, bowled well at times, and Coghill, by taking with his leg-breaks seven wickets for 53, bore a leading part in the defeat of Rugby. Montgomery will again captain the side, and Willatt, Bagnall, Lowcock and Murray are staying on.

Malvern commanded a useful all-round side, with however, a lack of variety in bowling. The fielding attained a high level throughout and the captain, Cope, gave a lead in all departments of the game. All the eleven showed ability with the bat, though Moss alone obtained a century—a fine effort of 107 (not out) in the Repton match. The Shrewsbury game was drawn, Cope and Hamp (who played a beautiful innings at the Oval in September) engaging in a big stand at a critical point; that with Cheltenham lost by 88 runs, and defeat experienced from Wadham and Christ Church, Oxford, the Foresters and Old Malvernians. Willis-Dixon bowled courageously and well deserved his thirty wickets. Brodhurst, who derived little help from the fast wickets, should prove deadly under different conditions. Brodhurst, captain, Willis-Dixon, Greatbatch, Henson and Rogers remain for this year.

On the whole Shrewsbury experienced a successful season. They beat Rossall by ten wickets, lost to Repton and Uppingham by five

wickets and played a drawn game at Malvern. The batting was strong all through, but the bowling, apart from that of Howell, who, owing to a strain, could play only half the season, was not specially effective. The absence of Howell, who revealed considerable pace, was severely felt against Repton and Uppingham. He took nine wickets for 49 runs against Rossall, and Thornycroft played a fine innings of 134 in an even draw with Malvern. In a low-scoring game at Uppingham, the home side led by 13 runs on the first innings. The Shrewsbury Saracens were defeated in an innings, Best, who will captain the eleven this year, being top scorer with 64, and nine of the eleven altogether reaching double figures in a total of 376. The efficient wicket-keeping of Stanbury stood out among excellent fielding. Best will have the assistance of Thornycroft, Warman (who performed the "hat-trick" against Rossall), Marrian (86 not out v. Rossall), Robinson, an opening batsman, and Wild, a change bowler.

Maintaining their wonderful record—as they had done at Rugby football—Uppingham won nine of their twelve engagements and lost only one. Rain interfered with the Old Boys match—only one innings apiece could be played—and the school just failed to force a win in the one-day game with Oundle. Jennings, a newcomer, removed anxiety at the beginning of the summer regarding the problem of finding an opening batsman by assisting White to put on 249 in the first match, and later Blake proved a reliable first-wicket partner. Much of the batting disappointed, however, and though Bell, White and Ormsby did consistent work, the injury which kept R. J. McCosh out of the team was much to be regretted. Once again the side owed much to the left-hand bowling of Ballance, the inspiring captain, who took 53 wickets for 11 runs apiece, and who received splendid support from Gillespie and Watson. Watson, bringing off some first-rate catches at short leg, won the fielding prize, and Horsfall showed promising form behind the wicket. The only defeat—by ten wickets—came from Haileybury. Repton were beaten by an innings and ten runs, Blake playing a fine innings of 86, and Shrewsbury by five wickets. Put in at Rugby, Uppingham were all out for 105. With 93 up and six wickets in hand, Rugby seemed assured of victory, but the last five wickets fell for two runs, Uppingham winning in a sensational finish by four runs. Bell will captain the eleven this year, and Ormsby, Jennings, Samuel, Gillespie and Horsfall are also available, in addition to R. J. Frearson, who kept wicket in 1933.

Varied bowling brought a fair measure of success to St. Paul's, Feldman, a slow spinner with an occasional googly, and Totton, left-hand, with valuable assistance from Alexeew and Crebin comprising

an able attack. Moon and Boswood were the most consistent batsmen, and Passmore and ffennell, the latter of whom hit up 119 against Eton Ramblers, also did capital work in run-getting. There are seven old colours left for 1935 and four others who played for the eleven.

If they could not be said to have had a bad season, Dulwich on the whole, disappointed. They beat Bedford and St. Pauls', drew with Brighton and Tonbridge, and suffered defeat at Mill Hill. Considering that he followed such an experienced leader as H. T. Bartlett, Holliman achieved notable success in his first year's captaincy. His batting improved beyond all expectation and he bowled his leg-breaks better than ever, keeping a far steadier length. The batting was strong, but lacked both enterprise and resolution. Beaumont, a very useful opening batsman, Knight, Haycock and Campbell all rendered Holliman great assistance, but Booty, who had promised so well, fell right away. Denby, a left-hand colt, justified his inclusion by his vigorous batting. There was plenty of variety in the bowling with Chiverall and Campbell, medium-pace, Silkin, slow leg-breaks, and Beaumont. Silkin, who easily headed the averages, bowled uniformly well throughout the summer. The fielding greatly improved as the term went on, and by June little fault could be found. Holliman will again captain the side this year, and will have the help of Haycock, Silkin and Denby.

While Bradfield gained victories over Wellington and strong sides of the Foresters, Authentics and Old Wykehamists, they suffered seven defeats, including those from Radley, Lancing, and Stowe, and played three drawn games. They had three good fastmedium bowlers in Raynor, Hunter, who took forty-five wickets for less than 15 runs each, and Allpass, but no leg-break bowler. Concerning the batting, everyone played at least one good innings, but it broke down in the school matches. Paine, who obtained 561 runs, finished the season brilliantly and scored over 400 in his last eight innings, including 112 v. S.C.R., 74 v. Wellington, 69 (not out) v. Lancing, 66 v. Incogniti and 60 v. Butterflies. Raynor, a keen captain, the two Wilsons, and Williams, a useful wicket-keeper, did best among the other batsmen. Slow in the field to begin with, the side improved considerably as term went on. Buckham, Heathcote and R. G. Wilson will be available for 1935.

After their successes of the previous year, Wellington disappointed, but there is plenty of young talent for 1935. Only four old colours were left, and satisfactory opening batsmen could not be found to replace D. F. Furlong and G. L. Auret. Unfortunately, Bird alone of the old colours revealed his true form. He kept wicket

extremely well and, by constant practice and determination, made himself the most reliable batsman on the side—he headed the averages with 40. The bowling was weak. Wakelin, slow left-hand, received little support, though Eddison and Pedraza showed promise early in the term. After an encouraging start against the Incogniti, there came a really creditable win over the R.A.S.C., but this was the one victory of the summer. Marlborough had the better of a drawn game at Wellington, Haileybury won in an innings at Haileybury, and the Westminster, Charterhouse and Bradfield matches were also lost. Eddison, McCall, Pedraza, Hunter, Roberts and Mc L. Forster, will probably be staying on this year.

Strong in batting and possessing variety in attack, Sherborne had a good side in 1934. Four centuries were hit for them and eight batsmen averaged over 20. Robinson, Clarke, Bell, Wilson and Williams bowled effectively at times. Downside, against whom Robinson and Harris each scored a hundred, Blundell's and Westminster were beaten convincingly and Sherborne took honours in drawn games with Tonbridge and Radley. Eldridge made 104 not out against Dorset Rangers and Sherley-Price, who will captain the side this year, and Bell enabled Robinson to declare against the Old Boys at 381 for six wickets. Morgan revealed great promise behind the wicket and the fielding, except in the slips, reached a high level, the throwing in being specially good. Eldridge and Harris are returning this summer.

St. Edward's maintained the high standard of recent years, and of eighteen matches played, six were won, including all the school fixtures, nine drawn, and three lost. Four players were largely responsible for this. Butterworth, the captain, scored 690 runs and took forty-four wickets; Dixon and Reid, the opening batsmen, four times shared in partnerships of over 100, and Howell headed the bowling averages with forty wickets for just over 14 runs apiece. Maclaurin developed a soundness in defence which should stand him in good stead, and Cooke and Lawson played several attractive innings. Totals of over 200 were frequent; the bowling revealed plenty of variety, and Lawson proved a most efficient wicket-keeper. Dixon, the captain, will have Cooke, Reid, Maclaurin and Holley with him this season.

An outstanding feature of the *Bedford* season was the batting of Burton, the captain, who scored 735 runs, including two centuries, with an average of 43. He watched the ball closely, possessed a fine defence and, going in first, set an inspiring example. Weakness in bowling prevented the side from winning more matches. No fewer than nine were drawn, only three won, and five lost. Percy and Emmer, medium pace, and Rawlins, slow left, took over thirty

wickets each, but they received no support, and a fast bowler was sorely needed. Two of the school matches were won, St. Paul's being beaten by one wicket at West Kensington, and Leys by 155 runs, largely because of a hurricane century by Walker, who hit up 105 in just over an hour; Oundle had the better of a drawn game, and the Dulwich match was lost by three wickets. Bedford's first three batsmen left without a run scored against Dulwich, but thanks to a great innings of 81 by Panton, the wicket-keeper, the total reached 211. Panton, the new captain, will have with him five other old colours, August, Cook, Percy and Emmer, the opening bowlers, and Holladay, a promising wicket-keeper.

As had been anticipated, Blundell's experienced an unsuccessful season, four matches being drawn and the remainder lost. The boys were very young, but began to show improvement towards the end, and time alone baulked them from victory in the last game of the summer against Sidmouth, when the eleven gave an excellent all-round display. Norman was easily the most successful batsman, but Wynne, the captain, could do little right. The bowling honours were evenly divided. Lloyds, this year's captain, kept wicket excellently. Four other old colours—Beach, Walker, Morant, and Insley—remain, with Peirce and B. A. Smith, who got into the eleven as Senior Colts.

The Oundle eleven, up to the average, remained undefeated in school matches, Leys being beaten fairly easily and drawn games played with Uppingham, Stowe and Bedford. The two lastnamed ended in Oundle's favour, but time robbed Uppingham of victory. Stuart, who will captain the side this season, proved the best Oundle all-rounder for some years. He scored 567 runs and took 39 wickets at a cost of 15 runs each. Maw, Payne and Plummer also batted consistently and Newsholme, the captain, and Maw, both scored centuries against Stowe at the Oval. Ling and Knox played some useful innings. Cowan, fast, Stuart, Newsholme and Llewellyn did best in bowling. Marment kept wicket splendidly. Stuart, Maw, Marment, Ling, Knox and Llewellyn are expected to return.

After a rather shaky start, Stowe became a really good combination. Of the school matches, those with Radley and Bradfield were won, drawn games were played with Westminster and Oundle, and Haileybury, met for the first time, triumphed by two wickets in a fine struggle. The batting was strong. Lucas turned himself into an opening batsman, Buchanan was consistent, Goldschmidt played some brilliant innings, and Langley, with a wide variety of strokes, did exceedingly well in his first year. Mallett, Krabbe, Oliver and Clive all rendered good support. The fielding reached a high

standard, with Brown outstanding, but the bowling was weak. Buchanan proved the most reliable and Goldschmidt and Macoun lent valuable assistance, but Lucas suffered from muscular trouble and could not do himself justice. Mallett succeeds him in the captaincy and will have the assistance of Goldschmidt, Krabbe, Buchanan, Clive and Lynch-Staunton.

Canford surpassed any previous achievements. After a poor start—the first four matches were lost—they won seven of the remaining ten fixtures and shared honours with Eton Ramblers and the Hampshire Hogs. The match against Captain Hambro's eleven was lost in the last over of the day after the school had declared. Unusually strong in batting, Canford declared against Victoria College, Jersey, at 224 for four and scored over 300 runs against Hampshire Hogs and the Old Boys. Milman captained them admirably and kept wicket skilfully all through; Whitwell and Yeomans, the opening pair, had much to do with the successes, and Lovell, Phillips, Whelon, who made a brilliant century against Captain Hambro's eleven, and Verney could be relied upon. Taylor, legbreaks, took 42 wickets for just over 13 runs apiece, and Yates, fastmedium, Treasurer, left-arm medium, and Thorpe, medium, backed him up finely. The fielding generally was good. Notable victories were gained over M.C.C. by four wickets and Free Foresters by eight wickets, the school scoring 224 for two in the latter match. With Phillips (captain), Yeomans, Whelon, Thorp and Taylor staying on, the outlook is very promising.

For the third consecutive summer Cranleigh had seven old colours left, and they developed into one of the most powerful elevens ever to represent the school. They lost only to the Masters and a useful Incogniti team in the last match of term. After putting up a grand struggle at Highgate, where they have not won for many years, they gained convincing victories over Epsom (by seven wickets) Christ's Hospital (by eight wickets) and Mill Hill (by ten wickets). Cranleigh's chief strength lay in bowling. Foot and Loates, who took 50 and 45 wickets respectively, proved a formidable combination, and Reynolds, left-hand, bowled well when called on. The batting did not attain to the same heights, but Cox, the captain, scoring two centuries, showed great promise, and no fewer than eight of his colleagues played innings of over 50. The fielding was for the most part, sound, and Cox captained the team admirably. Black, MacRobert, Shelley and Jeans stay on for this year.

Though only two matches were won outright, Merchant Taylors' second season at Sandy Lodge was, in many ways, more satisfactory than the first. While they lost to Christ's Hospital and Berkham-

sted, the school claimed honours in most of the drawn games. Most of the credit for this must go to Barnes and Camp, who rarely failed to put up a useful stand for the opening partnership; Harrison, Gibbon and Balkwill made some valuable scores, but the rest of the batting was a little disappointing. Barnes, who will captain the side this year, hit up 156 not out against the Stoics in just over two hours and a quarter, and carried off the bowling honours. Balkwill and Harrison also remain, in addition to several others who played occasionally.

With seven old colours Mill Hill met with less success than anticipated. Murray-Wood carried off the batting honours although Young and Newman were a reliable opening pair. Harris did best among the bowlers, and Shooter, fast-medium right, and Murray-Wood, leg-breaks and googlies bowled well on occasion. Gotch, Jones and Downing proved useful changes. The first school match—against St. Paul's —was lost, but centuries by Newman and Murray-Wood brought an easy win over Highgate. Thanks to the bowling of Shooter, the School beat Dulwich, and defeats by Felsted, Cranleigh and Leys brought a rather disappointing season to a close. Murray-Wood will captain the side this year and Gotch, Young and Dean are again available.

Felsted, a well-balanced team, possessed two really good all-rounders in Matthews, the captain, and Bullough, but the former did not reproduce his magnificent form of the previous year when he headed both batting and bowling averages. Gardner, Baylis, and Ward all made runs and Sugden and Ward strengthened the bowling. Chatfield-Clarke, a reliable batsman, showed distinct promise behind the wicket. They beat Mill Hill by five wickets, lost to Leys by 90 runs, and owing to rain had little more than two hours' play against St. Paul's. Matthews, will captain the side for the second season, and will have the assistance of Chatfield-Clarke, Bullough, Baylis, Jaggard, Ward, Sugden, and Bawden.

From a disastrous start Leys, never really recovered, the early matches, with the exception of that against University College School, who were beaten easily, resulting in overwhelming defeats. Then under Leigh's captaincy the eleven began to take shape. They beat Felsted and Mill Hill, but lost the last match of the term to Bedford. Jordan, Lauder and Kelshall were the most reliable batsmen and Park the one really successful bowler, his leg-breaks bringing him a deserved reward of 40 wickets. The fielding showed improvement, Hudson and Leigh being conspicuous, while Farrington was safe behind the wicket. Lauder, Kelshall, West, Myers and Hudson are expected back this summer.

Following three successful seasons, Sedbergh's record—two matches won, seven lost, and two drawn—make rather dismal reading. The side, however, was young and inexperienced, and had there been even one seasoned batsman, the results might have been far different. Many scored their twenties and thirties, but no one amply took the place of Mitchell-Innes. For the first time for some years Sedbergh, were without a left-hand bowler. The lack of real pace, though Learmonth, Grieve, Cockcroft, and Turnbull worked hard, was serious. The ground fielding and catching reached a very high standard, W. A. Turnbull, the captain, setting a fine example behind the stumps. The team achieved a good performance in defeating Stonyhurst, but the other school matches—Rossall and Ampleforth—were lost. The nucleus of an eleven remains for this year.

Stonyhurst played seventeen matches, of which eight were drawn, five lost and only four won. Uncertain batting accounted mainly for this rather disappointing record. O'Brien and Moran played some very good innings, St. Lawrence was always sound and Kelly and Weidner at times showed good form. Moran, unfortunately, was away for nearly half the matches. Todd was easily the best bowler. The School beat Rossall by five wickets, but Sedbergh won by the same margin. The Giggleswick match was drawn owing to rain. Weidner (captain) St. Lawrence, and Edridge are available this summer.

Winning every school match, Ampleforth fared exceptionally well. When Waddilove—the best all-rounder—did not come off, others made sufficient runs to win the matches or to avoid defeat more than four times. The strength of the side lay in the bowling. Wells, slow left, and Waddilove, medium-paced right, formed an effective attack, and were ably backed up by Dalglish, with Walter and Gillow as additional changes. Walter, Munro, Wells and Dalglish are available, so the attack should again be strong.

Though an epidemic of measles spoiled the season, causing the cancellation of two school matches, St. Peter's, York, were well up to the standard of 1933. Yardley, the captain, was once more a tower of strength and, in addition to scoring nearly 600 runs and taking thirty-one wickets for 12 runs apiece, he fielded brilliantly at cover-point. His choice for the Rest v. Lord's Schools was more than justified, and he made a century against the Army—a feat never before achieved by a schoolboy. Dodds, thirty-five wickets, and Mackintosh, a valuable slow bowler, who came out with a batting average of over 50, bore the burden of the attack. Newman should have six old colours under him this year.

Giggleswick enjoyed a very successful season. They won six matches, drew three, and lost only two—one, to St. Peter's, York, by 10 runs, and the other by five runs. Convincing wins were gained over St. Bees, Leeds, Skipton G.S., the Craven Gentlemen and a strong scratch eleven which included Wilfred Rhodes. Gallagher, the captain, and Abbs were outstanding all-round cricketers, the former heading the batting averages and taking forty-six wickets for 12.22 runs each. Abbs headed the bowling with forty-one wickets for just over 11½ runs apiece. Six of the eleven are staying on.

A definite improvement occurred in St. Bees cricket. Some remarkably good performances were put up against the club sides, although the school collapsed against Giggleswick. Boucher captained the side well and headed the batting and bowling averages; Kempston scored a century and Graham, Gowen, Joyce and Henderson all did well. Akam, who took nearly fifty wickets, rendered Boucher great assistance. Graham succeeds Boucher in the captaincy, and, with ten of the eleven available, the standard should be maintained this summer.

After a poor start, King's, Canterbury, finished with flying colours. Of the first six matches, they lost four and drew two, but then, in turn, beat Sutton Valence, Eastbourne, St. Edmund's and Dover, and drew with Merchant Taylors. The best match of the term was at Eastbourne. Eastbourne declared at 276 for eight and left King's a little over two and a half hours to get the runs which, thanks to a fine innings by Jervis, they succeeded in doing. With five old colours, the school has every reason to look forward to an equally successful season.

After losing four of their first five matches, Brighton, thanks mainly to the all-round form of Paterson, wound up with six wins against seven defeats and one draw. Time alone prevented them losing to Dulwich. They engaged in many exciting finishes, overcoming Lancing and Repton Pilgrims each by one run, and going down by a similar margin before the Dolphins and Old Brightonians. Christ's Hospital also gained a narrow victory by 13 runs. Paterson, sound and reliable batsman and medium paced bowler with an inswing, headed both sets of averages, scoring two centuries, and Rea, the captain, and Hollebone, who each hit a hundred, rendered splendid assistance in both departments. Keen, Buckley, Habley, Simmonds, Thompson and Sharpe are expected to be in the team again.

St. Edmund's, Canterbury, had an indifferent season, winning only one of their five school matches and losing the other four. They did better against the Clubs, winning four and losing four matches

with two unfinished. The main fault lay in the batting, which proved very inconsistent. Hickman alone averaged 20, and he had seven "not outs" to help him. A feature of the season was the bowling of Armstrong, who took 43 wickets for just over 14 runs each. Armstrong will captain the eleven this summer and will have the assistance of Screeton and Riley, old colours.

Public School Cricket in 1934.

St. Lawrence experienced their best summer for many years, winning eight of the eleven matches played, and drawing the other three. A great deal of this success was due to Calvert's batting and captaincy and also to the bowling of Beney. Calvert, who afterwards played with success for Buckinghamshire, proved a sound opening batsman, and a quick scorer with a variety of strokes. Benev, with an easy run up to the wicket, bowled at a good pace and occasionally turned sharply from the off. Colley, Sharpe and Jones were all useful bowlers, and the batting was reliable all through, Pleydell being very consistent and Sharpe, Cooper, and Colley playing many good innings. In an excellent fielding side, Monk showed efficiency as wicket-keeper. Monk, Sharpe, Colley, Jones, and Gilbert are returning.

Eastbourne, who won five, lost five, and drew three matches. proved stronger in batting than in bowling. King's, Canterbury, beat them in fine style following a declaration by Eastbourne. The School received heavy defeat, by over 200 runs, at Oxford from St. Edwards, but, thanks to a fine innings of 78 by Harris, they decisively overcame Christ's Hospital, and drew with Lancing, Eastbourne with their last man in requiring seven runs to win. Good victories were obtained over Eastbourne Club, Blue Mantles, Stragglers of Asia, and Eclectics. Hepburn and Folker generally gave the side a sound start, and Dickson, Harris, Jackson, Craib, and Wilson could all make runs, Dickson, who will captain the side this year being specially reliable. Tothill, Philcox, Loder and Craib accomplished most among the bowlers. Dickson will have with him all last year's eleven with the exception of Hepburn and Folker, who have gone up to Cambridge, and Loder.

Christ's Hospital, thanks to all-round team-work, and not, as in the previous season, to a few individuals, showed marked improvement. The main features were the consistent batting of McRae and Davis and the steady bowling of Lucey, but the team never really broke down, and Perry, Henderson, Edward, and Lucey, all rendered useful service. The catching was fairly good but the weakness, as in former years lay in the ground fielding. Lucey and Thompson of the old colours remain.

Dover experienced a poor season, losing eight matches, drawing three and winning four. They suffered defeat in four of the first five games, but showed considerable improvement towards the middle of term when they won three successive school fixtures. The batting was never consistent and the bowlers lacked support in the field. Parsons, who took six wickets cheaply against Coutts Bank, will captain the side this summer. Barrett also remains.

Beaumont's eleven of 1934 was the strongest for some years. Of twelve matches, they won six and lost only one, while of the five drawn games, three went definitely in the school's favour. For the second year in succession, the side did not lose a school match. Decisive victories were gained over Oratory at Lord's, Leatherhead, Imperial Service College, and K.C.S., Wimbledon. The captain, J. K. Cantopher and Dewar, carried off the batting honours, the former making 100 against the Imperial Service College and 124 (not out) against Leatherhead, and Dewar 100 (not out) against the Old Boys. McNiven played several good innings and Magoris, Pritchard, and Wolff more than once showed up prominently with the bat. P. G. Cantopher for the third consecutive vear was the mainstay of the bowling, taking 52 wickets for just over 13 runs apiece. Hetreed and Whittingham gave him useful assistance. McNiven, who opened the innings, and Seward, a safe wicket-keeper, are the only old colours left.

After a poor start, Oratory School had quite a fair season, winning seven, losing nine, and drawing one of their seventeen matches. At the end of May, the ground record was broken with a total of 325 for nine wickets against War Office Officers, and two days later the school went even better with 361 for nine wickets against Douai. The annual match at Lord's resulted in a victory for Beaumont after a well-contested game. K. N. Percy, the outstanding player on the side, could not play in all the matches. He bowled quite fast and set a fine example in the field. His brother, B. Percy, bowled slow spinners and took 52 wickets. This will be his fourth year in the eleven, and Botting, the wicket-keeper, Warren-Codrington, Pettit, and Coulston also remain.

With seven matches won, three drawn in their favour, and only four lost, Douai had every reason to look back with satisfaction. Of the five schools met, Oratory alone beat them. Leighton Park, Emanuel, and Reading were defeated and Beaumont drew when a victory might well have been forced. Pooley, the captain, set a splendid example, especially as he took on the responsibility of opening the innings, and Norton proved an excellent partner. Long, with a free and polished style, was the most reliable bat on the side, but Smith, whose stroke-play left little room for criticism, hardly realised expectations. Long, Pooley and Smith bore the burden of the attack, Smith taking 28 wickets for 10 runs apiece, Pooley 30 for just over 13, and Long 47 for slightly less than 14. Long accomplished the best performance of the season, making 52 (top score) against the Romany and taking nine wickets for 49. Ryan conceded few byes, but the catching of the side was deplorable. O'Brien will be captain this year and McNair is also returning.

Some improvement occurred in the *University College School* eleven, but they suffered greatly from youth and inexperience. They could not find a bowler of any pace, and the responsibility of making runs rested on one or two batsmen. Wreford, the captain, who headed the batting averages, and Campbell, who kept wicket well throughout the season, were the best players; Goldstein did sound work as an opening batsman, and the play of the three allrounders, Keyworth, Beverly and Rees, suggested they will do well this season. Wreford will again captain the side and as Drury, in addition to all the above is again available, U. C. S. should make further headway.

Winning three and drawing three of their eight school matches, Whitgift had a fair season. Henley, who scored an excellent century against a strong Croydon side, and Lambert were the most successful batsmen and Bangs, a colt who came into the side late in the term, fully warranted his choice both as batsman and bowler. Bowes and Christophers divided the bowling honours and Voller met with some success with his slows. Merrett, Lambert, Christophers, Vennings and Voller remain for this year.

An epidemic of measles which caused the cancellation of the Sedbergh and Giggleswick matches, and created large gaps in the team spoiled the 1934 season for *Durham*. Grey, who bowled legbreaks and googlies, was the mainstay of the side, coming out top of both batting and bowling averages. Scott will captain the side this year and Bailey and Ayten, also stay on.

Highgate failed completely to fulfil the hopes that had been cherished regarding 1934. With five old colours and plenty of promising material, they should have done well, but poor fielding, disregard of length in bowling, and unintelligent placing of the field ruined any chance of success. The school drew an exciting game with Cranleigh, who finished needing eight runs to win with one wicket to fall; luckily saved the match against Aldenham; suffered a decisive defeat from Mill Hill, and gained a solitary victory over King's, Canterbury. Of individuals, Woodward kept wicket well and Monk and Tucker did capable work, but some of the seven old colours who remain will need to show considerable improvement if they are to retain their places.

With only one colour left, King's College School had to build up a new side. They suffered heavy defeats from Leatherhead, Beaumont, and Harrow second eleven, while Berkhamsted and City of London, each triumphed by six runs, but they beat King's, Canterbury, Epsom and University College School. The worries of captaincy probably accounted for Young failing to maintain his form of 1933, but nevertheless, he was the mainstay of the side. Dickinson proved the surprise of the season. Although only just 15, he stood second to Young in the batting averages and kept wicket excellently, stumping eleven men and catching nine. Young and Kendle generally shared the attack, but Mackie, slow leg-breaks, headed the bowling averages. It is probable that Young (again captain), Stokes, S. G. Wise, Ryves, Mackie, London, Dickinson, Dann and D. A. Wise will be available this summer.

Of a very young Imperial Service College eleven, Laing, a hard hitter, useful bowler and good field, was the outstanding player. Only one match was won, but the side put up good fights against M.C.C. and Incogniti.

Leatherhead, who won nine matches, lost three, and drew three, produced one of their best sides for a long time. With six old colours, under the captaincy of Speak, who set a splendid example with both bat and ball, the team soon settled down, despite an early set-back from the Imperial Service College. J. L. C. Jones, in taking 59 wickets with his leg-breaks for 10.24 runs each, established a school record. Speak obtained 28 wickets for less than 12 runs apiece and, scoring 600 runs, including a big innings of 175 against K.C.S., Wimbledon, proved a capable all-rounder. Chalmers, the wicket-keeper, will be captain in 1935, and he will have the help of J. L. C. Jones, Senst, Saunders, and M. C. Jones.

Aldenham enjoyed much success, winning seven matches, drawing five, and losing three—to Keble (Oxford), Pembroke (Cambridge) and Mill Hill School. Hunt, Warwick, Barrell, Blake and Davies all made runs consistently. The bowling if not deadly, was steady, Collier, Hunt and Easby taking most of the wickets. Hunt, a fine all-round cricketer, captained the side admirably. The fielding appeared to be above the average and a few lapses did not prove expensive. Davies at times gave brilliant displays behind the stumps.

Winning eight matches and losing only two, Berkhamsted, who were unusually strong in batting, could look back with satisfaction upon their doings. They registered totals of over 300 against St. Lawrence and M.C.C., whom they defeated for the first time. Campbell, Pennington—a very promising all-rounder—and Woodford all

returned aggregates of over 500, but the bowlers, despite sound and sometimes brilliant fielding, did not fulfil expectations. In 1935 Pennington, Salter, Owens, Dix and Bell will again be available.

An exceptionally young side, Bishop's Stortford, in winning three, losing five and drawing three matches, could consider their performances satisfactory. The batting lacked consistency, but Sharp and A. S. Tee played some good innings. There was, however, strength in the bowling, with Dawson, the captain, fast-medium, J. K. Tee, a slow spinner, and Mogford doing the best work. A. S. Tee will captain the side this year, with Sharp, Bywaters, Smith, Stirling, Adams and Clark to assist him.

That Bromsgrove showed great improvement on recent years was to a large extent due to the slow spin-bowling of Jones, who received splendid help from D. A. and C. D. E. Turner. Jones took 51 wickets for less than eleven runs apiece. The batting, however, proved unreliable, and let the team down badly when they had established a good position against St. Edward's. The other five school matches were won. In 1935 the captain will be D. A. Turner and, with seven of last year's side left, including the bowlers, he should command a strong team.

City of London won five matches, lost six and established a superiority in the three drawn games. Bolton, the mainstay of the batting, possessed a variety of strokes and a sound defence. Landy, who varied his pace and run-up to the wicket, created a postwar record for the school by taking fifty-four wickets in fourteen matches.

The season at Cranbrook was remarkable chiefly for the brilliance of Clark's batting. On four occasions only did he fail to reach 50, and he surpassed W. E. W. Jacob's school record of the previous year by 27 runs. He failed for the Young Amateurs at Lord's, but later in the month played a good innings for Kent Second XI. Kitchin, in addition to hitting one century, proved the best fast bowler the school has produced since J. H. Johnston in 1923. Prosser succeeds Clark in the captaincy.

Rydal were too young and inexperienced, but Burton, Howarth, Littler and Wooller should all develop into class batsmen. Of the bowlers, Costain, slow, usually kept a length and Parker, fast-medium, often did well, but he received little help from the slips. The fielding, on the whole, was good, Downes, the captain, keeping wicket admirably. As the whole team, with the exception of Butterworth, are staying on, the outlook for this year is excellent.

Difficulty in filling the vacancies left from the previous year prevented St. Edmund's, Ware, from really settling down, especially in batting. Birch, who headed the averages, showed great improvement and Cussen and Shepherd did well, but Hayward failed to recover from a run of bad luck early on. In bowling, Stanley, the captain, who took 43 wickets for less than 13 runs apiece, and D. Bryan-Gower did practically all the work. Stanley will captain the side this year, and with Birch, Cussen, Shepherd, and Hayward available, the prospects are bright.

Taunton could point to only a moderate record, but several of the eleven should make good cricketers this year. The Blundell's match could not be played. Wild, the captain an outstanding personality, scored over 600 runs and took 40 wickets with in-swingers, and Nicholson, a left-arm googly bowler, headed the bowling figures, taking 34 wickets for less than 15 runs apiece. Strivens, leg-breaks, played in the last few matches. Seven of the eleven are staying on.

Strong in batting but lacking variety in bowling, Worksop experienced a first-rate season. Rennie, who will probably captain them this year, headed the batting averages and put together centuries against Eton Ramblers and Yorkshire Gentlemen, and Lousada, the captain, played a fine innings of 106 against the Lincolnshire Gentlemen. Martyn and Walton each took over 40 wickets at a cost of 17 runs apiece. The most notable performance of the summer was an innings victory over Yorkshire Gentlemen, and the team also offered strong opposition to Eton Ramblers and Sir Julien Cahn's eleven. Eight of the eleven, including Rennie, Martyn and Walton, will again be available.

With eight old colours and most of the second eleven to call upon, Wellingborough anticipated a fair measure of success, but though they won the two school matches – with Trent and Worksophes ide, largely because of indifferent fielding, failed to do itself justice. Garne, the captain, played a few brilliant innings, and great improvement was shown by Turnbull, a useful all-rounder, but too often the early batsmen lost their wickets to careless strokes. Wells was the best member of an attack that clearly lacked variety. The team showed up best in drawn games with M.C.C. and Old Wellingburians. Vials, Turnbull and Cherrington are expected to return.

Wrekin put up some commendable performances against strong club sides, but the form in school matches disappointed, the games with Bromsgrove and Ellesmere being lost by narrow margins, and that with Denstone drawn. Moore, the captain, and Wood were the most successful batsmen, and Milne improved more than anyone,

he and Wild generally opening the innings with a useful partnership. Haynes, Milnes and Greenhow bowled consistently, but the attack never became really formidable. In a smart fielding side, Dove, at cover, proved positively brilliant. Crabtree, Dove, Milnes, Brown, Du Pre, Rooke, and possibly Wild will be available this summer.

Although victorious over King Edward's, Sheffield, Wakefield G.S., Pocklington and Lancaster, Leeds Grammar School scarcely did as well as had been expected. Shepherd again batted brilliantly, including three centuries in an aggregate of 600 and averaging 70, but no one gave him much support, and the bowling, which depended largely on Smith and Capes, proved only moderately effective. Shepherd will once more captain the team and is likely to have at his command old colours in Atkinson, Capes, Warburton, a very promising young batsman and reliable wicket-keeper, Webster, Briggs, Wormald and Bolton.

Weakness in fielding was the main cause of Trent winning only two matches in the term, although two school games brought defeats by extremely narrow margins. Snell and Clark carried off the honours in a rather moderate batting side. Pallett and Clare, the chief bowlers, worked tremendously hard but, with the exception of Obolensky, the wicket-keeper, they received poor support. Clark, who revealed promise as a batsman, is the one full colour remaining.

Altogether Edinburgh Academy experienced an interesting season. The fielding at times reached a very high standard, notably against Merchiston and M.C.C., and another feature was the mediumpaced bowling of the captain, J. A. Stevenson, who took over 50 wickets. In school matches, the Academy defeated Loretto, Merchiston, and George Watson's and lost to Fettes and Glenalmond after very close finishes.

Glenalmond, whose form against club teams once or twice proved unsatisfactory, showed to advantage in school matches after a bad start. They registered useful scores against George Watson's, whom they defeated, and in a drawn game with Fettes. The Loretto match had to be put off owing to rain, but Edinburgh Academy were beaten by one wicket in a desperate finish and Merchiston by 30 runs. Mudie, an admirable captain, Keiller and Gregoire were the mainstays of the batting, and Gregoire, who bowled consistently throughout the season, received plenty of help in the later matches. Milne, who kept wicket splendidly, will captain the eleven this year, and other old colours who will figure under him are Gregoire, Anderson, McDowall, Williams, and possibly Ferguson.

Merchiston failed to do themselves justice. The batting often lacked initiative and the bowling, though steady, suffered from the loss of Drummond, with a strained knee, early in the season. Gummer and Herd, upon whom most reliance depended, accomplished some useful performances. Gummer, the mainstay of the batting, was overworked, and did not touch his previous season's form until late in the term, but Webster and Mathers, both hard hitters, frequently came to the rescue. The fielding left little to be desired and Harper, who will captain the eleven this year, proved himself a first-class wicket-keeper. Herd, Webster, and promising cricketers in Yellowlees, Mathers, and Farnie (half colours) will be returning.

The following are the destinations of some of the members of last year's school elevens :-

year s school	or ere v	ens		
Eton			OXFORD. R. C. L. Pilkington Hon. N. H. Villiers M. D. P. Magill	CAMBRIDGE. G. H. Dixon N. K. G. Campbell
Winchester		1 M	J. N. Grover H. D. Wrench P. A. T. Holme K. B. Scott	
Harrow			E. T. Pelham	J. H. Pawle
Rugby		h	M. M. Walford A. J. M. Chadwick P. Kershaw R. West	G. C. Hargrove (1936) W. B. McIlwraith
			G. I. S. Hitchins	and the state of t
Marlborough				R. Heyland
Clifton				F. M. N. Heath
Tonbridge		• •		M. A. J. Farey W. G. Popple (1935)
Haileybury	• • •			B. R. Darewski
Uppingham	• •	٠.	T. G. L. Ballance	A. F. T. White F. C. South
Charterhouse	••	••	C. P. Diver A. L. Field	
Shrewsbury	••	••	T. N. Leigh-Bennett E. Brotherton	R. V. M. Stanbury D. J. Howell
Rossall				
Bradfield			P. H. Williams E. C. B. Gilman A. G. Tasker	J. M. Wilson
Wellington	2270		an even of	F. S. Bird
	1010			10

	OXFORD.	CAMBRIDGE.
Sherborne		B. H. D. Robinson O. Clarke
Westminster	R. H. Angelo	
St. Paul's	••	G. R. ffennell
Merchant Taylors	J. D. Clark	
Dulwich		K. G. C. Campbell
Mill Hill	··	R. J. T. Jones R. A. Shooter E. J. Newman
Leys		E. M. Farrington F. W. Wood
St. Peter's, York		N. W. D. Yardley
Oundle		R. J. Plummer
Stowe	2000	P. B. Lucas G. E. T. Brown S. J. R. Macoun
Stonyhurst	D. A. Kelly	A. S. Todd
Durham	J. A. Brett	P. A. Johnson
Canford	M. D. Milman R. B. Verney	
Brighton		A. H. Rea
Sedbergh		W. A. Turnbull I. D. Learmonth (Oct. 1985 J. Lockhart (Oct. 1935) I. R. Bell (Oct. 1935).
Leeds G.S	A. N. B. Sugde	n
Bedford	M. C. Manby	R. F. Walker J. T. Robinson G. T. Evans
Cranleigh	**	V. A. Cox D. J. Morey
Downside		M. B. O'Connor
Trent	A. Obolensky	A. T. Goodrich
Christ's Hospital		N. A. Davis W. A. Edward
Eastbourne		G. F. Hepburn E. L. A. Folker
Highgate		A. S. Maclure

	OXFORD.	CAMBRIDGE.
Leatherhead	R. Bagnall	G. D. Lister E. J. Kahn
Wellingborough		J. Garne F. J. Brodhurst
Beaumont		J. K. Cantopher
Cranbrook	J. H. Clark	
St. Edward's	H. B. Coulthurst A. W. Paton	
St. Edmund's, Canterbury		A. G. G. Long
Berkhamsted	R. T. Campbell C. D. Hoare	
Taunton		J. V. Wild
Glenalmond	R. Tullis	P. L. L. Keiller R. K. J. Kennedy
	R.M.A.	R.M.C.
Winchester	R. C. P. Bryan J. Davies-Scourfield	
Wellington	11/20	P. B. Wakelin R. H. W. Fowler E. H. Sweet
Cheltenham		A. J. Arengo-Jones
Clifton		R. C. Lapage C. G. Nuttall
Westminster		E. R. Hobbs
St. Lawrence Imperial Service College	E. B. Calvert A. F. Freeman R. Lyall	
Christ's Hospital		R. B. Wright
Brighton		P. V. Ward
Mill Hill		M. K. Dewar
Beaumont		A. J. Whittingham
Oratory	D. J. Hartigan	

PUBLIC SCHOOL MATCHES IN 1934.

For Eton v. Harrow, Rugby v. Marlborough, Cheltenham v. Haileybury and Clifton v. Tonbridge see M.C.C. section.

INDEX.

Bedford v. Dulwich		Oratory v. Beaumont		589
Berkhamsted v. Merchant Taylors	602	Radley v. Sherborne		585
Blundell's v. Sherborne	591			599
Brighton v. St. Paul's	588	70 11 01 1		597
Charterhouse v. Harrow	592			591
Charterhouse v. Winchester	581	St. Edward's, Oxford v. Eas		
Cheltenham v. Clifton	600	bourne		589
Cheltenham v. Malvern	584	St. Lawrence, Ramsgate v. Dov	er	590
Christ's Hospital v. Cranleigh	592	St. Peter's, York v. Giggleswic		601
City of London v. King's College,		G-dhh - DII		578
Wimbledon	577	Charles - D		596
Clifton v. Rugby	581	01 1 0 11		582
Downside v. Blundell's	582	CI I TYPE I I		600
Eton v. Charterhouse	587	01 1 77 . 1		593
Fettes v. Glenalmond	587			583
Haileybury v. Wellington	597			591
Harrow v. Winchester	590	Tonbridge v. Dulwich		601
King's College, Wimbledon v.	115			586
Whitgift	580	Trent v. Wellingborough .	1	579
King Edward's, Birmingham v.		University College v. St. John'	s.	
Denstone	598	Leatherhead		579
Lancing v. Radley	588			580
Leys v. Oundle	584			599
Malvern v. Repton	598	TY 11: 1 CT 1 1		603
Malvern v. Shrewsbury	583		. 74	602
Marlborough v. Cheltenham	585	TTT - 1 - 1 - TO 33	Q.D.	596
Marlborough v. Harrow	578		Ι	594
Mill Hill v. Highgate	578	TYPE 1 1 1 35 11 1		584
4000000				

CITY OF LONDON SCHOOL V. KING'S COLLEGE SCHOOL, WIMBLEDON.
Played at GROVE PARK, Wednesday, May 23.—A narrow victory for City of
London by six runs.

	LONDON SCHOOL.
K. J. E. Bolton b Kendle. L. S. Courtney b Stokes. G. O. Probert b London. J. Berry b Stokes. J. G. Featherstone c Ryves b Stokes J. G. Harrison c Ryves b Young. G. H. Lester c Kendle b Stokes.	13 B. O. Warren c Young b Stokes. 15 19 H. E. Cordy b Young. 2 21 A. F. Birley not out. 4 16 4 18 120
D. E. Young b Landy	GE SCHOOL, WIMBLEDON. 31 K. S. London lbw, b Lester 0

KING'S COLLEGE	SCHOOL, WIMBLEDON.
D. E. Young b Landy 31	K. S. London lbw, b Lester
H. D. Halsey run out 30	R. A. Cromarty st Probert b
D. A. Wise run out 1	Bolton 5
H. F. Kendle c Probert b Landy 1	J. G. Lansdale c Bolton b Landy. 2
D. R. Stokes st Probert b Bolton. 2	Byes, etc
P. J. Dickinson c Cordy b Bolton . 5	
H. T. B. Ryves b Landy 18	114
G Wice not out	

Played at MILL HILL SCHOOL v. Played thoroughly mastered the Feasily by 209 runs.	ay, May 30.—E. J. Newman and W. Highgate bowling, and Mill Hill won
MILL HILL R. S. S. Young run out	R. J. T. Jones J. M. Dean C. J. Gross-Brown A. J. Burrows J. V. Downing M. G. Harris M. L. Green
A. G. A. Turnbull c Green b Downing 1 S. J. Tucker b Murray-Wood 23 J. M. Scott b Harris 11 G. R. Freathy b Harris 0 W. Knowles st Green b Murray- Wood 5 H. L. Maclure c Dean b Murray- Wood 4 L. V. Monk not out 15	A. S. Maclure b Jones
MARLBOROUGH COLLEG Played at Marlborough, Saturday, Marlborou	June 2.—Drawn.
N. E. Hooper b Bond 28 M. P. Cheales b Stogdon 0 T. W. Howard c Cooch Behar b Bond 31 D. M. Beadle b Bond 1 P. M. Whitehouse c Pelham b Stogdon 45	J. D. L. Dickson b Kaye
M. W. Harbottle c Neumark b Stogdon	curs contract to work a
G. E. Hewan b Bond4 HARROW	SCHOOL.
B. D. Carris c Harbottle b Hewan. 15 G. A. Stogdon b Whitehouse 26 P. M. Studd c Whitehouse b Hewan J. H. Pawle not out	M. A. C. P. Kaye not out
innings with effective bowling (seven wi-	e 2.—H. R. A. Beresford following a good

Sedbergh School.		
J. Lockhart b Beresford	Ollis ord	5 1 0

TRENT COLLEGE v. WELLINGBOROUGH SCHOOL.

Played at TRENT, Saturday, June 2.—In an exciting finish, Wellingborough won by 13 runs. WELLINGBOROUGH SCHOOL.

J. A. E. Watts run out 35 S. G. Vials lbw, b Bowers..... 2 G. W. Dorr c Whitty b Pallett . 15 F. T. Lambert not out 2

J. Garne c Bowers b Clare..... 2 P. R. Cherrington c Sellers b Pallett 8

P. R. Unerrington c Sellers b Pallett 8	S. G. Vials lbw, b Bowers 2
G. H. Loomes c Obolensky b Pallett 25	G. W. Dorr c Whitty b Pallett 15
F. J. Broadhurst b Snell 10	F. T. Lambert not out 2
J. J. Thompson c Goodrich b	Byes, etc 8
Pallett 25	25,00,000
E. G. Wells c Clark b Pallett 29	173
G. A. Turnbull c Sellers b Clare 12	
TRENT	COLLEGE.
A. Obolensky b Wells 3	W. J. S. Sellers b Wells 30
E. R. Clark c Wells b Garne 54	
D. D. Chall b. T 34	N. F. Bowers b Turnbull 18
P. R. Snell b Loomes 23	F. C. Whitty b Wells 2
P. G. Pallett b Wells 9	L. P. Clare not out 6
A. T. Goodrich lbw, b Wells 0	Byes, etc
D. Richards c Cherrington b Wells 0	23 00, 0001
E M Comich b England	The state of the s
F. M. Gerrish b Turnbull 3	160

UNIVERSITY COLLEGE SCHOOL v. ST. JOHN'S SCHOOL, LEATHERHEAD.

Played at West Hampstead, Saturday, June 2.—Stronger all round, St. John's won easily, finishing 118 runs ahead with three wickets in hand. UNIVERSITY COLLEGE SCHOOL.

O TE TO	mande bolloom.
G. M. Bradfield b Senst 5	F. W. A. Campbell b Jones 0
H. B. Goldstein b Speak 24	D. E. H. Suttill b Lewis 3
E. L. Beverley b Jones 10	D. C. H. Marris b. Laure
E D Vermenth b T	R. G. H. Morris b Jones 0
E. R. Keyworth b Jones 0	H. F. Woodroffe run out 6
P. G. Wreford not out 60	Byes, etc
R. B. Sleeman st Chalmers b Jones 0	and this production and the state of the sta
B. L. Whale st Chalmers b Jones 2	101
2. 2. William St Charmers b College.	131
G. C. B. Woodroffe c Campbell b Suttill	L. LEATHERHBAD. J. L. C. Jones not out

KING'S COLLEGE SCHOOL, WIMBLEDON v. WHITGIFT SCHOOL.

Played at Wimbledon, Wednesday, June 6.—Drawn. For Whitgift, S. Bowes took seven wickets for 47 runs.

KING'S COLLEGE SCI	HOOL, WIMBLEDON.		
D. E. Young c Bowes b Bangs 68	H. F. Kendle c Voller b Bowes 15		
E. Dann c Lambert b Bowes 8	R. A. Cromarty not out 18		
D. R. Stokes c Christophers b Bowes 10	K. S. London lbw, b Bangs 0		
D. R. Stokes Contistophers b Dowes 10	A.M.Mackie c Christophers b Bangs 3		
S. G. Wise c Crowson b Bowes 9			
P. J. Dickinson c Merrett b Bowes. 5	Byes, etc 6		
H. T. B. Ryves hit wkt., b Bowes 1			
D. A. Wise b Bowes 0	143		
THE REPORT OF SERVICE OF A SERVICE OF THE SERVICE O			
WHITGIFT	SCHOOL.		
R. A. W. Henley run out 0	D. H. Christophers, not out 3		
R. S. Merrett b London 6	Byes, etc 6		
R. S. Merrett b London b Mackin 90	Djob, 0001 11111111111		
R.B. Crowson St Dickinson b Mackie 29	(Six whta) 105		
G. A. Lambert b Kendle 22			
P. W. Venning not out 30			
A. Grout c Dann b Mackie 8	S. Bowes		
R.B. Crowson st Dickinson b Mackie 29 G. A. Lambert b Kendle 22 D.W.A. Voller c Dickinson b Stokes 1 P. W. Venning not out 30 A. Grout c Dann b Mackie 8	L. E. T. Elliot W. H. Bangs S. Bowes (Six wkts.) 105		

UPPINGHAM SCHOOL v. HAILEYBURY COLLEGE.

Played at UPPINGHAM, Wednesday, Thursday, June 6, 7.—Compelling their opponents to follow on 132 in arrear, Haileybury won by ten wickets.

opponents to some the	
HAILEYBURY COLLEGE.	
P. T. Purdy b Wetson 40 — not out 4	
D. H. Ridler c and b Ballance 32 — not out 3	
P. K. Mayhew c Frearson b Ballance 9	
A. M. Hayfield c Gillespie b Watson 73	
P. W. Gale b Ballance	
R. M. Childs lbw, b Bell	
B. R. Darewski c White b South 19	
F. R. E. Malden c Bell b South 18	
C. H. W. Troughton c and b Ballance 4	
C. P. Mayhew not out 4	
B. R. M. Hayles c White b Ballance 0	
Byes, etc 16	
242 (No wkt.) 7	
UPPINGHAM SCHOOL.	
A. F. T. White, lbw, b Darewski	
M. T. N. Jennings b Hayfield 36 — lbw, b Hayfield 5	
M. H. Bell c Hayfield b Darewski 16 — c C. P. Mayhew b Dareswki 51	
A. M. Ormsby run out	
G. N. T. W. Samuel c Malden b Gale 17 — c Purdy b Darewski 36	
T. G. L. Ballance c P. K. Mayhew b	
Hayfield	
C. S. Watson C Darewski D Gale	
D. W. Gillespie C Hayles b Dalewski 0 — C date b Dalewski	
F. C. South c Troughton b Gale 9 — not out	

R. J. Frearson not out..... 0 — b Darewski

110

Byes, etc. 4

Byes, etc. 1

136

CHARTERHOUSE SCHOOL v. WINCHESTER COLLEGE.

Played at GODALMING, Thursday, June 7.—Rain prevented a victory for Winchester, for whom A. H. Townsend took five wickets for 36 and P. G. Foster batted splendidly. CHAPTERHOUSE SCHOOL

CHARTERHO	USE SCHOOL.
J. M. Lomas lbw, b Scott 5	H. G. Reynolds c Foster b Wilson 21
T. H. Carson b Holme 8	R. M. Hollis b Townsend 1
J. L. Field c Foster b Holme 55	R. F. B. Power not out 22
P. L. Richards c Foster b Townsend 12	J. S. Vyvyan b Townsend 2
R. T. P. Wilson c Foster b Townsend 23	Byes, etc 28
C. P. Diver c Bryan b Townsend 3	
W. L. Paynter c Grover b Holme 25	205
WINCHESTER	COLLEGE.
J. Davies-Scourfield c Reynolds b	D. C. Wilson b Power 9
Wilson 29	A. H. Townsend not out 10
P. G. Foster c Power b Hollis 93	K. B. Scott not out 10
M. W. Holme c Wilson b Hollis 2	Byes, etc 7
M. Brett c Hollis b Power 5	
J. D. Eggar c Power b Curson 10	(Eight wkts.) 194
J. W. Grover c Vyvyan b Power 0	R. C. P. Bryan did not bat.
P. A. T. Holme c Vyvyan b Wilson 19	

CLIFTON COLLEGE v. RUGBY SCHOOL.

Played at CLIFTON, Friday, Saturday, June 8, 9.—Clifton won a match of low scoring by 46 runs. R. West (nine wickets for 31) and J. Weston (nine for 47) carried off the bowling honours for their respective sides.

CLIFTON COLLEGE.

D C T Honoford a Wort b Down 0 h Vottle

D. G. T. Horstord, c West b Dewar	U	— b Kettle 11
J. Weston c Boyes b West	0	— b West
		— lbw, b West 0
F. M. N. Heath b Chadwick	18	— b Dewar 22
J. H. St. G. Hamersley b West		3 — c Boyes b Dewar 27
R. C. Lapage c Steel b Kershaw		B — c West b Kershaw 12
H. H. Holgate b West		— b West 0
A. M. Champion not out		5 — b West 3
I. D. H. Anderson b West		2 — b West 9
E. K. Scott c McIlwraith b Kershaw		— b Kershaw 9
E. J. E. Watkins lbw, b Chadwick		— not out 0
Byes, etc.	6	
	_	
	26	125
	α	
RUGBY		
D. E. C. Steel b Weston		— c Anderson b Watkins 7
P. Kershaw c Anderson b Weston) — b Weston 19
M. M. Walford c Champion b Weston		— st Anderson b Weston 0
E. S. Boyes, lbw, b Scott	39	$\begin{array}{c} - \text{ st Anderson b Weston } \dots & 0 \\ - \text{ c Horsford b Heath } \dots & 1 \end{array}$
E. S. Boyes, lbw, b Scott	39 13	- st Anderson b Weston 0 - c Horsford b Heath 1 - lbw, b Scott 12
E. S. Boyes, lbw, b Scott	39 13 18	$\begin{array}{llllllllllllllllllllllllllllllllllll$
E. S. Boyes, lbw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott.	39 13 18 8	- st Anderson b Weston 0
E. S. Boyes, lbw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott. J. Kettle b Heath.	39 13 18 8 4	— st Anderson b Weston 0 1 1 1 1 1 1 1 1 1
E. S. Boyes, Ibw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott. J. Kettle b Heath. J. F. M. Dewar c Scott b Weston.	39 13 18 8 4 3	st Anderson b Weston 0 0 - c Horsford b Heath 1 1 1 1 2 3 - not out 19 3 - b Scott 0 0 - c Horsford b Lapage 19 3 - c Horsford b Weston 0
E. S. Boyes, Ibw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott. J. Kettle b Heath. J. F. M. Dewar c Scott b Weston. R. West c Heath b Weston.	39 13 18 8 4 3 0	— st Anderson b Weston 0 0 c Horsford b Heath 1 3 1 1 2 3 1 1 2 3 1 1 2 3 1 1 1 2 3 1 1 1 1 2 3 1 1 1 1 1 1 1 1 1
E. S. Boyes, lbw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott. J. Kettle b Heath. J. F. M. Dewar c Scott b Weston. R. West c Heath b Weston. H. J. A. Dagnall b Heath.	39 13 18 8 4 3 0	
E. S. Boyes, Ibw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott. J. Kettle b Heath. J. F. M. Dewar c Scott b Weston.	39 13 18 8 4 3 0	- st Anderson b Weston 0 - c Horsford b Heath 1 - 1 - lbw, b Scott 12 - not out 19 - c b Scott 0 - c Horsford b Lapage 19 - c Horsford b Weston 0 - c Hamersley b Lapage 0 - lbw, b Weston 1
E. S. Boyes, lbw, b Scott. A. J. M. Chadwick b Scott. W. G. McIlwraith not out. I. B. Appleby c Holgate b Scott. J. Kettle b Heath. J. F. M. Dewar c Scott b Weston R. West c Heath b Weston H. J. A. Dagnall b Heath. Byes, etc.	39 13 18 8 4 3 0	— st Anderson b Weston 0 0 c Horsford b Heath 1 3 1 1 1 2 2 2 2 2 2 2

did not bat.

SHERBORNE SCHOOL V. TONBRIDGE SCHOOL.

Played at Sherborne, Friday, Saturday, June 8, 9.—A drawn game.

SHERBORNE S	CHOOL.
J. D. Watney c and b La Fontaine 39	— b Popple 0
W. J. Eldridge c and b Flower 29	
L. Sherley-Price c Graham b Flower 28	
B. H. D. Robinson b Flower 52	— c Thompson b Popple 0
C. W. A. Murray c Cobb b La Fontaine 2	— c Graham b La Fontaine 35
C. Bell c Flower b Popple 16	
A. V. Williams b La Fontaine 3	
J. T. A. Wilson c Day b Parsons 30	— not out 9
O. Clarke not out	
T. B. Wilkinson b Parsons	
Byes, etc	Byes, etc 16
Dyes, etc	Dyes, etc
285	(Six wkts. dec.) 137
Tonbridge S	
T. S. La Fontaine b Bell 4	— not out 40
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31	— not out 40
T. S. La Fontaine b Bell	— not out
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101	— not out 40 — lbw, b Robinson 32 — b Bell 20
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham lbw, b Robinson 11	— not out
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham lbw, b Robinson 11 T. C. Cobb c Williams b Wilson 20	— not out 40 — lbw, b Robinson 32 — b Bell 20
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham lbw, b Robinson 11 T. C. Cobb c Williams b Wilson 20 R. G. Hobbs st Morgan b Robinson 16	— not out 40 — lbw, b Robinson 32 — b Bell 20
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham Ibw, b Robinson 11 T. C. Cobb c Williams b Wilson 20 R. G. Hobbs st Morgan b Robinson 16 L. D. Gardner b Bell 3	— not out 40 — lbw, b Robinson 32 — b Bell 20
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham lbw, b Robinson 11 T. C. Cobb c Williams b Wilson 20 R. G. Hobbs st Morgan b Robinson 16 L. D. Gardner b Bell 3 W. G. Popple b Bell 0	— not out 40 — lbw, b Robinson 32 — b Bell 20
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham lbw, b Robinson 11 T. C. Cobb c Williams b Wilson 20 R. G. Hobbs st Morgan b Robinson 16 L. D. Gardner b Bell 3 W. G. Popple b Bell 0	- not out 40 - lbw, b Robinson 32 - b Bell 20 - not out 5
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham Ibw, b Robinson 11 T. C. Cobb c Williams b Wilson 20 R. G. Hobbs st Morgan b Robinson 16 L. D. Gardner b Bell 3 W. G. Popple b Bell 0 R. T. Flower b Bell 7	— not out 40 — lbw, b Robinson 32 — b Bell 20
T. S. La Fontaine b Bell 4 J. R. Thompson c and b Wilson 31 M. A. J. Farey c Morgan b Robinson 5 D. A. S. Day c Murray b Wilson 101 J. O. Graham Ibw, b Robinson 11 T. C. Cobb c Williams b Wilson 20 R. G. Hobbs st Morgan b Robinson 16 L. D. Gardner b Bell 3 W. G. Popple b Bell 0 R. T. Flower b Bell 7 J. D. Parsons not out 5	- not out 40 - lbw, b Robinson 32 - b Bell 20 - not out 5

DOWNSIDE SCHOOL v. BLUNDELL'S SCHOOL.

Played at DOWNSIDE, Saturday, June 9.—J. M. H. Pollen dismissing five Blundell's batsmen for seven runs, Downside won by 54 runs.

DOWNSTDE SCHOOL

DOWNSIDI	SCHOOL.
T. R. Turnbull b Beach	R. T. Addington c Walker b Norman
A. D. Turkbun e Lloyds b Rolman 17	124
BLUNDELL'S A. M. Wynne c Pinsent b Addington	8 SCHOOL. G. Derrick st Da Costa b Pollen . 0 C. O. Edwards c O'Connor b Pollen . 0 E. W. Lloyds b Bell 0 G. C. H. Morant not out 0 Byes, etc
N. R. C. Williams b Pollen 0	

MALVERN COLLEGE v. SHREWSBURY SCHOOL.

Played at Malvern, Saturday, June 9. — Drawn. A great innings by G. Thorneycroft stood out in Shrewsbury's display, while M. A. C. S. Cope (five wickets for 55) did outstanding service as an all-rounder for Malvern.

SHREWSBURY SCHOOL.

C. E. Darbichies a Wasser b Cons. A. J. M. C. Wasser b Dans

F. S. Robinson c Willis-Dixon b Cope	M. S. Warman b Ross. 2 R. V. M. Stanbury b Cope. 28 D. J. Howell b Ross. 3 P. G. Wild not out. 19 Byes, etc. 293
MALVERN	College.
B. Greatbatch c Robinson b Warman. 29 J. R. Ross c Stanbury b Leigh-Bennet	R. H. Maudsley b Howell 3 B. E. W. Henson not out 11 Byes, etc. 26 (Seven wkts.) 269 P. H. Willis-Dixon did not bet

STOWE SCHOOL V. HAILEYBURY COLLEGE.

F. L. Rogers

Played at STOWE, Saturday, June 9.—After a plucky fight, Stowe went down by two wickets.

STOWE SCHOOL

STOWE	SOHOOL,
P. B. Lucas lbw, b Darewski	P. G. Krabbé c Hayfield b Darewski

HAILEYBURY	COLLEGE.
D. H. Ridler b Lucas	P. W. Gale b Lucas

1 40110 15040	or maiches.
CHELTENHAM COLLEGE Played at CHELTENHAM, Tuesday, Ju successfully against the fast bowling of J. ham won easily by seven wickets, finishin	ine 12.—Only M. A. C. S. Cope faring S. Foster (six wickets for 21), Chelten-
MALVERN C	S. G. F. Tolkien b Foster 4 B. E. W. Henson b Pope 9 F. L. Rogers b Pope 0 P. H. Willis-Dixon not out 2 Byes, etc. 15 90
CHELTENHA	M COLLEGE.
E. H. L. Fisher lbw, b Cope 0 C. F. Potter c Willis-Dixon b Ross 21 R. A. Powell b Rogers 24 E. D. R. Eagar c and b Brodhurst 61 A. J. Arengo-Jones c Rogers b Brodhurst 29 A. H. Norris c Willis-Dixon b Ross 5 G. L. Reynolds c Ross b Brodhurst 8	J. M. Pope not out. 11 F. B. White c Henson b Brodhurst 0 J. S. Foster c Cope b Brodhurst. 13 R. T. C. Pratt lbw, b Rogers. 0 Byes, etc. 6
A CONTRACTOR OF THE PROPERTY O	
H. M. Stuart (five wickets for 26) paved tfinished 12 runs in front with three wickets. H. E. M. Leigh c Maw b Stuart. 2 E. M. Farrington b Cowan 9 A. S. Kelshall c and b Cowan 40 W. B. Lauder b Newsholme 6 A. B. Jordan run out. 13 J. P. Hudson b Stuart. 7 O. Rocyn-Jones lbw, b Stuart. 5	ne 12.—Capital all-round play by C. R. the way to a win for Oundle, who stes intact. CHOOL. R. K. W. Sloan b Stuart. 1 B. W. Holman not out. 3 D. N. Howarth b Newsholme 6 W. W. Park b Stuart. 0 Byes, etc. 17
	SCHOOL.
D. J. Maw c Farrington b Howarth 2 C. R. H. M. Stuart c Leigh b Howarth 62 R. I. Plummer lbw, b Park 4 K. A. Payne st Farrington b Park 24 A. K. Knox b Park 11 A. D. Newsholme b Park 5 P. S. Cowen b Howarth 6	W. H. Webb not out. 6 Byes, etc. 1
WINCHESTED COLLEGE T	MADIROPOUGH COLLEGE

WINCHESTER COLLEGE v. MARLBOROUGH COLLEGE. Played at WINCHESTER, Tuesday, June 12.—Solid batting and the bowling of K. B. Scott (five wickets for 57) gave Winchester victory by 183 runs.

WINCHESTER	COLLEGE.
J. Davies-Scourfield c Hooper b	P. A. T. Holme not out 3
Westwood	D. C. Wilson not out 1
P. G. Foster c Jelf b Hewan 32	Byes, etc 12
M. W. Holme lbw, b Dickson 45	
K. B. Scott b Westwood 3	(Seven wkts., dec.) 313
J. D. Eggar lbw, b O'Regan 93	A. H. Townsend did not bat.
J. W. Grover b Hewan 38	R. C. P. Bryan did not bat.
M. Brett c Dickson b Whitehouse, 11	

MARLBOROUGH	COLLEGE.
G. E. Hewan b P. Holme 21	R. C. Fletcher c M. Holme b Scott 20
T. W. Howard b Bryan 4	M. L. O'Regan c Foster b Wilson 9
M. P. Cheales b Scott 2	J. C. N. Westwood c Foster
N. E. Hooper b Scott 11	b P. Holme
P. M. Whitehouse c Townsend b	H. G. Jelf not out 3
Scott	Byes, etc 5
M. W. Harbottle lbw, b Scott 8	
J. D. L. Dickson st Grover b	130
Wilson	

MARLBOROUGH COLLEGE v. CHELTENHAM COLLEGE.
Played at Marlborough, Friday, Saturday, June 15, 16.—Compelling their opponents to follow-on 306 behind, Marlborough gained an overwhelming victory in an innings with 95 runs to snare. G. E. Hewan, M. P. Cheeles and

N. E. Hooper all batted admirably.
MARLBOROUGH COLLEGE.
G. E. Hewan, b Foster
T. W. Howard b Foster
N. E. Hooper c Powell b Pope 63 H. G. Jelf not out 6
P. M. Whitehouse c Loveband b Byes, etc 8
M.W. Harbottle c Norris b Foster. 4 (Nine wkts. dec.) 372
J. D. L. Dickson st Norris b Pope. 42
CHELTENHAM COLLEGE.
C. F. Potter b Dickson 1 — c and b Westwood 3
A. W. Loveband b Whitehouse 0 — c O'Regan b Westwood 0 R. A. Powell c Dickson b Westwood 17 — lbw, b Dickson 39
E. D. R. Eager b Dickson 0 — b Hewan
J. M. Pope c Howard b Dickson 0 — c Dickson b Whitehouse 3
A. J. Arengo-Jones lbw, b Westwood 18 — c Jelf b Hewan
J. P. Lawford b Hewan 3 — st Jelf b Westwood 0
G. L. Reynolds not out 10 — b Whitehouse 1
J. S. Foster b Westwood 9 — b Dickson 53 R. T. C. Pratt run out 0 — not out 3
R. T. C. Pratt run out 0 — not out 3

RADLEY COLLEGE v. SHERBORNE SCHOOL.

Played at RADLEY, Friday, Saturday, June 15, 16.—In a drawn game,
B. H. D. Robinson took twelve Radley wickets for 157 runs besides playing a

Byes, etc. 18

211

Byes, etc. 8

good innings.
RADLEY COLLEGE.
P. H. Birks c Watney b Wilson 69 — c Williams b Bell 41
J. A. Porter b Robinson
G. B. Stanger lbw, b Williams 11 — lbw, b Robinson 14
M. Bates lbw, b Robinson
A. P. G. McDowell c and b Williams 13 — lbw, b Robinson
C. A. W. Samuda c Morgan b Robinson 36 — b Robinson
N. E. V. Short not out
P. B. Craig c Murray b Robinson 0 — c Morgan b Bell 4
D. R. Stavert lbw, b Robinson 2 — c Robinson b Wilson 9
J. F. Willcocks b Robinson
J. E. C. Clarke b Bell 0 — c Wilkinson b Robinson 4
Byes, etc
250 181

SHERBORNE SCHOOL.

J. D. Watney c Willcocks b Stavert	31	— run out 1	0
W. J. Eldridge c Stavert b Clarke	32	— c Short b Stanger 2	2
L. Sherley-Price c Stavert b Birks	62	— not out 4	0
B. H. D. Robinson c Stavert b Clarke	48	— b Short	6
C. W. A. Murray c Short b Stanger	4	THE RESIDENCE OF THE PARTY OF T	
C. Bell c Porter b Stavert			
D. E. B. Harris b Clarke	30		
J. T. A. Wilson c Stanger b Stavert	20		
T. B. Wilkinson run out			
A. V. Williams c McDowell b Short	3		
D. R. Morgan not out	4	× ×	
Byes, etc	10	Byes, etc	4
	-		-
The state of the same of the same	257	(Three wkts.) 8	2

TONBRIDGE SCHOOL v. LANCING COLLEGE.

Played at Tonbridge, Friday, Saturday, June 15, 16.—Closely fought all through, the match ended in a draw.

LANCING COLLEGE.

J. H. Wedgwood b' Popple J. G. N. Browne c Graham b Flower C. R. Heycock c Graham b Flower D. C. J. Manners c Graham b Flower D. W. H. Eves c Thompson b Parsons	3 — c Parsons b La Fontaine
Byes, etc	
The state of the s	2 2 2 2
The state of the s	82 (Four wkts., dec.) 159
TONBRIDGE	School.
m o T T + 1 1 1 1 1 1 1 1 0 1 1	
J. R. Thompson c Wedgwood b Manners M. A. J. Farey b Akroyd-Stuart. D. A. S. Day st Salt b Akroyd-Stuart. J. O. Graham b Browne. T. C. Cobb lbw, b Millar. L. D. Gardner b Akroyd-Stuart.	98 — Ibw, b Lane

ETON COLLEGE v. CHARTERHOUSE SCHOOL.

Played at ETON, Saturday, June 16.—A. N. A. Boyd and R. C. L. Pilkington batted admirably for Eton, who proved the stronger side in a drawn game.

ETON COLLEGE.

A. N. A. Boyd c Richards b Wilson 111	N. K. G. Campbell not out 36
M. D. P. Magill b Power 6	J. P. Mann not out 14
F. G. Mann run out 2	Byes, etc 17
Hon. N. H. Villiers c Power b Hollis 3	
G. H. Dixon c and b Reynolds 17	(Seven wkts. dec.) 281
R. C. L. Pilkington c Field b Power 71	V. L. Wild
B. M. Fisher b Diver 4	V. L. Wild W. R. Rees-Davies did not bat.

CHAPTERHOUSE SCHOOL

SE SCHOOL.
R. M. Hollis not out. 16 C. P. Diver not out. 16 Byes, etc. 22
R. F. B. Power J. S. Vyvyan did not bat.

FETTES COLLEGE v. GLENALMOND (TRINITY COLLEGE).

Played at EDINBURGH, Saturday, June 16.—P. L. L. Keiller batted admirably in a drawn game.

GLENALMOND (TRINITY COLLEGE).

N. M. Anderson b Carmichael 21 J.M.Gregoire c Ramsay b Mackinnon 6 L. D. Mudie c Forster b Ramsay 47	F. R. J. Williams not out
P. L. L. Keiller not out	(Six wkts., dec.) 207 R. E. Salvesen R. Tullis D. A. Mann did not bat.

FETTES (College.
J. M. F. Day lbw, b Gregoire 1	J. A. D. Fordyce b Mudie 36
R. J. Forster run out 4	M. A. Scott not out 1
H. L. Mackinnon c and b Gregoire 18	Byes, etc 9
D. S. Carmichael b McDowall 38	_
H. A. Goodwin b McDowall 13	(Seven wkts.) 162
D. D. Mitchell lbw, b Gregoire 2	W. H. Ramsay
P. McMillan not out 40	C. W. Wilton did not bat.

LANCING COLLEGE v. RADLEY COLLEGE.

Played at Lancing, Tuesday, Wednesday, June 19, 20.—Although Radley recovered after following-on 134 behind, Lancing registered an easy victory by eight wickets.

C. S. Hatfield c Stavert b Stanger. J. H. Wedgwood b Stanger. A. C. L. Akroyd-Stuart c Willeocks b Stavert C. R. Heycock c Williams b Stavert. D. C. J. Manners b Clarke. D. W. H. Eves c Clarke b Stavert. W. O. Lane b Clarke. S. H. Parry not out. J. P. Knight run out. J. P. Knight c Willcocks b Clarke.	37 — not out	10
A. F. Salt c Stanger b Clarke		6
	195 (Two wkts.)	79
RADLEY	COLLEGE.	
P. H. Birks Ibw, b Millar. J. A. Porter Ibw, b Millar. G. B. Stanger b Millar. M. Bates run out A. P. G. McDowell b Manners. C. A. W. Samuda c Salt b Knight. N. E. V. Short Ibw, b Akroyd-Stuart. A. B. de L. Cazenove not out. D. R. Stavert b Knight. J. F. Willeocks Ibw, b Akroyd-Stuart. J. E. C. Clarke c and b Akroyd-Stuart. Byes, etc.	7 — lbw, b Millar. 5 — c Hatfield b Millar. 0 — b Knight. 14 — b Knight. 13 — b Manners. 2 — st Salt b Manners. 4 — b Millar. 1 — c Parry b Manners. 0 — not out.	8 10 42 2 47 60 10 0 3 12 6 9
*		09

BRIGHTON COLLEGE v. ST. PAUL'S SCHOOL.

Played at Brighton, Wednesday, June 20.—Thanks to the bowling of R. F. T. Paterson (five wickets for 30) and D. G. Hollebone (four for 29), Brighton won easily by 150 runs.

BRIGHTON	College.
A. H. Rea c Passmore b Crebbin. 12	V. McD. Hobley not out 39
R. B. Keep c Fisher b Crebbin 18	A. K. Sharp not out 3
E. J. Buckley c Higgins b Crebbin 52	Byes, etc
R. F. T. Paterson b Feldman 4	
D. G. Hollebone c Street b Totton 16	(Seven wkts., dec.) 223
J. Davies c ffennell b Feldman 47	P. V. Ward did not bat.
C. K. Thompson lbw, b Totton 11	P. A. King f did not bat.
ST. PAUL'	s School.
W. N. Crebbin b Hollebone 3	B. K. Totton c Hobley b Hollebone 0
J. A. Fisher c Buckley b Hollebone 13	D. J. Higgins run out 0
P. A. L. Passmore b Hollebone 5	A. N. Alexeew Ibw, b Paterson 0
G. R. ffennell c Keep b Paterson 17	S. Feldman lbw, b Paterson 0
N. G. P. Boswood b Paterson 1	Byes, etc
M. E. Street not out 20	name.
R. C. Moon c King b Paterson 0	73

ORATORY SCHOOL v. BEAUMONT COLLEGE.

Played at LORD's, Wednesday, June 20.—Beaumont won by 69 runs.

ORATORY SCHOOL.

R. L. Bellasis c Magoris b Hetreed J. W. Codrington c McNiven b Hetreed K. N. Percy run out. L. R. Pettit c Hetreed b Whittingham. D. J. Hartigan st Seward b Magoris. B. C. Percy c Dewar b Magoris. J. C. Lewenhaupt b Whittingham. D. H. Hamel-Smith b P. Cantopher. J. W. Botting b P. Cantopher. R. P. Hamel-Smith lbw, b McNiven I. H. Ingram not out. Byes, etc.	. 2 83 . 17 — b Whittingham
BEAUMON	COLLEGE.
J. D. McNiven c K. Percy b Bellasis 51 J. K. Cantopher b K. Percy 15 K. O'Neill c B. Percy b K. Percy	V. Hetreed c Lewenhaupt b Codrington 50 A. J. Whittingham b K. Percy 15 D. C. Seward not out 21 P. G. Cantopher c Ingram b K. Percy 0 Byes, etc. 18

ST. EDWARD'S SCHOOL, OXFORD v. EASTBOURNE COLLEGE.

Played at Oxford, Wednesday, June 20.—Thoroughly outplaying their visitors, St. Edward's won by 202 runs. E. J. H. Dixon played a fine innings.

ST. EDWARD'S SCHOOL, OXFORD.

A. M. Reid c Loder b Philcox	A. W. Paton c Jackson b Craib. 1 E. Holley b Craib 14 Byes, etc. 19
I. G. Maclaurin c and b Pilbrow. 11 E. F. Bennett b Pilbrow. 4 P. Cooke not out. 21 R. M. A. Lawson c Sewell b Pilbrow 8	(Eight wkts., dec.) 291 H. B. Coulthurst R. W. W. Howell did not bat.
EASTBOURNE	College. P. G. Wilson b Putterworth

IZASIBUUKNE	COLLEGE.
G. F. Hepburn b Howell	P. G. Wilson b Butterworth 13 J. D. G. Craib b Coulthurst 3 I. M. Loder not out 18 R. J. G. Philcox run out 3 Byes, etc. 11
J. A. F. Bewell C Lawson D Faton. 13	

HARROW SCHOOL V. WINCHESTER COLLEGE.

Played at HARROW, Thursday, June 21 .- A drawn match.

WINCHESTER COLLEGE.

T D i G CH D I I	
J. Davies-Scourfield c Bond b	K. B. Scott
Duveen 41	P. A. T. Holme
P. G. Foster c Neumark b Bond 14	A. H. Townsend did not bat.
W. B. Foster c Hargrove b Bond. 10	D. C. Wilson
J. T. Faber not out	R. C. P. Bryan
J. D. Eggar c Neumark b Bond 1	R. C. F. Bryan
J. W. Grover not out 32	
Byes, etc 5	
The state of the s	
(Six wkts., dec.) 166	The state of the s
0	A second of the

HARROW SCHOOL.

B. D. Carris run out. P. M. Studd b Scott. W. R. H. Joynson not out. J. H. Pawle b Scott. G. A. Stogdon b Scott. G. C. Hargrove not out. Byes, etc. (Four wkts.) 1	1 83 0 24 2 8	E. T. Pelham M. A. C. P. Kaye R. N. Bond A. H. C. Duveen T. V. Neumark	did not bat.
---	------------------------------	--	--------------

ST. LAWRENCE COLLEGE, RAMSGATE v. DOVER COLLEGE.

Played at RAMSGATE, Saturday, June 23.—St. Lawrence, for whom D. E. Beney took eight wickets for 31 runs, won easily, winding-up 127 ahead with five batsmen to be dismissed.

DOVER COLLEGE.

L. D. White b Beney. D. Langston-Jones c and b Beney. G. H. Clarke b Beney. P. D. Gange b Beney. C. H. Bradford c Sharpe b Colley. W. R. Barrett c Stocke b Beney. B. M. B. Coats not out.	0 G. F. Hatton b Beney. 11 6 P. M. D. Bell b Beney. 11 0 G. S. Parsons lbw, b Beney 0 8 Byes, etc. 4

St. Lawrence Co	LLEGE, RAMSGATE	
E. B. Calvert b White	P. B. Larsen R. B. Larsen J. B. Stocks F. G. Jones	did not bat.
Byes, etc		

STOWE SCHOOL v. RADLEY COLLEGE.

Played at STOWE, Saturday, June 23.—K. P. P. Goldschmidt, by all-round work, bore a leading part in Stowe's triumph by 67 runs.

RADLEY	COLLEGE
P. H. Birks b Goldschmidt 0	C. W. Fullbrook c Spencer b
J. A. Porter b Lynch-Staunton 40 G. B. Stanger c Spencer b	Buchanan 5
Buchanan 1	D. R. Stavert not out 10 J. F. Willcocks b Goldschmidt 0
N. E. V. Short b Macoun 6	J. E. C. Clarke lbw, b Buchanan. 0
C. A. W. Samuda b Goldschmidt 90	Byes, etc
M. Bates lbw, b Goldschmidt 5	
A. P. G. McDowell b Goldschmidt 2	169
P. B. Lucas c and b Stanger 31	
N. D. Clive c Porter b Stanger 15	G. E. T. Brown c Willcocks b Birks 18 A. C. Lynch-Staunton b Stanger. 1
J. D. A. Langley lbw, b Clarke 13	S. J. R. Macoun not out 15
K. P. P. Goldschmidt c Birks b	P. R. Spencer run out 5
Stanger	Byes, etc 9
P. G. Krabbé st Willcocks b	236
Stavert 30	250
S. J. L. Olver b Birks	
BLUNDELL'S SCHOOL V.	SHERBORNE SCHOOL. 26.—Despite a plucky innings by A. G.
Norman, Sherborne won by 147 runs.	20.—Despite a plucky innings by A. G.
SHERBORNI	SCHOOL.
J. D. Watney b Morant 7	A. V. Williams c Insley b Edwards 16
W. J. Eldridge c Lloyds b Norman 17	J. T. A. Wilson not out 50
L. Sherley-Price c Wynne b Morant 76 C. W. A. Murray c Insley b Beach. 15	O. Clarke b Beach
B. H. D. Robinson c Wynne b	D. R. Morgan not out. 2 Byes, etc. 3
Edwards 32	2,00,0001111111111111111111111111111111
C. Bell st Lloyds b Edwards 34	(Nine wkts., dec.) 296
D. C. Bevis c Wynne b Edwards 0	
A. G. Norman st Morgan b Clarke. 81	
G. E. Insley b Robinson 12	G. Derrick b Williams
J. G. Beach b Clarke 8	E. W. Lloyds b Sherley-Price 17
A. M. Wynne lbw, b Bell 0	G. C. H. Morant not out 0
A. Harrison b Bell	Byes, etc 5
N. R. C. Williams c Bell b Clarke. 2	

A. H. C. Walker c Morgan b

Williams 21

RUGBY SCHOOL v. UPPINGHAM SCHOOL.

Played at RUGBY, Tuesday, June 26.—Although R. West (six wickets for 15) bowled most effectively for Rugby, Uppingham won an exciting struggle by four runs. T. G. L. Ballance took five wickets for 40.

UPPINGHAM	SCHOOL.
M. T. N. Jennings b West	SCHOOL. 0 C. S. Watson b West. 0 D. W. Gillespie b West. 0 F. C. South not out. 0 C. M. Horsfall b West. 1 Byes, etc. 5
Dewar	105

RUGBY SCHOOL.

M. M. Walford c Watson b Ballance	15	W. G. McIlwraith c Horsfall b
D. E. C. Steel b Watson		Gillespie 1
P. Kershaw b Gillespie		T. C. Fort lbw, b Ballance 0
D. F. Waugh st Horsfall b Ballance		R. West c Samuel b Ballance 0
E. S. Boyes b Gillespie		J. F. M. Dewar not out 0
J. Kettle lbw, b Ballance		Byes, etc
A. J. M. Chadwick run out		-
	450	101

CHRIST'S HOSPITAL SCHOOL V. CRANLEIGH SCHOOL.

Played at Horsham, Wednesday, June 27.—Winning by eight wickets, Cranleigh finished 76 runs ahead with two batsmen to be dismissed.

CHRIST'S HOSPITAL SCHOOL.

N. A. Davis c Loates b Foot	3 A. L. B. Thompson b Loates 5
F. M. McRae b Foot	
B. D. Henderson c Loates b Foot. 2	
F. H. Terry c and b Loates	
W. A. Edward b Loates	
D. F. Rixson c and b Foot 4	3
A. I. Fennell c Loates b Foot 1	

CRANLEIGH SCHOOL

URANLEIGH	SCHOOL.
V. A. Cox b Rowan 41 T. S. Jacklin st Rixson b Davis 74 I. W. MacRobert Ibw, b Lucey 10 P. C. Black c and b McRae 36 D. J. Morey c Lucey b Davis 1 I. E. O. Watson c Lucey b McRae 1 O. W. Jeans not out 2	S. I. Brintes not out

CHARTERHOUSE SCHOOL v. HARROW SCHOOL.

Played at Godalming, Friday, Saturday, June 29, 30.—Stronger at all points of the game, Harrow won by nine wickets.

CHARTERHOUSE SCHOOL.

P. R. Crompton b Stogdon	11 — b Bond	9
P. L. Richards c Studd b Stogdon	15 — c Duveen b Carris	10
J. L. Field c Pawle b Duveen	2 — b Bond	93
H. G. Reynolds c Pawle b Duveen	0 — lbw, b Duveen	24
R. T. P. Wilson c Bond b Duveen	5 — c Kaye b Bond	8
W. L. Paynter c Carris b Pawle		32
R. M. Hollis c Neumark b Carris	37 — b Duveen	4
M. Tuckwell b Bond	5 — not out	11
C. P. Diver not out	41 — c Carris b Bond	
R. F. B. Power b Carris	19 — c and b Kaye	1
J. S. Vyvyan b Bond		
Byog etc	9 Byes, etc	
2,00,000	The state of the s	-

163

215

HARROW SCHOOL.

B. D. Carris c Reynolds b Diver	79	- b Reynolds	2
E. T. Pelham c Wilson b Power	8	- not out 46	B
W. H. R. Joynson c Vyvvan b Diver	14	— not out 31	1
J. H. Pawle c Richards b Wilson	45	- Contract to the contract of	70
G. A. Stogdon c Vyvyan b Diver	0		
G. C. Hargrove c Power b Wilson	17		
P. M. Studd not out	46		
M. A. C. P. Kaye b Power	0		
R. N. Bond b Diver	55		
A. H. Duveen run out	11		
Byes, etc		Byes, etc 8	3
(Nine wkts, dec.)	287	(One wkt.) 99)

T. V. Neumark did not bat.

SHREWSBURY SCHOOL v. UPPINGHAM SCHOOL.

Played at Shrewsbury, Friday, Saturday, June 29, 30.—Uppingham won a keen fight by five wickets.

SHREWSBURY SCHOOL.

F. S. Robinson c Gillespie b Watson R. V. M. Stanbury c Samuel b Ballance. J. C. Best c Bell b Ballance T. N. Leigh-Bennet c Horsfall b Ballance G. Thorneycroft c and b Watson C. F. Darbishire st Horsfall b Ballance P. D. Marrian c Gillespie b Watson T. M. Bell llw, b Gillespie M. S. Warman not out. E. J. Brotherton b Gillespie P. G. Wild b Watson.	15 18 7 7 5 12 16 15 6	lbw, b Watson. 2 c Blake b Watson. 3 b Watson. 5 c sub, b South. 6 c White b Gillespie. 7 c White b South. 1 lbw, b Ballance. 1 not out. 1 htt wkt. b Watson.	11 16 21 32 11 12 1 5
P. G. Wild b Watson Byes, etc	8	 run out	l5 l3
CL Constitution of the Con	143	15	-
		10	,,,

UPPINGHAM SCHOOL

CITINGIA	AM DUHOOL.	
M. T. N. Jennings lbw, b Wild. R. Blake run out. M. H. Bell c Stanbury b Leigh-Bennet. A. F. T. White c Best b Warman. A. M. Ormsby c Brotherton b Warman. G. N. T. W. Samuel b Best.	. 13 — c Wild b Warman	
2500,000	15 Byes, etc 7	

(Five wkts.) 143 29

WINCHESTER v. ETON.

Played at Winchester, Friday, Saturday, June 29, 30.—For the third successive year, the match was drawn. Winchester batted pluckily on a pitch that gave bowlers increasing help. Foster pulled with effect, and Holme, Faber and Potts made runs skilfully from varied bowling. Bryan, taking an examination, did not bat on Friday, but joined the attack when Eton replied on turf that had fully recovered. Dixon, once let off, scored freely by strokes in front of the wicket. He and Magill made 56 for the opening stand, and Eton finished the day only 77 behind with eight wickets intact. On Saturday, thanks largely to the medium pace bowling of Wilson, the innings closed for the addition of 109, Eton thus leading by 32. Davies-Scourfield driving powerfully, Winchester declared and set their opponents 145 to get in forty-five minutes, but interest evaporated long before that.

	WINCHE				
J.	Davies-Scourfield c J. P. Mann b Wild	19		b Pilkington	45
P.	G. Foster st Fisher b J. P. Mann				12
	W. Holme st Fisher b J. P. Mann				23
J.	D. Eggar c F. G. Mann b Pilkington				28
J.	T. Faber c Fisher b Rees-Davies	43 -	-	c Villiers b Rees-Davies	5
J.	W. Grover lbw, b Pilkington	2		st Fisher b J. P. Mann	8
K.	B. Scott c Magill b Pilkington	41 -	_	c Rees-Davies b Wild	25
P.	A. T. Holme c Villiers b Magill	10 -	-	b Rees-Davies	2
A.	H. Townsend lbw, b Pilkington	9 -	-		19
D.	C. Wilson not out			not out	0
R.	C. P. Bryan absent	0			
	B 3, 1-b 4, w 1, n-b 8	16		B 2, l-b 1, w 1, n-b 5	9
		********			-
	9	231		(Eight wkts., dec.) 1	76
				(228220 1122000) (2000) T	
C)	ETO	N.			
G.	H. Dixon lbw, b Wilson	N. 70 -		not out	1
M	H. Dixon lbw, b Wilson D.P.Magill c P.A.T. Holme b Townsend	70 23	_	not out	
М F.	H. Dixon lbw, b Wilson D.P.Magill c P.A.T. Holme b Townsend G. Mann c Foster b Wilson	70 23	_	not out	1
М F. R.	H. Dixon lbw, b Wilson D.P.Magill c P.A.T. Holme b Townsend G. Mann c Foster b Wilson C. L. Pilkington c Foster b Wilson	70 23 33 12	_	not out	1
М F. R. A.	H. Dixon lbw, b Wilson D.P. Magill c P.A.T. Holme b Townsend G. Mann c Foster b Wilson C. L. Pilkington c Foster b Wilson N. A. Boyd c Foster b Scott	70 23 33 12	_	not out	1
М. F. R. A. Ho	H. Dixon lbw, b Wilson. D.P. Magille P.A.T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. N. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson.	70 23 33 12	_	not out	1
M. F. R. A. Ho	H. Dixon lbw, b Wilson. D.P. Magill c P. A. T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. N. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson. K. G. Campbell c Grover b Faber.	70 23 33 12 22	_	not out	1
M. F. R. A. Ho N. B.	H. Dixon lbw, b Wilson. D.P. Magill c P. A. T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson. K. G. Campbell c Grover b Faber M. Fisher c Foster b Scott.	70 23 33 12 22 6 7		not out	1
M. F. R. A. Ho N. B. J.	H. Dixon lbw, b Wilson. D.P. Magill c P.A.T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. N. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson. K. G. Campbell c Grover b Faber M. Fisher c Foster b Scott. P. Mann run out.	N. 70 - 23 - 33 12 22 6 7 6 27	- I	not outnot out	1
M. F. R. A. Ho N. B. J. V.	H. Dixon lbw, b Wilson. D.P. Magill c P. A. T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. N. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson. K. G. Campbell c Grover b Faber. M. Fisher c Foster b Scott. P. Mann run out. L. Wild c Townsend b Wilson.	N. 70 - 23 - 33 12 22 6 7 6 27		not outnot out	1
M. F. R. A. Ho N. B. J. V.	H. Dixon lbw, b Wilson. D.P. Magill c P.A.T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. N. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson. K. G. Campbell c Grover b Faber. M. Fisher c Foster b Scott. P. Mann run out. L. Wild c Townsend b Wilson. R. Rees-Davies not out.	70 23 33 12 22 6 7 6 27 16 4	JIL.	not outnot out	17
M. F. R. A. Ho N. B. J. V.	H. Dixon lbw, b Wilson. D.P. Magill c P. A. T. Holme b Townsend G. Mann c Foster b Wilson. C. L. Pilkington c Foster b Wilson. N. A. Boyd c Foster b Scott. n. N. H. Villiers c and b Wilson. K. G. Campbell c Grover b Faber. M. Fisher c Foster b Scott. P. Mann run out. L. Wild c Townsend b Wilson.	70 23 33 12 22 6 7 6 27 16 4	JIL.,	not outnot out	17
M. F. R. A. Ho N. B. J. V.	H. Dixon lbw, b Wilson D.P. Magill c P. A. T. Holme b Townsend G. Mann c Foster b Wilson C. L. Pilkington c Foster b Wilson N. A. Boyd c Foster b Scott N. H. Villiers c and b Wilson K. G. Campbell c Grover b Faber M. Fisher c Foster b Scott P. Mann run out L. Wild c Townsend b Wilson R. Rees-Davies not out B 26, l-b 10, n-b 1	N. 70 23 33 12 22 6 7 6 27 16 4 37	1111	not outnot out	1 7
M. F. R. A. Ho N. B. J. V.	H. Dixon lbw, b Wilson D.P. Magill c P. A. T. Holme b Townsend G. Mann c Foster b Wilson C. L. Pilkington c Foster b Wilson N. A. Boyd c Foster b Scott N. H. Villiers c and b Wilson K. G. Campbell c Grover b Faber M. Fisher c Foster b Scott P. Mann run out L. Wild c Townsend b Wilson R. Rees-Davies not out B 26, l-b 10, n-b 1	70 23 33 12 22 6 7 6 27 16 4		not outnot out	17

				263			(No wk	t.) 13
		/]	ETON B	OWLING	Gr.				
	Overs	Mdns.	Runs	Wkts		Overs	Mdns.	Runs	Wkts.
Rees-Davies		12	28	1		16	6	30	3
Campbell	8	2	19	0		5	0	17	0
Wild		5	39	1			2	30	1
Magill	7	1	17	1		8	2	16	1
Pilkington	26.3	9	42	4		24	8	32	1
J. P. Mann	18	0	70	2		14	3	42	1
		WI	CHEST	ER BOY	VLING	t .			
Bryan	24	9	56	0		3	2	4	0
Scott	21	9	28	2		4	2	4	0
Wilson	32	14	54	5		1	1	0	0
P. A. T. Holme	11	6	19	0					
Townsend	10	1	45	1					
Faber	2	2	0	1					
Eggar		0	11	0					
Foster	5	0	13	0					
	Umj	pires: A	. J. At	field a	nd D	. н. т	regear.		

	RESULTS OF ETON AN	IW ON	NCHESTER MATCHES
1826	Willchester won by 53 rune	1881	
1829	Eton won by four wickets	1882	
1830	Winchester won by eight wkts	1002	The state of the s
1832	Lion won by inns, and 10 runs	1883	and 20 runs
1833	Eton won by 14 runs	1884	
1834	Eton won by 13 runs	1885	Eton won by hve wickets
1835	Eton won by five wickets	1886	Drawn
1836	Eton won by two wickets		
1838	Winchester won by an innings	1887	Lion won by nine wickets
	and 34 runs	1888	Drawn
1839	Eton won by 108 runs	1889	
1840	Winchester won by 43 runs	1890	Diawn
1841	Winchester won by 109 runs	1891	
1842	Eton won by seven wickets	1892	Willester won by 84 runs
1843	Winchester won by eight wkts.	1893	Etton won by five wickets
1844	Eton won by 27 runs	1894	Eton won by five wickets
1845	A Tie	1895	Eton Won by inns and 87 rune
1846	Eton won by inns. and 55 runs	1896	Wildeliester won by eight wite
1847	Eton won by inns. and 55 runs	1897	Wildenester won by 51 rung
1848	Eton won by 65 runs	1898	Diawn
1849	Eton won by inne and or	1899	Eton won by one wicket
1850	Eton won by inns. and 27 runs Eton won by five wickets	1900	Drawn
1851	Winchester won by 26 runs	1901	Eton won by two wickets
1852	Winchester won by 26 runs	1902	Blott Won by four wickets
1853	Winchester won by 30 runs	1903	Eton won by 43 runs
1854	Winchester won by 35 runs	1904	Winchester won by eight white
1855	Winchester won by three wkts.	1905	DIAWII
1856	Eton won by 46 runs	1906	Drawn
1857	Eton won by inns. and 4 runs	1907	Winchester won by nine wkts
1858	Eton won by inns. and 31 runs	1908	Eton won by inns. and 14 runs
1859	Winchester won by one wicket	1909	Drawn
1860	Winchester won by three wkts.	1910	Drawn
1861	Eton won by 19 runs	1911	Eton won by 58 runs
1862	Eton won by nine wickets	1912	Eton won by inns and 46 runs
1863	Eton won by one wicket	1913	Eton won by inns. and 47 runs
1864	Eton won by inns. and 194 runs	1914	Diawii
1865	Eton won by nine wickets Drawn	1919	Winchester won by 69 runs
1866		1920	Willenester won by 131 runs
1867	Eton won by ten wickets	1921	Eton won by seven wkts.
1868	Eton won by inns. and 10 runs	1922	Drawn
1869	Eton won by eight wickets	1923	Drawn
1870	Eton won by inns. and 36 runs	1924	Eton won by inns and 19 runs
1871	Winchester won by one wicket	1925	Drawn
1872	Winchester won by 8 runs	1926	Drawn
1873	Eton won by inns. and 125 runs	1927	Drawn
1874	Eton won by five wickets	1928	Drawn
1875	Eton won by inns. and 202 runs	1929	Drawn.
1876	Lion won by five wickets	1930	Eton won by seven wickets
1877	Eton won by inns. and 99 runs	1931	Eton won by two wickets
1878	ELOU WOLD DV Inns, and 191 mine	1932	Drawn
1879	winchester won by six wickets	1933	Drawn
1880	Lion won by 45 runs	1934	Drawn
1000	Eton won by 9 runs		

From 1826 to 1854 inclusive, the match was played at Lord's, but since 1855 (when the sides met at Eton) the games have taken place alternately on the

Of the 101 matches mentioned above, Eton have won 53 and Winchester 26, one has ended in a tie and 21 have been drawn.

The one day matches during the War were not reckoned as belonging to the regular series.

BEDFORD SCHOOL v. DULWICH COLLEGE. Played at BEDFORD, Saturday, June 30.—Dulwich won a great fight by three wickets. K. G. C. Campbell took five Bedford wickets for nine runs aplece.	Westminster School J. Alderson C Binkes b Clarke 13 J. P. Rayne not out 55
SHERBORNE SCHOOL v. DOWNSIDE SCHOOL. Played at SHERBORNE, Saturday, June 30.—B. H. D. Robinson and D. E. B. Harris batted very well for Sherborne, who registered an easy victory by 151 runs. SHERBORNE SCHOOL. J. D. Watney b Bell	P. de la H. Moran not out
C. Bell not out	HAILEYBURY COLLEGE v. WELLINGTON COLLEGE. Played at HAILEYBURY, Friday, Saturday, July 6, 7.—Superior at all points, Haileybury triumphed by an innings and 150 runs. In the match, P. W. Gale took six wickets for 31 runs and A. M. Hayfield six for 56.
WESTMINSTER SCHOOL v. RADLEY COLLEGE. Played at VINCENT SQUARE, Tuesday, July 3.—Thanks to R. H. Angelo and J. P. Rayne, Westminster saved the game comfortably. G. B. Stanger, A. P. G. McDowell and C. A. W. Samuda all batted splendidly for Radley. RADLEY COLLEGE. RADLEY COLLEGE. P. H. Birks c Angelo b Klein. 22 J. A. Porter b Klein. 3 G. B. Stanger c Angelo b Woodgate	G. T. G. Hunter lbw, b Gale. 39 — not out. 22 J. E. Holden lbw, b Gale. 5 — c Hayles b Hayfield 0 H. J. Pedraza c Ridler b Hayfield. 9 — c Hayfield b Gale. 1 F. M. Forster b Hayfield. 2 — b Gale. 0 B. J. B. Eddison not out. 0 — b P. K. Mayhew. 0 Byes, etc. 19 Byes, etc. 6 HAILEYBURY COLLEGE. D. H. Ridler st Bird b Wakelin. 14 R. J. Purdy c Bird b Fowler. 38 R. M. Childs c Forster b Holden. 68 A. M. Hayfield lbw, b Fowler. 60 S. D. Jones b Pedraza. 30 B. R. Darewski c Fowler b Wakelin. 38 P. K. Mayhew c Packe b Wakelin. 29 (Nine wkts., dec.) 401

MALVERN COLLEGE v. REPTON SCHOOL.

Played at MALVERN, Friday, Saturday, July 6, 7.—Malvern won an interesting contest by five wickets. A capital century by J. O. Moss in Malvern's second innings formed the chief feature of the match.

Second initings formed the same
REPTON SCHOOL. 1
B. Greatbatch b Ashton. 1—b Ashton 2 J. R. Ross b Seaford. 1—c Barrett b Coghill. 33 J. O. Moss lbw, b Greswell. 10—not out. 107 A. H. Brodhurst b Ashton. 20—b Lowcock 42 M. A. C. S. Cope b Foster. 6—not out. 29 M. A. C. S. Cope b Foster. 16—rot out. 29 F. G. Tolkien b Greswell. 54—st Bagnall b Coghill. 5 P. T. Hamp lbw b Foster. 16—run out. 49 R. H. Maudsley b Greswell. 6 B.E. W. Henson c Bagnall b Foster. 12 P. H. Willis-Dixon not out. 21 F. L. Rogers st Bagnall b Coghill. 4 Byes, etc. 8 157 (Five wkts.) 275

KING EDWARD'S SCHOOL, BIRMINGHAM V. DENSTONE COLLEGE.

Played at BIRMINGHAM, Saturday, July 7.—The College won by 87 runs a match of many batting failures.

KING EDWARD'S SCE B. N. Seymour b Burrow	R. J. Garratt c Campole b Kemp. 3 R. M. W. Wood lbw, b Burrow . 6 S. E. C. Lait not out
E. F. Twiss c Mart b Kemp 2	50
DENSTONE	COLLEGE. T. D. Lockwood lbw, b Pinder 0 A. Christmas c and b Pinder 1 T. A. M. Bayly b Pinder 6 P. W. Schofield not out 3 Byes, etc. 10

REPTON SCHOOL V. RUGBY SCHOOL.

Played at REPTON, Tuesday, July 10.—P. W. S. Coghill, with his legbreaks, taking seven wickets for 53 runs, Repton won by three wickets.

RUGBY SCHOOL.

RUGBY	SCHOOL.
D. E. C. Steel lbw, b Seaford 2	R. F. Lumb st Bagnall b Coghill 7
P. Kershaw c Barrett b Seaford 1	T. C. Fort c Seaford b Coghill 0
E. S. Boyes c Barrett b Coghill 26	R. West c Barrett b Coghill 16
J. Kettle c Barrett b Coghill 11	J. F. M. Dewar not out 0
M. M. Walford st Bagnall b Coghill 18	Byes, etc
A. J. M. Chadwick c Barrett b	
Coghill 42	156
W. G. McIlwraith b Foster 22	
REPTON	SCHOOL,
L. A. Barrett c Walford b West 24	A. P. G. Hyde b West 0
R. M. Bagnall c Steel b Dewar 22	H. S. Seaford not out 3
A. P. D. Montgomery c Kershaw b	Byes, etc 4
West	Dyos, etc
P. C. Ashton c and b Kershaw 19	(Seven wkts.) 157
R. L. Lowcock c Steel b Chadwick 22	The state of the s
R. Pownall not out	D. W. Foster P. W. S. Coghill did not bat.
A. G. Murray lbw, b West 19	r. w. s. cognin)
A. G. Marray 15w, 5 west	The State of Williams Co. 1.1.

UPPINGHAM SCHOOL v. OUNDLE SCHOOL.

Played at UPPINGHAM, Tuesday, July 10.—Oundle narrowly escaped defeat, Uppingham, at the close, needing only two runs to win with three wickets to fall. D. W. Gillespie dismissed six Oundle batsmen for 34 runs.

OUNDLE SCHOOL.

C. R. H. M. Stuart c Watson b Gillespie	A. D. Newsholme c and b Ballance 19 O. J. C. W. Breakspear b Gillespie 4 K. E. Cowan b Gillespie. 8 M. F. Llewellyn not out. 3 A. V. Marment lbw, b Gillespie. 0 Byes, etc. 7
UPPINGHAM	SCHOOL.
R. Blake c Payne b Newsholme. 41 M. T. N. Jennings c Knox b Llewellyn	G. N. T. W. Samuel c Marment b Stuart 1 C. S. Watson not out 12 D. W. Gillespie not out 7 Byes, etc. 6 (Seven wkts.) 177

F. C. South

C. M. Horsfall

did not bat.

SHERBORNE SCHOOL V. WESTMINSTER SCHOOL.

Played at Sherborne, Tuesday, Wednesday, July 10, 11.—The all-round work of B. H. D. Robinson and C. Bell had much to do with Sherborne's handsome victory by 199 runs.

SHERBORNE SCHOOL.

J. D. Watney b Rayne	5	- c Powell-Jones b Rayne 14	
W. J. Eldridge b Stocker		— b Angelo 51	
L. Sherley-Price run out	12	— b Rayne 2	
B. H. D. Robinson b Stocker		— c and b Richardson 76	
D. E. B. Harris b Angelo		- st Powell-Jones b Woodgate 7	
C. Bell run out		— st Powell-Jones b Stocker 62	
T. B. Wilkinson c Powell-Jones b			
Angelo		— st Powell-Jones b Angelo 23	
J. T. A. Wilson b Woodgate		— not out 5	
O. Clarke c Richardson b Angelo		not out 8	
A. V. Williams c and b Angelo			
D. R. Morgan not out			
Byes, etc	8	Byes, etc	
		10 1 1 000	
	197	(Seven wkts., dec.) 267	

WESTMINSTER SCHOOL.

J. Alderson lbw, b Bell	. 24 — lbw, b Bell	9
A. H. W. Matcham b Robinson	. 26 — b Robinson 2	20
R. H. Angelo lbw, b Clarke	. 17 — c Wilson b Clarke	16
H. F. B. Symons run out	. 20 — st Morgan b Wilson	18
F. F. Richardson b Wilson	. 6 — c Morgan b Robinson	15
E. R. Hobbs c Bell b Wilson	. 21 — not out	18
J. A. G. Corrie b Robinson	. 7 — c Bell b Wilson	4
J. P. Rayne not out		0
J. O. H. Powell-Jones b Robinson	. 0 — b Wilson	12
J. D. Stocker b Bell	. 0 — c Wilson b Robinson	
J. T. Woodgate b Bell	. 0 — c Williams b Robinson	2
Byes, etc		11
	135	30
	A CONTRACTOR OF THE PARTY OF TH	

CHELTENHAM COLLEGE V. CLIFTON COLLEGE.

Played at CHELTENHAM, Friday, Saturday, July 13, 14.—Rain restricting cricket on the first day to less than half an hour, a draw was always assured.

CHELTENHAM COLLEGE.

R. A. Powell c Pilcher b Lapage J. M. Pope c E. Scott b Weston		- b Lapage	
E. D. R. Eager c Pilcher b Lapage		— b Weston	
A. J. Arengo-Jones lbw, b Lapage		— b E. Scott	
E. H. L. Fisher c Anderson b Lapage	. 8	— b Heath	14
A. H. Norris c Champion b Firth	. 1	— c Scott b Lapage	18
R. T. C. Pratt c Champion b Heath	. 20	— not out	5
G. B. de Castle st Anderson b E. Scott	. 30	— b Firth	11
D. A. Lane not out	. 10	— not out	0
J. S. Foster b Heath	. 0		
A. C. Fryer c Anderson b Heath	. 0		
Byes, etc		Byes, etc	21
	-		-
	120	(Seven wkts.)	124

CLIFTON COLLEGE.

C. G. Nuttall b Foster. D. G. T. Horsford lbw, b Pope. F. M. N. Heath c Arengo-Jones b Pope R. C. Lapage b Fryer. W. J. H. Scott b Foster. J. Weston st Norris b Fryer. G. H. Pilcher b Fryer.	1 23 35 1 14	A. M. Champion not out. E. K. Scott lbw, b Pratt. M. H. Anderson b Arengo-Jones. L. J. B. Firth lbw, b Arengo-Jones Byes, etc.	19 20 0
--	--------------------------	--	---------------

ST. PETER'S SCHOOL, YORK v. GIGGLESWICK SCHOOL.

Played at YORK, Saturday, July 14.—Sound batting by R. Ogley and the fine bowling of S. Dodds enabled St. Peter's to win by 10 runs.

ST. PETER'S SCHOOL, YORK. N. W. D. Yardley lbw, b Abbs.... 4 | R. H. Davison c Winney b

N. A. Newman c Foden b Gallagher 18 R. Ogley c Harger b Abbs 55 J. W. Stead c Marshall b Abbs 5 S. Dodds b Gallagher 5 K. Lockwood c Ainley b Gallagher 4 G. E. L. Graham lbw, b Abbs 0	Gallagher
GIGGLESWICE	SCHOOL.
J. B. Harland hit wkt, b Dodds. 10 J. P. Wright c Yardley b Dodds. 3 L. V. Gallagher lbw, b Dodds. 4 B. Pape c Newman b Dodds. 4 G. R. Abbs b Yardley 4 G. B. Winney c and b Yardley 4 R. M. Marshall lbw, b Newman. 15	R. E. Foden c Yardley b Dodds . 11 P. W. Harger lbw, b Dodds . 2 J. Jackson not out . 6 E. S. Ainley c and b Dodds . 1 Byes, etc. 9 113

TONBRIDGE SCHOOL v. DULWICH COLLEGE.

Played at Tonbridge, Saturday, July 14.—Drawn.

TONBRIDGE SCHOOL.

T. S. La Fontaine c Holliman b Silkin	L. D. Gardner b Chiverall
R. G. Hobbs lbw, b Silkin 4	

DULWICH DULWICH DULWICH DULWICH DULWICH DULWICH DULWIC	COLLEGE. J. G. Chiverall b Thompson. 16 H. D. Jones not out. 2 Byes, etc. 8		
N. E. Denby c Farey b Day 5 R. J. Knight b Flower 21 K. G. C. Campbell not out 48 C. A. Holliman c Popple b Day 9	S. C. Silkin K. V. Seale (Seven wkts.) 190		

WESTMINSTER SCHOOL v. CHARTERHOUSE SCHOOL.

Played at VINCENT SQUARE, Saturday, July 14. — Charterhouse won readily, finishing 100 ahead with a wicket to fall.

J. Alderson c Peynter b Power	R. E. Lygon b Diver
CHARTERHOU J. M. Lomas c Powell-Jones b Angelo 22 P. L. Richards c Powell-Jones b Woodgate 59 J. L. Field retired 27 C. P. Diver c and b Lygon 5 J. Shelley run out 3 H. G. Reynolds b Lygon 0 W. L. Paynter c Stocker b Lygon 19	SE SCHOOL. 26 R. M. Hollis c Rayne b Matcham 26 R. T. P. Wilson c Alderson b 17 R. F. B. Power not out 16 J. S. Vyvyan not out 14 18 19 19 19 19 19 19 19

BERKHAMSTED SCHOOL v. MERCHANT TAYLORS' SCHOOL.
Played at BERKHAMSTED, Saturday, July 21.—Enterprising batting took
Berkhamsted to a fine victory by six wickets.

MERCHANT TAY	LORS SCHOOL.
J. M. Barnes c Hoare b Dix 13	H. G. L. Lawson not out 1
K. F. Camp c Powell b Owens 7	Byes, etc 17
	Dyos, oter
A. C. Harrison not out 68	(Six wkts. dec.) 149
J. Price run out 9	(DIE HEEDS COLOR)
J. D. Gibbon st Gilmour b Woodford 0	K. S. Price
W. R. A. Balkwill st Gilmour b	K. B. Kettle did not bat.
	J. L. Starnes
Woodford 17	J. L. Starites /
R. A. S. Ward b Dix 17	No. of the second secon
BERKHAMST	ED SCHOOL.
A. Pennington not out 57	J. D. Bowyer
	J. F. N. Bell
C. D. Hoare c Camp b Gibbon 2	
E. S. Woodford b Gibbon 45	
R. T. Campbell c Starnes b Barnes 8	K. J. Gilmour
S. Owens b K. Price 26	P. N. Dix
	-, -, -, -,
J. D. H. Salter not out 1	
Byes, etc 11	
_	
(Four wkts.) 150	

WELLINGTON COLLEGE v. CHARTERHOUSE SCHOOL.

Played at Wellington, Saturday, July 28.—An overwhelming success by 221 runs for Charterhouse, for whom P. L. Richards and J. M. Lomas revealed masterly form.

CHARTERHOUSE SCHOOL.

P. L. Richards c Eddison b McCall 141 J. M. Lomas c Packe b Sweet 125 J. L. Field b McCall 14 J. Shelley not out 26 W. L. Paynter not out 31 Byes, etc 11	C. P. Diver R. M. Hollis H. G. Reynolds R. T. P. Wilson M. A. Perks J. S. Vyvyan
(Three wkts dec) 348	

WELLINGTON COLLEGE

WELLINGTON	COLLEGE.
E. H. Sweet c Wilson b Hollis 17 F. M. Forster c Vyvyan b Perks 0 B. H. W. Fowler c Richards b Hollis 45 D. N. Ascoli st Vyvyan b Hollis 8 M. St. J. Packe b Diver 1 F. S. Bird run out 22 A. L. McCall c Shelley b Hollis 0	A. G. Roberts c Richards b Hollis 1 H. J. Pedraza c Field b Hollis . 16 P. B. Wakelin b Diver . 16 R. J. B. Eddison not out . 0 Byes, etc 1

July 11, Henley	M.C.C. Henley	1st inns. 105 107	2nd inns.	Result. Lost by 2 runs.
July 12, Windsor	Imperial Service College M.C.C.		_	Won by 134 runs.
July 13, Beaconsfield	M.C.C. Beaconsfield	178 165 for 9	_	Drawn.

ETON v. HARROW.

Played at LORD's, Friday, Saturday, July 13, 14.—Although compelling Harrow to follow-on against arrears of 137, Eton found the game go against them and for the third year in succession the big schools match was drawn. Harrow, giving a much improved display in their second innings, thanks largely to a capital innings by Pawle, were able to declare with three men out for 243 and then dismissed as many of their opponents for 47.

By winning the toss, Eton gained a big advantage, but in putting together a total of 306 they owed much to good fortune in the way of missed catches. Boyd, the captain, who scored a hundred out of 176 enjoyed no fewer than three escapes, the first when he had made 42. These errors naturally detracted from the merit of his innings and he showed somewhat cramped style during a stay of three hours and a quarter. His best stroke was the drive, which brought him most of his nine 4's.

Following some slow cricket Dixon helped his captain put on 64 and then the brightest batting was shown by Villiers. After losing Boyd, fourth out at 176, Villiers drove with such vigour and brilliance that with eleven 4's he hit up 66 out of 106 in seventy minutes before falling to a grand catch at deep mid-on. Much of the Eton batting was over careful and after Villiers left the remaining five wickets fell for 69, of which Rees-Davies, the last man, and J. P. Mann put on 26.

Eton took nearly five hours and a quarter over their 306 runs against bowlers of whom only Duveen, slow left-arm with a natural break-back, presented real difficulty. Duveen was the outstanding bowler in the 1933 match.

Carris and Pelham gave Harrow a good start by scoring 51 together in an hour before the drawing of stumps on Friday, but rain during the night, if doing little more than lessen the pace of the pitch, had a moral effect upon the batsmen next day. The anticipation of difficulties that did not exist caused weak batting which, coupled with faulty judgment in running, resulted in the fall of all ten wickets in the course of two hours and forty minutes for 118 runs.

J. P. Mann, whose slow leg-breaks received rather unwarranted respect, did most damage, and he came out with an analysis of five wickets for 66 runs, but he sent down so many loose deliveries that he might have suffered severe punishment.

The Harrow opening pair, naturally showing care when going in a second time, took an hour to obtain 38 runs, but although Carris remained quiet—his 39 occupied him two hours and twenty minutes—Joynson hit up 45, including seven 4's, out of 70 realised by the second wicket.

With three men out for 113 came the finest batting of the match, Pawle and Stogdon putting on 130 in eighty minutes. Then Pawle, to the surprise of everybody, declared when needing only seven runs for his hundred—a useless personal sacrifice in view of the fact that only fifty minutes remained in which Eton might get 107 for victory or be dismissed.

Pawle in his fine innings made a splendid effort. Thanks to perfect timing he drove with power and pulled and hit to leg with effect. He treated all the bowling alike and with a 6 and fourteen 4's scored his 93 out of 135 in ninety-five minutes. Two awkward chances in the long field were small blemishes in a glorious piece of batting.

Eton at first appeared likely to make an effort to accomplish their task, but after the loss of two batsmen for 13, they turned quiet and the possibility of a definite result disappeared.

Of the Harrow eleven all but Tindall, Pulbrook, Collins and Heaton played in the previous year. Eton included only Boyd, Dixon, Villiers and Pilkington who had the experience; among their new players were two sons of F. T. Mann, the former Middlesex captain.

Tormer Middlesex Captain.
ETON. Mr. A. N. A. Boyd c Neumark b Stogdon 100 — c Pawle b Kaye. 6 Mr. M. D. P. Magill c Kaye b Bond. 6 — b Bond. 3 Mr. F. G. Mann c Carris b Duveen. 9 — not out. 10 Mr. G. H. Dixon c Studd b Bond. 23 — not out. 0 Hon. N. H. Villiers c Studd b Duveen. 66 — b Kaye. 27 Mr. R. C. L. Pilkington c Neumark b Bond 35 Mr. N. K. G. Campbell b Kaye. 14 Mr. B. M. Fisher c and b Kaye. 4 Mr. J. P. Mann not out. 10 Mr. V. L. Wild c Bond b Kaye. 6 Mr. W. R. Rees-Davies c Pawle b Duveen 13 B 6, 1-b 9, w 1, n-b 4 . 20 W 1
306 (Three wkts.) 47
HARROW.
Mr. B. D. Carris c Magill b J. P. Mann. 27 — c Fisher b Rees-Davies 39
Mr. E. T. Pelham b J. P. Mann 37 — b Rees-Davies 23
Mr. W. H. Joynson c F. G. Mann b
J. P. Mann
Mr. J. H. Pawle run out
Mr. G. A. Stogdon run out 5 — not out
Mr. G. C. Hargrove b Magill 28
Mr. P. M. Studd c F. G. Mann b
J. P. Mann 1
Mr. M. A. C. P. Kaye c Magill b
J. P. Mann 3
Mr. A. H. C. Duveen b Rees-Davies 5
Mr. T. V. Neumark not out 4
B 11, l-b 2, n-b 2
-
169 (Three wkts, dec.) 243
HARROW BOWLING.
Overs Mdns, Runs Wkts. Overs Mdns, Runs Wkts.
The state of the s
Raye 29 6 78 3 7 0 31 2 Bond 28 7 72 3 4 1 4 1
Stogdon 16 2 51 1
Duveen 30.3 9 64 3 4 0 11 0
Carris 8 3 21 0
ETON BOWLING.
Rees-Davies 19.4 6 27 1 14 5 35 3 Campbell 2 0 11 0 6 2 16 0
Wild 15 7 16 1 13 6 28 0
Pilkington 21 11 26 0 18 10 50 0
J. P. Mann 22 2 66 5 11 0 56 0
Magill 3 1 8 1 15 6 29 0
Villiers 1 0 7 0
Boyd 1 0 14 0
Umpires: A. Morton and J. Newman.

RESULTS OF ETON AND HARROW MATCHES.

			THE PARTY NAMED IN COLUMN TO THE PARTY NAMED
1805	Eton won by an inns. and 2 runs	1880	Harrow won by 95 runs
1818	Harrow won by 13 runs	1881	Harrow won by 112 runs
1822	Harrow won by 87 runs.	1882	Drawn
1823	Eton won by inns. and 33 runs	1883	Drawn
1824	Eton won by nine wickets	1884	Drawn
1825	Eton won by seven wickets	1885	Harrow won by three wickets
1827	Eton won by six wickets	1886	Eton won by six wickets
1828	Eton won by six wickets	1887	Eton won by five wickets
1832		1888	Harrow won by 156 runs
		1889	Harrow won by nine wickets
1833		1890	Drawn
1834		1891	Harrow won by seven wickets
1835		1892	Harrow won by 64 runs
1836	Harrow won by nine wickets	1893	
1837			Eton won by nine wickets
1838		1894	Drawn
1839		1895	Drawn
1840	Eton won by 31 runs	1896	Drawn
1841		1897	Drawn
1842		1898	Harrow won by nine wickets
1843		1899	Drawn
1844		1900	Harrow won by one wicket
1845		1901	Harrow won by ten wickets
1846	Eton won by inns. and 135 runs	1902	Harrow won by eight wickets
1847	Eton won by nine wickets	1903	Eton won by inns. and 154 runs
1848		1904	Eton won by inns. and 12 runs
1849		1905	Drawn
1850		1906	Eton won by four wickets
1851		1907	Harrow won by 79 runs
1852		1908	Harrow won by ten wickets
1853		1909	Drawn
1854		1910	Eton won by nine runs
1855		1911	Eton won by three wickets
1858		1912	Eton won by six wickets
1859		1913	Eton won by nine wickets
1860		1914	Eton won by four wickets
186		1915	to 1918. No regular match
1862		7.77	during the war
186		1919	Eton won by 202 runs
1864		1920	Eton won by nine wickets
186		1921	Eton won by seven wickets
1866		1922	Drawn
1867		1923	Drawn
1868	2010	1924	Drawn
		1925	Drawn
1869		1926	Drawn
1870		1927	Drawn
187		1928	Eton won by 28 runs
1872		1929	Drawn
187		1930	Eton won by eight wickets
187			Eton won by eight wickets Eton won by inns. and 16 runs
187	5 Drawn	1931	
187		1932	Drawn
187		1933	Drawn
187		1934	Drawn
187	9 Drawn		

Of the 105 matches played, Eton have won 42, Harrow 35, and 28 have been drawn. This is the generally published record, but Harrow men object very strongly to the game in 1805 being treated as a regular contest between the two schools, contending that it is no more correct to count that than the fixture in 1857 which has been rejected.

The one-day matches between the two schools during the War are not reckoned as belonging to the regular series.

Thirty-two three-figure innings have now been played in matches between the two schools, as follows:—

In making his 183 Boles set up a new record for the match, beating the 152 obtained in 1841 by Emilius Bayley, afterwards the Rev. Sir John Robert Laurie M. C. Bird in 1907, by scoring 100 not out and 131, performed a feat without precedent in the match. In 1932, N. S. Hotchkin, who played a three-figure innings in the previous year's match, scored 109 and 96, following these scores in 1933 with 88 and 12.

* Signifies not out.

		1st inns.	2nd inns.	Result.
July 14, Aldenham	M.C.C	205*for 10 124 for 4	=	Drawn.
July 14, Ealing	M.C.C	132 134		Lost by 2 runs.
July 14, Hampstead	M.C.C	274*for 7 157 for 3	=	Drawn.
July 16, Edinburgh	Edinburgh Academy M.C.C.	105 167	=	Won by 62 runs.
July 16, 17, Dorchester	Dorset Rangers M.C.C	179 76	180 122	Lost by 161 runs.
July 16, 17, Lord's	Royal Artillery Royal Engineers	261 299	232*for 7 85 for 2	Drawn.
July 17, Colinton	M.C.C	250*for 4] 86	_	Won by 164 runs.
July 17, Beckenham	Cyphers	109 150	_	Won by 41 runs.

		1st inns.	2nd inns.	Result.
July 26, Reigate	M.C.C	199 197	=	Won by 2 runs.
July 27, 28, Marlborough	Marlborough College M.C.C	201 146	201*for 7 262 for 7	Won by Three wkts
July 28, Shrewsbury	M.C.CShrewsbury School	227 130 for 6	_	Drawn.
July 28, High Wycombe	M.C.C	270 256 for 7	-	Drawn.
July 28, Lord's	Lord's and Commons M.C.C.	166 251*for 2	93 for 2	Won by 85 runs.
July 28, 30, Strabanej	Gentlemen of Ireland M.C.C.	305*for 4 257	119*for 8 58 for 3	Drawn.

CLIFTON v. TONBRIDGE.

Played at LORD's, Monday, Tuesday, July 30, 31.—Two splendid innings and clever lob bowling by D. A. S. Day went a long way towards giving Tonbridge a handsome victory over Clifton by 173 runs. With the exception of Day, Salmon and Weston, the batting of both sides proved disappointing, while the Clifton fielding fell a good deal below the School's usual high standard. Day gave an excellent display of all-round hitting for an hour and a half and scored 71 without offering anything like a chance. Salmon, on the other hand, should have been out when 43 and again when 58, but he brought off some good on-drives during a stay of just over two hours. Clifton made a bad start, losing half their wickets for 89, but Weston staved off a collapse and at the end of the day his side stood 91 behind with four wickets in hand. This they reduced to 46 next morning and did so well that they got down four Tonbridge wickets for 37. Weston hit sixteen 4's while scoring 121 out of 161 in two hours. Mistakes in the field proved very costly to Clifton. Day gave a chance of stumping when 13 and he should have been caught a run later. He made such good use of his escapes that, hitting nineteen 4's, he went on to score 130 out of 205. Clifton, set 268 to win in three and a quarter hours, concentrated on playing for safety, but after an opening partnership for 41 they broke down badly.

TONBRIDGE.

Mr. T. S. La Fontaine c M. Anderson b D. Anderson	34 — b Watkins
Weston	0 — b Heath
Mr. M. A. J. Farey b Watkins Mr. D. A. S. Day c Nuttall b Weston	71 — not out
Mr. J. O. Graham b Weston Mr. G. B. Salmon c Weston b Scott	16 — c D. Anderson b Watkins
Mr. R. G. Hobbs c M. Anderson b Heath	1 5 — b Weston 4
Mr. L. D. Gardner c Heath b Scott Mr. J. D. Parsons lbw, b Scott	9 — lbw, b Heath 0
Mr. W. G. Popple b Heath	0 — st M. Anderson b Watkins.
B 15, l-b 5, w 1, n-b 7	
	221

			CLIF	TON.					
Mr. C. G. Nuttall	c Grah	am b Fl	ower	4 -	- c G	aham	h La F	ontoina	10
Mr. D. G. T. Hors	ford b	Popple.	0.,02	8 -	- b L	Font	oine	onitaliio	9/
Mr. F. M. N. Heat	h c an	d b La l	Containe	10 _	- c G	aham	h Donn	10	49
Mr. R. C. La	nage	c Gra	ham h	10	- c u	anam	о горр	16	2
La Fontaine	page	o ora	паш о		000	ndnon	b T - T		_
Mr. T. Wooten e I	love h E	lorror		101	- U G2	traner	D La F	ontaine	5
Mr. J. Weston c I Mr. A. M. Champ	ay DI	id b Da		121 -	- D F	opple			24
Mr. C. H. Dilabar	o Tom	nu b Da	y	10 -	- run	out			2
Mr. G. H. Pilcher	C TOM	pson b 1	rarsons.	18 -	- not	out		,	16
Mr. E. K. Scott b	Day.			6 -	- run	out			0
Mr. D. H. Anders	on b r	lower			- c Pa	rsons	b Popp	le	1
Mr. M. H. Anders	on low	, b Pop	ple	1 -	- c ar	id b L	ay		0
Mr. E. J. E. Wath	tins no	tout		3 -	- c P	opple	Day		0
B 5, n-b 4				9	N	-b			1
									_
				224					94
		C	LIFTON	Bown	ING.				
	Overs	Mdns.	Runs	Wkt		Overs	Mdns.	Runs	Wkts.
Lapage		0	48	0		10	1	31	1
Weston	16	7	37	3		16.3	3	37	2
Heath	17	6	38	2		18	15	42	2
Watkins	9	2 3	33	1			6	45	4
D. H. Anderson .	10	3	24	1		5	0	15	Ô
Scott	15	1	62	3		6	Õ	38	ő
35.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.		-				0	•	00	U
The state of the s			BRIDGE		LING.				
Popple	17	0	58	2		13	[4	19	3
Flower	16.3	1	44	3		9	2	19	0
Parsons	9	1	28	1		6	2 5	10	0
La Fontaine	9	2	34	2		13	5	27	3
Day	7	0	34	2		4.2	0	18	3 2
Gardner	4	0	17	0					
**	THE PARTY OF THE P	-	1		-				

Umpires: E. H. Sweetland and D. H. Tregear.

RESULTS OF CLIFTON AND TONBRIDGE MATCHES. 1899 Clifton won by eight wickets 1923 Drawn

1900 Drawn	1924	Abandoned—rain
1901-13 No Matches		Drawn
1914 Clifton won by nine wickets	1926	Drawn
1915 Drawn	1927	Clifton won by 11 runs
1916 Drawn		Tonbridge won by ter

1916Drawn1928Tonbridge won by ten wickets1917Drawn1929Tonbridge won by one wicket1918No Match1930Drawn1919Tonbridge won by nine wickets1931Drawn

1920 Tonbridge won by nine wickets 1921 Tonbridge won by 141 runs 1933 Clifton w

1921 Tonbridge won by 141 runs 1922 Clifton won by inns, and 13 1934 Clifton won by seven wickets runs 1934 Tonbridge won by 173 runs

Played at Lord's in 1914 and from 1919.

Of the 22 matches Clifton have won 5 and Tonbridge 6. Ten have been drawn, and one abandoned...

July 31, Aug. 1, Guernsey	Guernsey Island M.C.C	1st inns. 271 158	2nd inns. 257*for 8 78 for 3	Result.
August 2, East Acton	M.C.C	282 66	_	Won by 216 runs.

Dickson

O'Regan....

Westwood 15

M.C.C. Matches.

RUGBY v. MARLBOROUGH. Played at LORD's, Wednesday, Thursday, August 1, 2.—Rugby always looked the stronger side and the match ended before lunch on the second day in a win for them by nine wickets. M. M. Walford, the captain, played a big part in his side's easy victory. He dismissed nine batsmen for less than eight runs apiece with his easy victory. He dismissed nine batsmen for less than eight runs apiece with his left-arm slows; made the highest score of the match and set a fine example in the field. Marlborough collapsed badly at the start, the only batsman to play the good bowling with confidence being Hewan, the captain, who in forty minutes hit up 48 out of 57. Rugby, too, fared badly, losing seven wickets before taking the lead, but thanks to Walford, who scored 70 out of 87 in an hour, including nine 4's, they gained an advantage of 74. The Marlborough batting broke down in sensational fashion on Thursday. Five men were out before the arrears were cleared off and with the last three wickets all falling at the same total Rugby needed but 15 to win.

with the last times "	ICHCOD			- 100 000					
			MARLBO	ROUGI	H.				
Mr. N. E. Hooper c	Steel I	Dewar		6 -	c and	l b Ch	adwick.		. 13
Mr. G. E. Hewan c	Steel 1	b Chady	vick	48 -	c Ap	pleby	b Walfe	ord	. 9
Mr. R. Heyland c	Roves I	West.		0 -	b We	st			. 0
Mr. P. M. Whiteho	nee lhu	h Wa	lford	0 -	c and	b Ke	rshaw		. 9
Mr. M. N. Harbottl	o b W	lford	nora	39 -	c and	b Ke	rshaw.		. 3
Mr. R. C. Fletcher	Stool	h Wolfe	rd						
Mr. R. C. Fletcher C	i bood	o Mallo	voith h	_	DU 000				
Mr. J. C. N. West				0	not o	nt			. 0
West								ζ	
Mr. M. P. Cheales of	Kersi	law D V	vest	00	b W	olford	mad with		
Mr. J. D. L. Dickso	n c and	1 b wan	oru	20 -	D W	anoru			
Mr. M. L. V. R. H	. O'Re	egan st	Steel D	10	o Ch	draial	h Wal	ford	. 0
Walford				18 -	e Cha	idwick	Troot	101u	
Mr. H. G. Jelf not					- c Po	yes b	west		
B 2, l-b 3, n	-b 2			7	B 4	1, I-D 5), W 1, I	-b 3	. 10
				_					88
				176					88
			RUG	BY.					
Mr. D. E. C. Steel	c Jelf b	Hewar	1						
Mr. P. Kershaw st	Jelf b	Westwo	ood	18 -	- not c	out			0
Mr. W. G. McIlwra	aith b	Whiteh	ouse	2					
Mr. E. S. Boyes lb	w. b W	estwood	1	2					
Mr. J. Kettle st Je	olf b H	ewan		8					
Mr. A. J. M. C.	hadwic	k hit	wkt. b						
Westwood				9					
Mr. M. M. Walford	h We	etwood		70					
Mr. I. B. Appleby	a Chan	log h Di	ckson	5					
Mr. G. V. S. Hitchi	ng a H	wland h	Howan						
Mr. G. V. S. Hitchi	lis C 11C	y land b	Howan	35 -	- e an	d b W	Vhitehor	ise	10
Mr. R. West b Die				5	- C an	4 10 1	, 11100110		
Mr. J. M. F. Dewa				32	w				4
B 21, l-b 3,	w 1, n	-D 1		04					
				250			(One wkt.) 15
			RUGBY		TYC				,
	0		Runs	Wkt		overs	Mdns.	Runs	Wkts.
	Overs	Mdns.		3		11	5	9	2
West	15	4	45	1		8	1	20	ō
Dewar	9	. 0	38			8.2	2	21	4
Walford	13.5	1	46	5				18	2
Chadwick	7	2	19	1		12	4	7	2
Kershaw	3	1	15	0		6	2		4
McIlwraith	2	1	6	0					
		MAR	LBOROU		OWLING	ł			-
Whitehouse	11	1	54	1		1.2	0	6	1
Hewan	16	3	54	3		1	0	5	0
	00.0	0	49	0					

51

16

Umpires: A. Fowler and E. H. Sweetland.

RESULTS OF RUGBY AND MARLBOROUGH MATCHES.

			DOROGGI MITTOHED.
1855	Rugby won by ten wickets, at Lord's	1892	Marlborough won by an innings and 78 runs.
1856	Rugby won by five wickets, at	1893	Drawn
	Lord's	1894	
1857		1001	82 runs
	83 runs, at Oval	1895	
1860		1896	
	50 runs at Lord's	1	35 runs
1862	Marlborough won by an innings	1897	Marlborough won by three wkts.
	and 17 runs, at Lord's	1898	Drawn
1863	Rugby won by 83 runs, at Oval	1899	Marlborough won by 225 runs
1864	Rugby won by an innings and	1900	Rugby won by nine wickets
	83 runs, at Islington	1901	Marlborough won by five wkts.
1865	Rugby won by nine wickets, at	1902	Rugby won by 29 runs
	Lord's	1903	Drawn
1866	Drawn, at Lord's	1904	Marlborough won by nine wkts.
1867	Rugby won by six wickets, at	1905	Drawn
	Oval	1906	Rugby won by 227 runs
1868	Rugby won by an innings and	1907	Rugby won by 84 runs
	133 runs, at Rugby	1908	Marlborough won by 200 runs
1869	Rugby won by 179 runs, at	1909	Marlborough won by six wkts.
	Lord's	1910	Rugby won by an innings and
1870	Rugby won by five wickets, at		7 runs
	Marlborough	1911	Rugby won by 193 runs
1871	Marlborough won by 68 runs.	1912	Marlborough won by eight wkts.
1872	Marlborough won by nine wkts.	1913	Rugby won by ten wickets
1873	Rugby won by eight wickets.	1914	Rugby won by five wickets
1874	Rugby won by five wickets	1915	Rugby won by nine wickets
1875	Rugby won by an innings and	1916	Rugby won by eight runs
	35 runs	1917	Rugby won by four wickets
1876	Marlborough won by five wkts.	1918	Marlborough won by an innings
1877	Marlborough won by 196 runs.		and 94 runs
1878	Rugby won by an innings and	1919	Marlborough won by six wkts.
	24 runs.	1920	Drawn
1879	Rugby won by 97 runs	1921	Drawn
1880	Rugby won by an innings and	1922	Marlborough won by ten wkts.
4004	120 runs	1923	Marlborough won by ten wkts.
1881	Rugby won by two wickets.	1924	Rugby won by three wickets
1882	Marlborough won by five wkts.	1925	Drawn
1883	Drawn	1926	Rugby won by 112 runs
1884	Marlborough won by eight wkts.	1927	Drawn
1885	Drawn	1928	Drawn
1886	Rugby won by 37 runs	1929	Drawn
1887	Marlborough won by 217 runs	1930	Marlborough won by nine wkts.
1888	Abandoned. No play.	1931	Marlborough won by seven wkts
1889	Marlborough won by six wkts.	1932	Drawn
1890	Marlborough won by 145 runs	1933	Rugby won by 168 runs
1891	Drawn	1934	Rugby won by nine wkts.

Of the 77 matches Rugby have won 37 and Marlborough 24. Fifteen have been drawn and one abandoned.

		1st inns.	2nd inns.	Result.
August 2, 3, Jersey	M.C.C Jersey Island		233*for 7 19 for 1	Drawn.

August 3, Leatherhead	M.C.C Old Johnians (XII-a-side).	1st inns. 250*for 9 251	2nd inns.	Result. Lost by 1 run.
August 4, Jersey	M.C.C	244*for 7 68	62 for 4	Won by 176 runs.
August 4,	Teddington M.C.C	101 198	_	Won by 97 runs.

CHELTENHAM v. HAILEYBURY.

Played at LORD's, Friday, Saturday, August 3, 4.—Haileybury, regarded as the strongest School side of the year, proved much too good for Cheltenham and won by eight wickets. They received something of a shock when, sent in to bat, they lost seven wickets before lunch for 125 runs. Afterwards, however, they recovered well and never lost their grip on the game. Bringing the ball back sharply from the off, Foster, a fast medium bowler, did so well at the start that he sent back three men in four overs for four runs. P. K. Mayhew hit extremely hard and in just over half an hour scored 59 out of 64, including eleven 4's. Nine men were out for 162, but Annison and Gale, in a spirited last wicket stand, put on 49. P. K. Mayhew followed up his fine driving with some capital bowling, and in one spell of an hour and forty minutes he sent down seventeen overs for 15 runs and four wickets. Half the Cheltenham side were out for 34 and with nobody showing any real resistance they had to follow on 134 behind. They gave a much better display at their second attempt, but Haileybury were set only 73 to win. Castle hit eight 4's while scoring fifty in an hour.

HAILE	YBU	RY.		
Mr. D. H. Ridler b Foster Mr. R. J. Purdy b Foster. Mr. R. M. Childs c Norris b Arengo-Jones Mr. A. M. Hayfield b Foster	$\begin{array}{c} 1 \\ 42 \\ 2 \end{array}$	_	not out	11 19
Mr. S. D. Jones b Arengo-Jones Mr. B. R. M. Hayles c de Castle b				
Arengo-Jones	17			
Mr. P. K. Mayhew c Pratt b Foster				
Mr. C. P. Mayhew c Powell b Foster Mr. P. H. Annison c Norris b Pope	14			
Mr. P. W. Gale not out	33			
В	_			
	211		(Two wkts.)	74
CHELT	ENI	IAM		
Mr. E. H. L. Fisher b P. K. Mayhew			c Gale b Hayfield	
Mr. J. M. Pope b P. K. Mayhew			c Purdy b Annison	
Mr. E. D. R. Eagar b P. K. Mayhew			b Annison	
Mr. R. A. Powell run out			b Hayfieldb Gale	18
Mr. A. J. Arengo-Jones lbw, b Gale Mr. A. H. Norris lbw, b P. K. Mayhew			c Purdy b Hayfield	38
Mr. R. T. C. Pratt c Hayles b Darewski.			lbw, b Gale	2
Mr. G. B. de Castle c P. Mayhew b				
Darewski	3		b Gale	
Mr. R. A. Carter not out			lbw, b P. K. Mayhew	2
Mr. J. S. Foster c Hayfield b Darewski.			b Hayfield	11 17
Mr. A. C. Fryer run out			B 5, l-b 5, n-b 1	
B 6, l-b 2, n-b 1			D 0, 1 0 0, 11 0 1	
	-	_		-

		CHEL	PENHAM	Bow	LING.				
	Overs	Mdns.	Runs	Wkts	8.	Overs	Mdns.	Runs	Wkts.
Foster		5	63	5		6	1	27	1
Fryer	9	2	17	0		6	2	15	0
Pope		1	44	1		4.5	1	15	0
Arengo-Jones		6	57	3		4	1	17	1
Pratt	4	0	27	0					
		HAIL	EYBURY	Bow	LING.				
P. K. Mayhew		3	19	4		14	2	57	. 1
Darewski		4	26	3		9	1	36	0
Hayfield	8	2 2	12	0		9	1	40	4
Gale			3	1		8.3	0	17	3
Annison	2	0	8	0		7	1	30	2
			Child	ls		2	0	15	0

Umpires: H. J. Hubble and A. Fowler

RESULTS OF CHELTENHAM AND HAILEYBURY MATCHES.

1000 Diawii	1912 Haneyoury won by 11 runs
1894 Cheltenham won by 1 run	1913 Haileybury won by an innings
1895 Drawn	and 217 runs
1896 Drawn	1914 Drawn
1897 Haileybury won by 238 runs	1919 Cheltenham won by eight wkts.
1898 Haileybury won by seven wkts.	1920 Drawn
1899 Haileybury won by an innings	1921 Cheltenham won by 66 runs
and 45 runs	1922 Drawn
1900 Haileybury won by 116 runs	1923 Drawn
1901 Haileybury won by three wkts.	1924 Cheltenham wen by eight wkts.
1902 Cheltenham won by 186 runs	1925 Drawn
1903 Cheltenham won by 49 runs	1926 Drawn
1904 Haileybury won by an inns. and	1927 Haileybury won by an innings
41 runs	and 3 runs
1905 Cheltenham won by eight wkts.	1928 Drawn
1906 Cheltenham won by 167 runs	1929 Cheltenham won by 185 runs
1907 Cheltenham won by an innings	1930 Haileybury won by 12 runs.
and 51 runs	1931 Cheltenham won by 161 runs.
1908 Drawn	1932 Haileybury won by an innings
1909 Drawn	and 40 runs.
1910 Cheltenham won by an innings	
	1933 Haileybury won by ten wickets
and 3 runs	1934 Haileybury won by eight wkts.
1911 Haileybury won by six wickets	

1893 Drawn

1912 Haileybury won by 11 runs

Of the 38 matches Cheltenham have won 12 and Halleybury 14, the other 12 being left drawn.

t Played at the Crystal Palace.

		1st inns.	2nd inns.	Result
August 4, 6, 7, Dublin	Gentlemen of Ireland M.C.C.	$\frac{166}{292}$	263 53 for 4	Drawn.
August 6, Slough	M.C.C. Slough	159 181 for 6	_	Lost by 22 runs.
August 6, Blackheath	M.C.C	254*for 9 259 for 5	_	Lost by five wkts.

LORD'S SCHOOLS v. THE REST.

Played at Lord's, Monday, Tuesday, August 6, 7.—Varying fortune, free batting and clever bowling, supported by keen fielding, kept a drawn game full of interest and enjoyment until the very end of extra time. The Rest had not known defeat in this game since 1923, and, perhaps for this reason, they did not seem to regard as impossible their task of getting 311 runs required for victory in three hours on a worn pitch. The loss of two wickets for 16 runs failed to check their enthusiasm, but half the side were out for 96 before confidence had reward in a stand for 69 by Butterworth and Waddilove. When Butterworth was stumped after showing capital hitting powers all round the wicket for an hour and a quarter the prospect favoured Lord's Schools but Ballance followed up some admirable bowling by plucky batting which saved his side. Slow left-hand with skill in flighting the ball he dismissed three men in the course of seven deliveries early in his first turn and he came out with a record of nine wickets for 116 runs in the match, Pawle played the highest and best innings. Going in when Nuttall and Boyd had fallen for 23 runs, Pawle scored his 92 in two hours. He drove with plenty of strength both to the off and the on, his hits including a 6 and ten 4's. Hayles, another free scorer, had seven 4's among his well-timed strokes, and on the second day his stand with Mayhew produced 53 runs in twenty minutes. Bell used his height to get to the pitch of the ball and his partnership with Yardley-75 in seventy minutes-was the best for The Rest.

LORD'S SCHOOLS.

Mr. C. G. Nuttall (Clifton) c Bell b Waddilove 12 — c Ballance b Yardley	
Mr. A. N. A. Boyd (Eton) b Beresford 3 — c Brodhurst b Butterwort	h. 36
Mr. A. M. Hayfield (Haileybury) lbw, b Ballance 16 — c Brodhurst b Waddilove.	5
Mr. J. H. Pawle (Harrow) c Bell b Paterson 92 — c Brodhurst b Ballance	28
Mr. D. A. S. Day (Tonbridge) c Brodhurst b Ballance 0 — lbw, b Ballance	17
Mr. R. C. L. Pilkington (Eton) lbw, b Ballance 0 — b Ballance	0
Mr. M. M. Walford (Rugby) c Butterworth b Waddilove 27 — b Ballance	11
Mr. P. K. Mayhew (Haileybury) lbw, b Waddilove	38
Mr. B. R. M. Hayles (Haileybury) c Brodhurst b Ballance 46 — run out	20
Mr. B. R. Darewski (Haileybury) not out 8 — not out	9
Mr. R. West (Rugby) c Davies-Scourfield b Ballance 18 — c Paterson b Beresford	
B 14, l-b 5, n-b 1 20 B 4, l-b 1, w 1, n-b 4	10
263	221

THE REST.				
Mr. H. F. Burton (Bedford) b Darewski 8 - a Darewski b Mr.				
c Walford b West				
lbw, b Hayfield				
Havfield				
How I . 1. Paterson (Brighton)				
Mi. J. Butterworth (St. Edwards,				
Oxford) c Walford b Mayhew 13 — st Hayles b West 63 Mr. E. G. Waddilove (Ampleforth)				
Mr. T. G. L. Ballance (Uppingham) 0 — b West				
c Hayneld b Darewski 16 — not out				
Mr. C. A. Holliman (Dulwich) st Hayles b				
Pilkington 0 Mr. F. J. Brodhurst (Wellingborough)				
c Day b Pilkington				
170				
(5070H WR05.) 191				
Overs Mdns. Rung Wkts. Overs Mdns. Dr. William				
Beresford 15 3 75 1 7.4 1 24 2				
Ballance 19 2 56 5 14 3 46 1				
Paterson \dots 7 1 8 0 \dots 3 0 11 1				
Holliman 10 3 $\begin{array}{cccccccccccccccccccccccccccccccccccc$				
40 1				
LORD'S SCHOOLS BOWLING. Mayhew 16 3 37 1 11 5 91 9				
West 5 2 12 1 12 2				
Pilkington 11 1 38 3 16 5 40 0				
Havfield 12 1 1 1 1 1 1 1 1 1 1				
$\begin{array}{cccccccccccccccccccccccccccccccccccc$				
Umpires: E. H. Sweetland and H. Pickthall.				
1st 2nd				
inns. inns. Result.				
August 8, M.C.C				
August 8, M.C.C. 271*for 9 — Cuckfield 173 for 7 — Drawn.				
August 9, M.C.C. 181 — Won by Loughton 168 13 runs,				

THE ARMY v. THE PUBLIC SCHOOLS.

Played at LORD's, Wednesday, Thursday, August 8, 9.—In another good sporting match The Army tried to get 200 runs in ninety minutes despite poor light which became so bad that the umpires pulled up stumps at twenty past six. Yardley stood out as the great batsman of the game. He scored 180 runs and his century on the first day showed him sound in judging the ball to punish, powerful in the drive besides clever in hitting to leg in the genuine sweeping style, seldom seen in the drive besides clever in hitting to leg in the genuine sweeping style, seldom seen in the drive besides clever in hitting to leg in the genuine sweeping style, seldom seen in the second interest the purpose of the second in the second innings Yardley received more consistent help. Nuttail, Bell and Pawle getting their runs well. Mayhew gave the most dashing display for The Schools, his 56 in forty-five minutes being quite brilliant after Walford had helped Yardley put on 89 in fifty-five minutes. When The Army lost two wickets for 21 runs Hudson and Packe set themselves to master the bowling. Their partnership realised 119, Hudson, very sure on the leg-side. hitting a dozen 4's in a fine innings. Packe, apart from a mistimed drive, did nothing wrong during two hours and thirty-five minutes; his thirteen 4's include some splendid on-drives and leg-hits. Hughes got his 51 runs at one a minute. Hudson and Hamilton began the final stage with 70 runs in half an hour, and, despite the difficulty in seeing the ball Hudson kept up his free form until the enforced abandonment of the struggle for quick runs. Stephenson did the best bowling with his rather fast swerving deliveries.

DOWNING WICH MIS TWO-TO-	
THE PUBLIC SCHOOLS. Mr. C. G. Nuttall (Clifton) b Stephenson 12 — c Packe b Melsome	3 3 3 9
Mr. R. E. H. Hudson c Walford b Hayfield	3 6 0 3
319 (Two wkts.) 10)5

THE ARMY BOWLING.

				20011	min or .				
Myburgh	32 7 5	Mdns. 3 4 1 0	Runs 53 92 24 11 30	Wkt		20	Mdns. 0 0 0	Runs 15 76 4	Wkts 0 2 0
Melsome Hamilton	24	9 0 Publ	46 15 IC SCHO	ols I	Sowli	- 2	13 1	53 58	4 0
Mayhew Darewski Paterson Ballance Yardley Hayfield Walford	7.2 26 8 18	0 7 4 9 1 1	40 65 11 66 23 80 9	1 3 1 2 0 3 0		4	0 0	28 29 31 14	0 1 0

Umpires: E. H. Sweetland and G. D. Fenner.

	1st inns.	2nd inns.	Result.
Young Professionals Young Amateurs	192 164	213*for 5 153	Young Professionals won by 88.
Mill Hill	205 191	— m-Eg	Lost by 14 runs.
Lord's XI Mr. C. F. Tufnell's XI	$\frac{279}{244}$	140*for 3 104 for 2	Drawn.
Priory Park M.C.C	95 231	_	Won by 136 runs.
Gentlemen of Leicester M.C.C (XII-a-side).	183 133	265*for 7 317 for 8	Won by three wkts.
Colchester and East Essex M.C.C.	226*for 8 95	_	Lost by
M.C.C. Suffolk County	201 287	340*for 4 137	Won by 117 runs.
M.C.C	171 200 for 7	_	Lost by 29 runs.
M.C.C. Frinton	238 236 for 7	_	Drawn.
M.C.C United Services	318*for 5 150	59 for 2 226	Won by eight wkts.
	Young Amateurs Mill Hill M.C.C. Lord's XI Mr. C. F. Tufnell's XI Priory Park M.C.C. Gentlemen of Leicester M.C.C. (XII-a-side). Colchester and East Essex M.C.C.	Inns. Young Professionals 192 Young Amateurs 164	Inns. Inns

AVERAGES.

The name of the Captain is marked thus † Innings marked * are not outs.

ALDENHAM SCHOOL BATTING.

	Innings	s Not outs			Runs	Hi	ghest in	Average	
J. A. N. Warwick			3		506		91		46.00
†R. G. Hunt		٠.	1		578		130		44.46
J. M. Barrett					288		52*		41.14
H. E. Davies					432		140		36.00
J. P. Blake			2		279	1.	78		23.25
H. R. Scott			2		172		62*		21.50
M. T. W. Easby			0		44		13		7.33

ALDENHAM SCHOOL BOWLING.

			Overs	Maider	ns	Runs	Wickets	Average
R.	P.	Collyer	118.2	 18		318	 27	 11.77
		Hunt				545	 43	 12.67
M.	T.	W. Easby	211.5	 32		594	 35	 16.96

ALLHALLOWS SCHOOL BATTING.

	Innings	Not outs			Runs	Hi	ghest in	Average	
A. J. Standbridge			10		193		31		17.54
P. G. E. Geake			3		210		39		14.00
D. G. Baker			1		168		37		12.92
R. G. K. Evens			0		161		60		10.73
C. B. Gilbert			. 0		179		53		9.42
R. L. Rochelle	. 9				81		29		9.00
tJ. I. Pickard			. 0		155		26		8.61
E. J. Harding			. 1		169		21		8.45

ALLHALLOWS SCHOOL BOWLING.

	Overs	Maidens			Runs	Wickets			Average	
C. K. Gray	46.3		8		153		13		11.76	
P. G. E. Geake			14		392		32		12.25	
R. H. Sproston			21		611		38		16.07	
J. I. Pickard	185.4		54		669		34		19.67	

AMPLEFORTH COLLEGE BATTING.

	Inning	s N	Tot out	S	Runs	I	lighest i	nns.	Average	
E. G. Waddilove .			0		682		141		45.46	
†L. J. Walter			2		326		53		25.07	
D. H. Munro			3		281		62*		23.41	
E. E. Tomkins			0		202		62		13.40	
W. P. Gillow			2		169		36*		13.00	
S. J. Lovell			2		93		23		10.33	
T. F. Roche			0		152		54		10.85	
D. K. Wells			6		61		16*		10.16	
E. H. Grieve			0		138		34		9.85	
J. E. Nicoll			2		78		22		8.66	
D. R. Dalglish		9.75	2		95		17*		7.91	

AMPLEFORTH COLLEGE BOWLING.

		Overs	Maidens			Runs	V	lickets	Average	
D.	K. Wells		213.4		50		537		40	 13.42
E.	G. Waddi	love .	192.5		35		538	1,0	35	 15.37
D.	R. Dalgl	ish	128.3		20		368		21	 17.52
W.	P. Gillov	7	98.1	• •	10		327		16	 20.43
L.	J. Walter		85		11		300		13	 23.07

ARDINGLY COLLEGE BATTING.

	Innings	Innings Not outs			Runs	H	ighest In	Average	
H. R. Bickerstaff	. 14		0		365		67		26.07
G. J. Back	. 14		1		328		83		25.23
†W. K. Taunton .	. 13		1		240		55		20.00
R. R. Potter	. 14		1		240		50		18.46
C. H. Cane	. 13		1		207		42		17.25
C. M. G. Wallwork	13		1		150		39*		12.50
M. O. Glew	. 12		4		94		41*		11.75
D. S. Kinder	. 14		2		136		29		11.33
G. M. Roberts	. 3		1		21		21*		10.50
G. T. Flint	. 13		4		92		35*		10.22
E. R. Marsh	. 7		3		33		17*		8.25

ARDINGLY COLLEGE BOWLING.

	Overs	Maidens	Runs	Wickets	Average
H. M. S. Saxton	69	17	195	14	13.92
D. S. Kinder	112	22	430	22	19.54
G. J. Back	170 .	17	691	32	21.59
R. R. Potter	157 .	. 19	664	28	23.71
R. R. Potter	197 .	. 19	004	20	25.71

BEAUMONT COLLEGE BATTING.

	Innings		Not out	ts	Runs	H	ighest i	nns.	Average
M. K. Dewar	12		2		448		100		44.80
J. K. Cantopher	14		1		579		124		44.53
J. D. McNiven	. 14		0		357		73		25.50
M. Magoris	14		5		194		39		21.55
J. Wolff			1		170		54		21.25
T. Pritchard			1		161		49		16.10
K. O'Neill	6		2		58		36	10.00	14.50
A. J. Whittingham	. 10		1		128		23		14.22
D. C. Seward	. 8		3		69		21		13.80
V. Hetreed	. 8	٠.	.1		75		50		10.71

BEAUMONT COLLEGE BOWLING.

	Overs	M	aidens	Runs	Wickets	Average
P. G. Cantopher	275.4		69	 704	 52	 13.53
A. J. Whittingham.	124.2		25	 395	 22	 17.95
V. Hetreed	126		26	 368	 20	 18.40

BEDFORD SCHOOL BATTING.

Accept to	Inning	gs	Not out	ts	Runs	H:	ighest in	ns.	Average
†H. F. Burton			1		735		150*		43.23
P. Rawlins	11		5		225		53*		37.50
J. T. Robinson			1		445		66		29.66
G. L. B. August			2		356		68		25.42
R. F. Walker	18		2		373		105		23.31
A. D. Emmer	14		7		138		26*		19.71
A. D. Panton			1		295	1414	81		18.43
P. H. Cook	17		2		250		63		16.66
G. T. Evans	8		0		132		59		16.50
M. C. Manby	11		0		120		50		10.90
K. V. Percy	11		2		63		19		7.00

BEDFORD SCHOOL BOWLING.

	Overs	Maidens	Runs	Wickets	Average
A. D. Emmer			 918	 39	 23.53
P. Rawlins	217	 33	 811	 34	 23.85
K. V. Percy	281	 58	 896	 31	 28.70

BEDFORD MODERN SCHOOL BATTING.

	Innings		Not ou	ts	Runs	Hi	ghest in	ns.	Average
†D. C. Smith	14		1		464		82		35.69
D. R. F. Allen	13		3		280		68		28.00
A. W. Cornell	13		1		268		50*		22.33
F. H. Humphreys .	12		3		170		37*		18.88
B. C. Barnwell	14	٠.	1		230		56		17.69

BEDFORD MODERN SCHOOL BOWLING.

	Overs		Taidens		Wickets		Average	
A. W. Cornell				513		38	 13.50	
B. C. Barnwell				332		20	 16.60	
J. D. Kirby	229	 44		644		36	 17.88	

BELVEDERE COLLEGE, DUBLIN, BATTING.

	Innings	Not out	ts	Runs	1	lighest inns	. Average
†F. M. Quinn		 2		386		147* .	. 42.88
K. M. Dolan		 3		337		82 .	. 33.70
V. J. Aird		 2		120		34 .	. 24.00
D. M. O'Leary	9	 2		128		33* .	. 18.28
B. B. Carroll	. 7	 4		42		14* .	. 14.00
J. H. Ingram	. 12	 0		137		44 .	. 11.41
J. K. Ingram		 1		98		30 .	. 9.80
P. J. Smyth	. 11	 1		84		32 .	. 8.40

BELVEDERE COLLEGE, DUBLIN, BOWLING.

	Overs	aidens	Runs	Wickets		Average
F. M. Quinn	55.2	 31	 76	 22		3.45
J. H. Ingram	120.5	 40	 287	 36	70,000	7.97
B. B. Carroll	88.5	 24	 237	 22		10.77
J. K. Kelly	79	 19	 215	 19		11.31

BERKHAMSTED SCHOOL BATTING.

	Innings	;	Not out	s	Runs	H	ighest in	ns.	Average
†R. T. Campbell	14		5		532		124		59.11
A. Pennington	14		2		561		102		46.75
E. S. Woodford	16		0		587		127		36.68
J. D. H. Salter	15		1		403		77		28.78
P. N. Dix	8		5		76		25*		25.33
S. Owens	15		3		283		55		23.58
C. D. Hoare	15		0		328		99		21.86
J. F. N. Bell	12		1 ~		152		45		13.81
D. C. Powell	6		0		72		32		12.00
K. J. Gilmour	9		2		69		19*		9.85
J. D. Bowyer	13		1		113		25		9.41

BERKHAMSTED SCHOOL BOWLING.

	Overs		Maide	ns	Runs	7	Wickets	Average
D. C. Powell			16		207		13	 15.92
P. N. Dix	181		37		506		28	 18.09
S. Owens	209		30		731		31	 23.58
E. S. Woodford	55		2		303		12	 25.25
A. Pennington	187	.03	37		683		25	 27.32
R. T. Campbell	79		14		282		10	 28.20

BISHOP'S STORTFORD COLLEGE BATTING.

	Innings	Not out	s	Runs	Hi	ghest in	ns.	Average
R. F. A. Sharp	. 11	 5		242		67*		40.33
A. S. Tee		 0		229		50	-	20.81
L, Clark		 2		87		25		14.50
J. D. P. Stirling		 1		66		22		13.20
J. T. Smith		 2		115		32		12.77
L. E. McLean		 0		122		32		11.09
J. Bywaters		 0		93		22		9.30
†R. L. G. Dawson		 2		26		12		8.66
G. J. Adams	. 9	 1		56		29	٠.	7.00

BISHOP'S STORTFORD COLLEGE BOWLING.

	Overs	Maider	ıs	Runs	Wicke	ts	Average
J. K. Tee				328	 23		14.26
A. H. Mogford	104.1	 9		348	 24		14.50
R. L. G. Dawson .	118.2	 23		329	 22		14.95
R. F. A. Sharp	107.4	 21		333	 19		17.53

BLUNDELL'S SCHOOL BATTING.

	Innings	Not ou	ts	Runs	His	hest in	ns.	Average
A. G. Norman		 0		393		83		35.72
†A. M. Wynne	10	 0		215		51		21.50
J. G. Beach		 0		247		53		20.58
A. H. C. Walker	12	 1		190		48		17.27
J. C. Crombie	6	 0		102		28		17.00
G. E. Insley		 1		157		59*		15.70
J. E. P. Peirce		 1		56		17*		14.00
B. A. Smith		 . 1		53		24*		13.25
G. C. H. Morant	. 8	 6		24		24*		12.00
E. W. Lloyds	. 9	 2		60	• •	19*		8.57

Public	School	Averages.	
--------	--------	-----------	--

BLUNDELL'S SCHOOL BOWLING.

	Overs	Maidens	Runs	Wickets	Average
A. G. Norman	146.3	 20	 586	 22	 26.63
J. G. Beach			 607	 15	 40.46
G. C. H. Morant	143.1	 17	 632	 25	 25.28

BRADFIELD COLLEGE BATTING.

	Inning	gs N	ot out	ts	Runs	Hi	Average		
P. Paine	17		1		561		112		35.06
R. G. Wilson			5		136		47*		27.20
†C. D. P. Raynor			4		303		47		23.30
A. S. Hunter			0	200	372	3	79		21.88
P. H. Williams			1		288		67*		18.00
J. M. Wilson	17		0		296		68		17.41
A. H. Buckham			1	-	214		66*		13.37
A. G. Tasker			1		171		40*		13.15
F. B. Allpass	12		5		87		21*		12.42
T. I. D. Heathcote	12		1		136		36		12.36
E. C. B. Gilman	10	• •	3		70		28		10.00

BRADFIELD COLLEGE BOWLING.

	Overs	M	Laidens	3	Runs	W	ickets	Average
A. S. Hunter	199.4		39		672		45	 14.93
F. B. Allpass	141		21		507		27	 18.77
C. D. P. Raynor .	216.4		32		730		31	 23.54
E. C. B. Gilman .	142		23		556		13	 42.76

BRIGHTON COLLEGE BATTING.

	Innings		Not outs	Runs	His	ghest in	ns.	Average
R. F. T. Paterson .	15		1	 591		161*		42.21
† A. H. Rea	. 14		0	 394		103		28.14
D. G. Hollebone	12		1	 309		100*		28.09
R. B. Keep	13		0	 301		60		23.15
E. J. Buckley	15		0	 282		52		18.80
W. H. C. Simmonds	6		3	 56		20*		18.66
A. K. Sharp			3	 94		55*		15.66
C. K. Thompson	15		4	 146		24*		13.27
J. Davies	15	٠.	0	 196		51		13.06
V. McD. Hobley	12		2	 107	1000	39*		10.70

BRIGHTON COLLEGE BOWLING.

	Overs	M	Laidens	Runs	Wickets	Average
R. F. T. Paterson	217.5		36	 680	 48	 14.16
D. G. Hollebone	191		30	 577	 35	 16.48
A. H. Rea	79		5	 301	 15	 20.06

BROMSGROVE SCHOOL BATTING.

	Innings	No	t out	S	Runs	His	hest in	ns.	Average
J. D. Miller			3		181		54		36.20
D. G. Bhore	9		4		158		49		31.60
A. L. Moore			2		197		54		24.62
J. H. R. Snape	14		1		272		72	- 11	20.92
G. A. Thompson	14		0		247		80		17.64
E. S. J. Brazier	12		0		194		51	2.5	16.16
D. A. Turner	14		0		216		59		15.42
E. E. Key			0		84		40		14.00
P. J. E. J. Hawkes .	14		0		142		60		10.14
A. H. Duder	9		3		49		15		8.16
C. D. E. Turner	9		0		70		27		7.77
T. L. G. Jones	9		2		52		30		7.42
									The state of the s

BROMSGROVE SCHOOL BOWLING.

T. L. G. Jones C. D. E. Turner A. H. Duder	129 .	Maidens 10 20 27	 Runs 550 422 345		Wickets 51 30	 Average 10.78 14.06
					24	 14.37
D. A. Turner	129.4 .	. 24	 406	*, *,	28	 14.50

CAMPBELL COLLEGE, BELFAST, BATTING.

	Innings	Not	outs	Runs	Hi	ghest in	ıs.	Average	
J. H. Lytle			2	 419		66*	\$35 A	22.05	
†S. F. Stewart		100	0	 483		109	0.00	21.95	
R. F. Watson		. 102	2	 334		61		16.70	
W. J. Hurst		COB	1	 300	1 720	44	0	15.00	
T. E. Field		AMOUNT SE	1	 312		51*		14.18	
H. P. K. Franks		1003	2	 254		29		12.09	
G. F. Carter			3	 69		23*		11.50	
D. J. L. Gray	14	2000	5	 100		24		11.11	
J. P. C. Purdon	9		0	 84		19		9.33	
N. L. Plewman	16		4	 105		27		8.75	
					20,000			0.10	

CAMPBELL COLLEGE, BELFAST, BOWLING.

	Overs	N	faidens	Runs	Wickets	Average
D. J. L. Gray			15	 210	 18	 11.66
T. E. Field			73	 847	 63	 13.44
S. F. Stewart			20	 331	 23	14.39
R. F. Watson	326.1		68	 978	 63	 15.52

CHARTERHOUSE SCHOOL BATTING.

	Inning	s No	t outs	3	Runs	Hi	ghest in	nns.	Average
J. M. Lomas			1		476		125		52.88
J. L. Field			1		532		93		44.33
C. P. Diver			4		162		53		32.40
†P. L. Richards			1		382		141	·	31.83
W. L. Paynter			1		209		48		29.85
R. M. Hollis		8	2		183		60		22.87
H. G. Reynolds			1		181		84		22.62
J. Shelley		12.	1		66		39		22.00
R. F. B. Power		4.4	1		81		23		16.20
R. T. P. Wilson	10		1		145		38*		16.11
T. H. Carson		1	0.		45		21		15.00
M. Tuckwell	. 5		1.	/	43		16		10.75

612	F	uouc	Scho	ot A	verages	•						
DENSTONE COLLEGE BATTING.												
	DENST	ONE	COL	LEG	E BAT	LILI	NG.					
	Inning	s N	ot out	S	Runs	His	ghest inns	3.	Average			
T. A. Kemp	18		1		756		87		44.47			
T M S Burrow	18		2		600		204*		37.50			
†P. W. G. Sutton	17		1		458		65		28.62			
A. F. Campbell.	11		2		245		108*		27.22			
G. G. J. Mart	15		4		210		44		19.09			
G. G. J. Mart T. D. Lockwood	10		4		95		19		15.83			
M. P. Smith	16		1		237		32		15.80			
R. H. Pegler	6		2		59		18		14.75			
T. A. M. Bayly	7		4		38		11*		12.66			
T. A. M. Bayly W. H. P. Burrov	v 13		1		138		34		11.50			
P. M. White	6		2		32		9	• •	8.00			
						-						
	DENST	ONTE	COT	TEC	E BOI	X/T T	NC					
		ONE	COL	LEG.	E DO	W III.	Wi-lasta		A ware as			
	Overs	M	aiden		Runs		Wickets 23		Average			
G. G. J. Mart	61		3		312	• •	30		13.56 15.93			
J. M. S. Burrow	186.5		39	• •	478 864		46	• •	18.78			
T. A. Kemp T. D. Lockwood	180		13	• •	406		21	٠.	19.33			
T. D. Lockwood	134	• •	$\frac{31}{26}$	• •	282		12		23.50			
T. A. M. Bayly	110	٠.	20		404	٠.	12	• •	20.00			
							-					
	DOVI	ER C	OLL	EGE	BATT	INC	1 .					
	Innin		ot out	a	Runs	Hi	ghest inn	S.	Average			
G. F. Hatton	10	50	2		176		38		22.00			
†P. D. Gange			2		227		71*		20.63			
I. D. White			2		206		108		18.72			
L. D. White P. M. D. Bell	10		4		108		28*		18.00			
G. H. Clarke	15		1		245		44	1	17.50			
W. R. Barrett			Ô		262		67		17.46			
J. D. Duder			2		137		28*		13.70			
D Langston-Jo	nes . 15		0		155		45		10.33			
C. H. Bradford	14		0		140		44		10.00			
B. M. B. Coats	10		2		71		27		8.87			
G. S. Parsons	10		3		57		20		8.14			
							-					
	DOTT	an o	OTT	EOE	DOW	TAT	a					
					BOW							
	Overs		Laiden	S	Runs		Wickets		Average			
L. D. White	82.		8		277		23		12.04			
G. S. Parsons .	193.		36		572		38	• •	15.05			
G. F. Hatton	109	• • •	22		376		24	٠.	15.66			
P. M. D. Bell	128.	3	15		451		19		23.73			
	DOWN	TST	E SC	HOO	T. BAT	PTT	JG.					
	Innin		Not ou		Runs		ighest inn	a	Average			
J. M. H. Pollen	16		0	LS	332		67		20.75			
J. M. H. Pollen	16		1				56		16.06			
m. D. Turnbull	12		0	- : :	182		53		15.16			
A. D. Turnbull T. R. Turnbull R. P. Pinsent	16		0	::	242		53		15.12			
D S Smith	16				183		46		14.07			
P. S. Smith †C. G. B. Bell .	16		2		152		53*					
D. P. L. Da Cos	sta 13		9		43		10*		10.75			
M. B. O'Connor			1		160		33		10.66			
R. T. Addingto			î		126	19.11	26		10.50			
R. T. Addingto R. J. D. Leeper	13		3		93		24		0 00			
F. H. Mortimer	14		í		112		25		8.61			
R. B. Bisgood			ō		22		15		7.33			
-v				10.0								

DOWNSIDE SCHOOL BOWLING.

	Overs	Laidens	3	Runs	Wickets	Average
J. M. H. Pollen	86.3	 11		360	 19	 18.94
C. G. B. Bell		 23		491	 20	 24.55
R. J. D. Leeper		14		340	 12	 28.33
P. S. Smith	112.4	 17		413	 13	 31.76

DULWICH COLLEGE BATTING.

	Innings	3	Not outs	3	Runs	Hi	ghest in	ıs.	Average
†C. A. Holliman			. 4		409		106		45.44
K. G. C. Campbell .			3		419		95		38.09
J. G. Haycock			3		400		100*		36.36
R. J. Knight			2		239		54		26 55
N. E. Denby			1		66		41*		22.00
G. L. Beaumont	14		0		298		77		21.28
M. S. F. Thornton	12		3		173		42		19.22
H. D. Jones	12				169		68		16.90
J. G. Chiverall			2		64		26*		16.00
S. C. Silkin	5		2		46		13		15.33
K. V. Seale	4		2		15		10*		7.50

DULWICH COLLEGE BOWLING.

Overs		aiden	S	Runs	W	ickets	Average
S. C. Silkin 111.1		12		408		25	 16.32
C. A. Holliman 167		21		635	- 1	30	 21.16
J. G. Chiverall 90.1		16		326		13	 25.07
G. L. Beaumont 115		15		426		16	 26.62
K. G. C. Campbell . 152.3	3	25		538		19	 28.31

DURHAM SCHOOL BATTING.

	Innings	Not outs	-	Runs	Hi	ghest in	ıs.	Average
J. E. I. Grey	9	 1		222		73*		27.75
W. W. Ayton	10	 2		209		66		26.12
D. J. P. Scott	12			245		42		22.27
†J. A. Brett	11	 0		216		86		19.63
W. R. Buttle		 -		184		33		16.72
A. J. Bailey		 -		212		52		16.30
P. A. Johnson	11	 -		118		24		13.11
E. W. Davies	8			67		17		9.57

DURHAM SCHOOL BOWLING.

	Overs	1	Maidens	Runs	Wickets	Average
J. E. I. Grey	77.1		11	 264	 22	 12.00
R. I. Pitt	. 144		35	 469	 24	 19.54
W. W. Ayton			19	240	 12	 20.00
J. A. Brett	. 127		28	 390	 18	 21.66
D. J. P. Scott	85,5	3.3	16	 323	 14	 23.07

Public S	chool 1	Averages.
----------	---------	-----------

EASTBOURNE COLLEGE BATTING.

	Inning	s N	Tot outs	Runs	Hi	ghest inr	ıs.	Average
†G. F. Hepburn	13		1	 458		118		38.16
J. W. Jackson	13		. 4	 316		77*		35.11
D. M. Harris	12		1	 296		78		26.90
E. L. A. Folker	13		0	 276		68		21.23
J. A. F. Sewell			0	 251		61		20.91
P. N. Dickson			0	 225		75		17.30
J. D. G. Craib			1	 140		65		14.00
I. M. Loder	8		3	 65		18*		13.00
G. S. Tothill	5		3	 25		11*		12.50
H. E. B. Pilbrow .	9		0	 106		37		11.77
P. G. Wilson	12		0	 106		41		8.83

EASTBOURNE COLLEGE BOWLING.

	Overs	M	aiden	S	Runs	Wickets	Average
G. S. Tothill	36.4		3		191	 14	 13.64
P. G. Wilson	76.4		9		288	 14	 20.57
I. M. Loder			44		557	 24	 23.20
R. J. G. Philcox			24		571	 21	 27.18
J. D. G. Craib	160		20		545	 20	 27.25

EDINBURGH ACADEMY BATTING.

	nnin	gs No	ot out	ts	Runs	Hi	ghest in	ns.	Average
R. B. Bruce Lockhart	17		3		570		106*		40.71
C. M. G. Herriot	.20		3		545		120*		32.05
W. R. Norman	20		2		487		117*		27.05
J. A. Stevenson	20		1		437		100		23.00
G. D. Bonner	15		3		250		58		20.83
W. W. Ballantyne .	14		6		150		28*		18.75
D. S. Kennedy	16		1		270		62		18.00
R. I. Alexander	10		2		131		43	200	16.37
K. J. Dunlop	19		0		190		33		10.00
C. W. A. Falconer	12		3		90		30		10.00

EDINBURGH ACADEMY BOWLING.

	Overs	M	aidens	Runs	Wickets	Average
R. B. Bruce Lockhart		2	27	 445	 40	 11.12
J. A. Stevenson			41	 651	 52	 12.51
C. R. Dunlop			38	 524	 37	 14.16
			33	 552	 38	 14.52
C. M. G. Herriot	197.2		38	 613	 30	 20.43

EMANUEL SCHOOL BATTING.

	Inning	s No	ot out	S	Runs	His	thest in	ins. ছ	Average
	 17		3		288		50	10.0	20.57
W. S. Surridge	 16		1		255		77		17.00
J. D. Royal	16		1		238		62		15.86
S. G. Standing	18		1		231		40		13.58
J. L. Darnell	7		4		53		20		17.66
L. A. Pepper	8		0		84		29		10.50
E. G. Pople	 12	* *	1	* * /	98		31		8.90

EMANUEL SCHOOL BOWLING.

	vers	M	aidens	Runs	V	Vickets	Average
W. L. Page 1	184		38	 693		40	 17.32
J. D. Royal 1			26	 458		18	 25.44
	97	• •	10	 428		17	 25.17
E. G. Pople	66		7	 332		18	 18.44

EPSOM COLLEGE BATTING.

	Inning	gs I	Not out	S	Runs	Hi	ghest in	ns.	Average	
J. W. G. Evans	15		2		267		57		20.53	
P. H. Thompson	15		0		302		54		20.13	
P. Smith	15		0		224		71		14.93	
D. W. Higson	15		0		221		52	- 11	14.73	
P. A. Smith	. 9		0		132		44		14.66	
J. L. Ballantyne	15		0		218		40		14.53	
R. F. Paddison	6		0		86		39		14.33	
R. G. W. Moore	11		1		126		46		12.60	
I. N. Darbyshire	15		0		186		38		12.40	
T. M. L. Price	14		2		144		23	- 11	12.00	
C. L. T. McClintock	14		6		63		28*		7.87	
R. A. B. Kinloch	3		1		15		7		7.50	

EPSOM COLLEGE BOWLING.

	Overs	N	Laiden	S	Runs	Wickets		Average
I. N. Darbyshire	72.5		6		254	 15		16.93
J. C. G. McVail			14		541	 31		17.45
J. W. G. Evans			14		209	 11		19.00
J. L. Ballantyne	70		6		271	 12		22.58
			41		782	 34		23.00
P. H. Thompson	116.5		17		414	 15		27.60
C. L. T. McClintock P. H. Thompson	223				782	34	::	23.00

ETON COLLEGE BATTING.

E 10E 0	Innin	gs N	ot out	s	Runs	Hi	ghest in	ns.	Average
N. K. G. Campbell	10		6		210		52*		52.50
†A. N. A. Boyd	12		0		606		153		50.50
F. G. Mann			4		242		57*		34.57
Hon. N. H. Villiers .	12		0		396		83		33.00
J. P. Mann	6		3		85		28*		28.33
M. D. P. Magill	13		1		269		70		22.41
R. C. L. Pilkington	10		0		215		71		21.50
G. H. Dixon	13		1		245		70		20.41
B. M. Fisher	10		2		134		54		16.75
A. J. S. Cassavetti	7		0		111		29		15.85
V. L. Wild	5		2		35		16		11.66
W. R. Rees-Davies .	4		1		23		13		7.66

ETON COLLEGE BOWLING.

	vers	M	aidens		Runs		Wickets		Average
W. R. Rees-Davies .	164.4		43		435		23		18.69
N. K. G. Campbell.	89	• •	14		282		15		18.80
V. L. Wild M. D. P. Magill	87	• •	34		279	• •	13	• •	21.46
	170		45		303 464		12	• •	25.25
	110.2	• •	20	• •	472	• •	18 14	• •	25.77 33.71
	110.5		U		#14		1.4		00.11

FELSTED SCHOOL BATTING.

	Innings	Not outs	3	Runs	Hig	hest in	ns.	Average
G. A. Baylis	13	 5		309		79		38.62
A. N. Gardiner	14	 0		454		98		32.42
†D. M. Matthews	13	 0		412		73		31.69
S. H. Bullough	14	 1		295		92		22.69

FELSTED SCHOOL BOWLING.

	Overs	N	Iaiden	S	Runs	Wickets			Average	
S. H. Bullough	 183		18		600		42		14.28	
D. M. Matthews	 216		46		640		33		19.39	
H. M. H. Ward	 112		14		417		19		21.94	

FETTES COLLEGE BATTING.

	Innings	No	outs	Runs	Highest inns.			Average
J. M. F. Day	19		4	 467		65		31.13
D. S. Carmichael	18		3	 419		72		27.93
H. A. Goodwin	19		3	 397		86		24.81
H. L. Mackinnon	19		2	 403		52		23.70
A. S. Raeburn	10		2	 124		46		15.50
P. McMillan	18		4	 213		40*		15.21
R. J. Forster	21		1	 263		40		13.15
D. D. Mitchell	16		1	 178		35		11.86
J. A. D. Fordyce	13		1	 134		36		11.16
†W. H. Ramsay	17		2	 165		44*		11.00

FETTES COLLEGE BOWLING.

	Overs	M	laidens	Runs		Wickets	Average
D. S. Carmichael	277.2		59	 738		66	 11.18
H. L. Mackinnon	195.4		36	 585	-1	35	 16.71
P. McMillan	143		9	 526		28	 18.78
W. H. Ramsay	177.5		28	 583		29	 20.10

GIGGLESWICK SCHOOL BATTING.

	Innings	Not outs	3	Runs	Hig	hest in	ns.	Average
tL. V. Gallagher	11	 0		356		85		32.36
G. R. Abbs	11	 1		269		50		26.90
G. B. Winney	•	 2		177		45		25.28
B. Pape		 4		159		80*		22.71
J. P. Wright		 1		226		72*		22.60
J. B. Harland		 0		191		62		17.36
R. M. Marshall		 1		120		49		17.14
P. W. Harger		 2		52		33*		10.40
R. E. Foden	_	 0		71		30		10.14
A. C. Baker	4	 1		29		21*		9.66

GIGGLESWICK SCHOOL BOWLING.

	vers	M	aidens	Runs	Wickets	Average
G. R. Abbs			67	 498		 12.14
L. V. Gallagher ,,	191.3	, ,	37	 575	 46	 12.50

GLASGOW	ACIATOTEMENT	TO A PRIMITATO

4812	Innings	N	Tot outs	3	Runs	His	thest in	ns.	Average
†J. D. Hendry			0		260		92		17.33
W. C. McDowall			3		167		41*		16.70
R. Gibb			0		244		61		16.26
J. R. Henderson			1		209		44		16.07
W. D. Hendry			1		114		25		11.40
W. N. B. Loudon			1		146		35		11.23
J. M. Hunter	11		3	٠.	82		24*		10.25

GLASGOW ACADEMY BOWLING.

Over	s Maid	ens	Runs	Wickets	Average
A. M. Macaulay 200			340	 60	 5.66
A. I. Johnston 143		3	233	 33	7.06
J. R. Henderson 105		l	263	 26	10.11
W. D. Hendry 78	1 26	3	205	 19	

GLENALMOND (TRINITY COLLEGE) BATTING

0,0000000000000000000000000000000000000	-0212		CARTA.			011	TATA T	1110	1 •
	Inning	s N	ot out	S	Runs	Hi	ghest in	ns.	Average
P. L. L. Keiller	15		3		345		108*		28.75
J. M. Gregoire	14		0		353		77		25.21
†L. D. Mudie	13		0		312		56		24.00
N. M. Anderson	17		1		332		106		20.75
F. R. J. Williams	17		3		258		58*		18.42
R. E. Salvesen	10		4		78		29	1 (1)	13.00
I. McDowall	14		2		129	1.0	25*	100	10.75
G. M. Milne	16		1		149		42	15.2	9.93
F. M. Ferguson	10	11.5	3		56		15*	- 33	8.00
R. K. I. Kennedy	15		3		93		20		7.75

GLENALMOND (TRINITY COLLEGE) BOWLING.

	Overs	Maidens	Runs	Wickets	Average
D. A. Mann		 4	 101	10 .	10.10
	258.5	 28	 865	75 .	11.53
	152.2	 19	 450	29 .	15.51
L. D. Mudie		 9	 289	20 .	14.45
R. Tullis	53.3	 . 3	 178	13 .	13.69

HAILEYBURY COLLEGE BATTING

alle de de de		DCIO.			JULY D	CILL	TTACA.		
	Inning	gs N	ot out	s	Runs	В	ighest in	nns	Average
A. M. Hayfield .	. 16		4		620		105*		51.66
B. R. M. Hayles .	. 14		5		307		72		34.11
D. H. Ridler			2		418		94		32.15
†B. R. Darewski .	. 16		4		340		59		28.33
R. M. Childs	. 17		2		416		68		27.73
P. K. Mayhew	. 15		1		352		65		25.14
S. D. Jones	. 5		0		108		44		21.60
R. J. Purdy	. 18		1		279		54		16.41
C. P. Mayhew			5		98		32*		16.33
P. W. Gale	. 10		1		129		37		14.33
P. H. Annison	. 7		0		83		39		11.85

HAILEYBURY COLLEGE BOWLING.

TO TT. NO. 1	Overs	Maidens	Runs	Wickets	Average
P. K. Mayhew	246.2	 57	 739	 50	 14.78
P. W. Gale	100.4	 - 10	 356	 24	 14.83
A. M. Hayfield	143.4	 19	 472	 27	 17.48
	343.3	 102	 902	 48	18.79
P. H. Annison	53	 11	 200	 10	 20.00

618	Public	School	Averages.	•		
		0.0177.0.0	x 20 1 mm	TATO		
	ARROW					307
Iı	nnings N		Runs	Highest in		Average
W. H. R. Joynson	13	2	509	87		46.27
†J. H. Pawle	14	2	502	93*		41.83
B. D. Carris	15	0	524	118		34.93
E. T. Pelham	13	3		50		33.60 30.82
G. C. Hargrove	7	1 3	185	60	1616	24.25
M. A. C. P. Kaye R. N. Bond	11	3	194 134		• ::	22.33
R. N. Bond	8	$\begin{array}{ccc} 2 & \cdots \\ 2 & \cdots \end{array}$	217			21.70
	12 · · · 14 · · ·	2	244	56		20.33
G. A. Stogdon A. H. C. Duveen		i		11		7.00
A. H. C. Duveen	6	1				
TT A	ARROW	COHOC	T POWI	ING		
				Wicket		Average
		aidens	Runs			16.39
R. N. Bond	159.1	28 30	459 648			
A. H. C. Duveen	185	30 18		18		28.05
G. A. Stogdon	127	18 23		19		33.73
M. A. C. P. Kaye	182.3	20	042	10		00.10
TIT	STICATE	COTTO	OT DAT	TING		
FIL	GHGATE	SUNU	OL DAI	Highest i	n m a	Average
	nnings N	ot outs	Runs 430	Highest i		30.71
	16	2	000			30.08
L. V. Monk	16	0	0 4 0	56		23.93
A. G. A. Turnbull	15 14 13	$\begin{array}{ccc} 0 & \dots \\ 2 & \dots \end{array}$		81		20.75
†G. R. Freathy	19	$\frac{2}{2}$		73		20.72
S. J. Tucker	10	2	000	63*		16.85
J. M. Scott	16	4	200	00		20.00
TIT(NITO AME	COTTO	OT POW	TINO		
	HGATE			LING.		Averege
O	vers M	laidens	Runs	Wicket		Average
A. S. Maclure	overs M 203	aidens 27	Runs 748	Wicket 30		24.93
A. S. Maclure	overs M 203 142.3	$\begin{array}{c} \text{(aidens)} \\ 27 \\ 3 \\ \end{array}$	Runs 748 780	30 28		24.93 27.85
A. S. Maclure A. E. Barlow G. Newton	overs M 203 142.3 99	27	Runs 748 780 482	Wicket 30 28 16		24.93 27.85 30.12
A. S. Maclure A. E. Barlow G. Newton L. W. West	Overs M 203 142.3 99 72.2	1aidens 27	Runs 748 780 482 344	Wicker 30 28 16 11	::	24.93 27.85 30.12 31.27
A. S. Maclure A. E. Barlow G. Newton L. W. West	Overs M 203 142.3 99 72.2	1aidens 27	Runs 748 780 482 344	Wicker 30 28 16 11 EDON, B	:: :: ATTI	24.93 27.85 30.12 31.27
A. S. Maclure A. E. Barlow G. Newton L. W. West	Overs M 203 142.3 99 72.2 EGE SCI	(aidens 27 3 9 7 HOOL,	Runs 748 780 482 344 WIMBLI	Wicker 30 28 16 11 EDON, B	:: :: ATTI	24.93 27.85 30.12 31.27
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL	Overs M 203 142.3 99 72.2 EGE SCI nnings N	Taidens 27 3 9 7 HOOL, Tot outs	Runs 748 780 482 344 WIMBLI Runs	Wicker 30 28 16 11 EDON, B Highest i 68	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young	Overs M 203 142.3 99 72.2 EGE SCI nnings N 16	Taidens 27 3 9 7 HOOL, Tot outs	Runs 748 780 482 344 WIMBLI Runs 398 308	Wicker 30 28 16 11 EDON, B Highest i 68 79*	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson	Overs M 203 142.3 99 72.2 EGE SCI mings N 16	100L, fot outs 0 3 3 3	Runs 748 780 482 344 WIMBLI Runs 398 308 221	Wicker 30 28 16 11 EDON, B Highest i 68 79 4	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves	203 142.3 99 72.2 EGE SCI nnings N 16 18 17 17	100L, fot outs 0 3 3 3	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242	Wicker 30 28 16 11 EDON, B Highest i 68 79*	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12
A. S. Maclure A. E. Barlow G. Newton L. W. West The property of the control of t	Novers M 203	100 L, Tot outs 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242	Wicket . 30 . 28 . 16 . 11 EDON, B Highesti . 68 . 79* . 55 . 665*	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44
A. S. Maclure A. E. Barlow G. Newton L. W. West The property of the control of t	Novers M 203	HOOL, fot outs 0	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242 242 185	Wicket 30 28 16 11 EDON, B Highest i 68 79 55 65 38 53	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21
A. S. Maclure A. E. Barlow G. Newton L. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London	New Process Margin 203 142.3 199 72.2 EGE SCI nnings Name Name Name 16 18 17 18 14 14	HOOL, fot outs 0	Runs 748 780 482 344 WIMBLI Runs 398 201 242 242 242 185	Wicket . 30 . 28 . 16 . 11 EDON, B Highest i . 68 . 79 . 55 . 66 . 38 . 38	ATTI nns.	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 13.10
A. S. Maclure A. E. Barlow G. Newton L. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London	New Process Margin 203 142.3 199 72.2 EGE SCI nnings Name Name Name 16 18 17 18 14 14	HOOL, fot outs 0	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242 185 131	Wicket . 30 . 28 . 16 . 11 EDON, B Highest i . 68 . 79 . 55 . 65 . 65 . 38 . 38 . 38	ATTI	24.98 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 13.10 10.52
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey	Dvers M 203 142.3 99 72.2 EGE SCI nnings N 16 18 17 17 18 14 14 18	HOOL, fot outs 0 . 3	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242 242 185 131 179	Wicket 30 28 16 11 2DON, B Highest i 55 68 794 38 55 55 55 38 38 38	ATTI nns.	24.98 27.85 30.12 31.27 NG. Average 24.87 20.58 15.78 15.12 13.14 13.21 13.10 10.52 10.00
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle	Dvers M 203 142.3 99 72.2 EGE SCI nnings N 16 17 18 17 18 14 18 14 18 17 18 17 18 17	100L, 100	Runs 748 748 780 482 344 WIMBLI Runs 398 308 221 242 242 185 131 179 40	Wicket	ATTI nns.	24.98 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 13.10 10.52 10.00 9.60
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie	Dvers M 203 142.3 99 72.2 EGE SCI mnings N 16 18 17 17 18 14 14 14 15 17 18 19 19 10	Caidens 27 3 9 7 1 1 1 1 1 1 1 1 1	Runs 748 780 482 844 WIMBLI Runs 398 308 221 242 242 185 131 179 40	Wicket	ATTI nns.	24.98 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 10.00 9.60 9.33
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie J. G. Lansdale	vers M 203 203 142.3 99 72.2 EGE SCI nnings N 16 17 18 17 18 14 14 18 17 114 18 17 19 10	A	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242 242 185 131 179 40 144 40 144 148	Wicket 30 28 31 16 31 2DON, B Highest i 55 68 53 38 33 32 30 22 20	ATTI	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 13.10 10.52 10.00 9.60 9.33 8.00
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie	Dvers M 203 142.3 99 72.2 EGE SCI mnings N 16 18 17 17 18 14 14 14 15 17 18 19 19 10	Caidens 27 3 9 7 1 1 1 1 1 1 1 1 1	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242 242 185 131 179 40 144 40 144 148	Wicket	ATTI nns.	24.98 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 10.00 9.60 9.33
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie J. G. Lansdale R. A. Cromarty	vers M 203 203 142.3 99 72.2 EGE SCI nnings N 16 18 17 18 14 18 14 14 15 16 17 11 11 11 11 11 11 11 11 11 11 11	Caidens 27 3 9 7 1 .	Runs 748 780 482 344 WIMBLI Runs 398 201 242 242 185 131 179 40 144 8 44 72 73	Wicket	ATTI nns.	24.95 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 10.00 9.60 9.33 8.00 7.30
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie J. G. Lansdale R. A. Cromarty KING'S COLLE	Dvers M 2003 142.3 99 72.2 EGE SCI nnings N 16 18 17 17 18 14 18 14 11 12 11 12 11 12 11 12 11 12 11 12 13 14 15 16 17 18 18 19 10 11 EGE SCI	Additional	Runs 748 780 482 384 WIMBLI Runs 398 308 221 242 242 185 131 179 40 144 84 72 73	Wicket	ATTI nns.	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 10.00 9.60 9.33 8.00 7.30
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie J. G. Lansdale R. A. Cromarty KING'S COLL	Decision Margin	Address	Runs 748 780 482 384 WIMBLI Runs 398 308 221 242 242 185 131 179 40 144 84 72 73	Wicker 30 28 28 21 20 20 20 20 EDON, B	ATTI nns.	24.93 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.41 13.21 10.52 10.00 9.60 9.33 8.00 7.30 ING.
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie R. A. Cromarty KING'S COLL A. M. Mackie	Vers M 203 203 142.3 99 752.2 EGE SCI nnings N 16 17 18 17 18 14 17 18 14 19 11 11 11 11 12 10 11 EGE SCI Overs M 71	Acceptable Color	Runs 748 780 482 344 WIMBLI Runs 398 308 221 242 242 185 131 179 40 144 72 73 WIMBLI Runs	Wicker 30 28 31 28 31 29 31 20 31 20 31 30 31 31 31 31 31 31 31 31 31 31 31 31 31	ATTI nns.	24.93 27.85 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 10.00 9.60 9.33 8.00 7.30
A. S. Maclure A. E. Barlow G. Newton L. W. West KING'S COLL †D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie J. G. Lansdale R. A. Cromarty KING'S COLL A. M. Mackie D. E. Young	Dyers M 203 203 142.3 99 72.2 EGE SCI nnings N 16 17 17 18 17 18 14 18 14 11 12 11 12 11 EGE SCI Overs M 71 232	Accordance	Runs 748 780 482 384 WIMBLI Runs 398 308 221 242 185 131 179 40 40 144 84 72 73 WIMBLI Runs 308 84 85 85	Wicker 300 28 311 28 311 25 20 31 30 31 30 31 31 31 31 31 31 31 31 31 31 31 31 31	ATTI nns.	24.93 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.21 13.21 10.52 10.00 9.33 8.00 7.30 ING. Average 16.20
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle A. M. Mackie J. G. Lansdale R. A. Cromarty KING'S COLL A. M. Mackie D. E. Young H. F. Kendle	Decision March M	Accordance	Runs 748 780 482 384 WIMBLI Runs 398 308 221 242 242 242 440 185 131 179 40 144 84 72 73 WIMBLI Runs 324 825 626	Wicker	ATTI nns.	24.93 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.21 13.21 10.52 10.00 9.33 8.00 7.30 ING. Average 16.20
A. S. Maclure A. E. Barlow G. Newton L. W. West T. W. West T. D. E. Young P. J. Dickinson S. G. Wise H. T. B. Ryves D. R. Stokes E. Dann K. S. London D. A. Wise H. D. Halsey H. F. Kendle J. G. Lansdale R. A. Cromarty KING'S COLL A. M. Mackie D. E. Young H. F. Kendle D. E. Young H. F. Kendle	Decision March M	Accordance	Runs 748 780 482 384 WIMBLI Runs 398 308 221 242 242 185 131 179 40 144 84 87 73 WIMBLI Runs 324 835 636 636	Wicket	ATTI nns.	24.93 30.12 31.27 NG. Average 24.87 20.53 15.78 15.12 13.44 13.21 10.00 9.33 8.00 7.30 VING. Average 16.20 18.97 21.58

KING EDWARD'S SCHOOL, BIRMINGHAM, BATTING.

	Inning	3	Not outs		Runs	Hig	thest in	ıs.	Average
B. N. Seymour	. 13		1		304		42		25.33
E. F. Twiss	. 13		3		224		64		22.40
J. P. Beale	. 13		1		210		80*		17.50
J. S. Danby	. 12		3		150		28*		16.66
R. J. Garratt			1		98		27		16.33
G. K. F. Holden			0		201		39		14.35
†J. D. Grice			1		171		37	9.7	13.15
P. A. T. Pinder	. 14		0		151		36	3.6	10.78
R. M. W. Wood .			3		98		15*		9.80
S. E. C. Lait	. 12		6	٠.	51		15*		8.50

KING EDWARD'S SCHOOL, BIRMINGHAM, BOWLING.

	Overs	M	laidens	3	Runs	Wickets		Average
P. A. T. Pinder	198		44		504	 42		12.00
J. P. Beale			27		437	 27		16.18
R. J. Garratt		****	26		279	 16	, .	17.43
R. M. Wood			21		318	 15		21.20
B. N. Seymour	97		9		286	 12		23.83

KING'S SCHOOL, BRUTON, BATTING.

	Innings	No	t outs	Runs	Hi	ghest inn	s.	Average
F. W. Mason	15		5	 585		114*		58.50
J. E. Phillp	13		2	 390		129*		35.45
L. D. Wilson			1	 285		81*		23.75
R. R. Riddell	13		1	 260		70		21.66
G. G. L. Hebden	13		1	 233		57		19.33
M. D. I. Gass	12		0	 221		91		18.41
S. A. C. Trestrail	11		2	 162		51*		18.00
D. B. McMorland	7		3	 64		25*		16.00
A. C. Snell	7		1	 56		13		9.33
L. E. T. Capel	9		4	 35	٠.	14		7.00

KING'S SCHOOL, BRUTON, BOWLING.

	Overs	M	laidens	3	Runs	Wickets	Average
	. 163		21		585	 28	 20.89
G. G. L. Hebden	. 144		15		571	 27	 21 14
J. E. Phillp	. 84.2		11		328	 15	 21.86
F. W. Mason	. 103.2		10		405	 15	 27.00

KING'S SCHOOL, CANTERBURY, BATTING.

	Inning	g .	Not outs		Runs	Hi	ghest in	ns.	Average	
†P. M. Jervis	14		0		598		144		42.71	
R. H. Gower	14		4		296		84		29.60	
P. I. Hill			2		54		22*		27.00	
F. E. H. Lovelace			2		208		60		26.00	
D. D. Rennie			0		314		83		24.15	
J. J. Parsons			1		199		34		18.09	
C. H. S. London	14		0		251		50		17.92	
C. W. Donaldson	5		3		26		11*		13.00	
J. H. Battiscombe	9		0		72		39		8.00	
T. E. Sampson	9		0	* *	66		14		7.33	

KING'S SCHOOL, CANTERBURY, BOWLING.

Overs	N	Iaiden	S	Runs	Wickets	Average
P. M. Jervis 127		29		430	 36	 11.94
F. E. H. Lovelace 107.2		23		411	 19	 21.63
J. H. Battiscombe 193.5		30		628	 29	 21.65

KING'S SCHOOL, ELY, BATTING.

	Runs	S	ot out	gs No	nning	1
524 101* 40.30	524		4		17	A. C. Genders
300 55* 27.27	300		3		14	J. G. Gill
77 46 25.66	77		1		4	C. Ream
208 32* 20.80	208		4		14	J. P. Maeers
81 32* 16.20	81		1		6	
154 34 15.40	154		1		11	
						B. A. Wynyard-
212 48 15.14	212		0		14	
117 46 14.62	117		0		8	
28 26* 14.00	28		1		3	
28 13* 9.33	28		3		6	
49 26 8.16			2		8	A. F. Upton
154 34 15.40 212 48 15.14 117 46 14.62 28 26* 14.00 28 13* 9.33 9.33	154 212 117 28 28		0 0 1 3	::	11 14 8 3 6	J. Street †R. H. Lloyd B. A. Wynyard Wright J. M. Beloe R. White J. Tharp A. F. Upton

KING'S SCHOOL, ELY, BOWLING.

	Overs	M	aiden	S	Runs	Wickets	Average	
A. F. Upton	103		30		201	 19		10.57
A. R. Westerman	161		33		492	 30		16.40
J. P. Maeers	70		12		258	 13		19.84
B. A. Wynyard- Wright	. 81		5		303	11		27.54

KINGSWOOD SCHOOL BATTING.

	Inning	s No	Not outs			Hig	hest in	Average	
G. S. Parker	12		0		242		61		20.16
†D. H. Harris	12		0		235		55		19.58
C. L. R. Sandford			0		215		63		17.91
G. W. Studley			0		197		42		17.90
G. S. Jones			2		160		35*		16.00
E. J. Dunstan			4		54		15*		10.80
J. W. Lund			1		118		31		10.72
D. C. Wright			1		110		24		10.00

KINGSWOOD SCHOOL BOWLING.

	Overs 1	Laidens	Runs	Wickets	Average	
D. K. Parker	96	24	225	25	 9.00	
D. H. Harris	108	25	257	23	 11.17	
A. R. Sandford	88.3	21	251	18	 13.94	
C. A. Fitch	89	14	364	17	 21.41	

LANCING COLLEGE BATTING.

	Inning	s N	ot out	s	Runs	Hi	ghest in	ns.	Average
C. R. Heycock	14		2		346		72		28.83
†D. C. J. Manners	12		2		287		95		28.70
C. S. Hatfield	14		0		332		93		23.71
J. G. N. Browne	12		0		248		56		20.66
D. W. H. Eves	11		1		191		56		19.10
A. C. L. Ackroyd-									
Stuart	10		1		159		45		17.66
J. H. Wedgwood	14		1		222		68		17.07
J. D. W. Millar	9		4		75	2020	20*		15.00
W.O. Lane			3		78		16		11.14
A. F. Salt			1	1414	88		39*		11 00
J. P. Knight	9		1		78		26		9.75

LANCING COLLEGE BOWLING.

A. C. L. Akrovd-	N	faidens	 Runs	Wickets	Average
Stuart 85.1		9	 298	 21	 14.19
D. C. J. Manners 198.3		28	 572	 26	 22.00
W. O. Lane 118		16	 366	 18	 20.33
J. D. W. Millar 202.2		29	 615	 23	 26.73
J. P. Knight 119		29	 376	 14	 26.85

LEEDS GRAMMAR SCHOOL BATTING.

	Innings	3	Not outs	Runs	Hi	ghest inr	ıs.	Average
†D. A. Shepherd			5	 630		119*		70.00
J. R. Atkinson			1	 212		42		21.20
A. N. B. Sugden			3	 140		37*		20.00
A. Rakusen	. 12		2	 124		30*		12.40
E. Webster	. 10		2	 98		25		12.25
W. H. Wormald	. 10	٠.	0	 87		41	٠.	8.70

LEEDS GRAMMAR SCHOOL BOWLING.

	Overs	M	[aiden	S	Runs	V	Vickets	Average
E. C. Smith			33		407		27	 15.07
D. A. Shepherd .	. 124		23		379		20	 18.95
R. F. Jones	. 106.3		19		393		19	 20.68
R. G. Capes	. 205.1		48		486		22	 22.09

LEYS SCHOOL BATTING.

	Innings	No	ot out	ts	Runs	B	lighest i	nns.	Average
A. S. Kelshall	. 20		1		533		66		27.05
W. B. Lauder	. 20		0		447		114		22.35
A. B. Jordan	. 20		2		349		55*		19.38
W. E. S. Lees	. 7		1		113		40		18.83
†H. E. M. Leigh	. 20		0		367		66		18.35
F. W. Wood	. 7		0		121		63		17.28
G. J. Myers	. 8		0		129		47		16.12
E. M. Farrington	. 19		4		124		36		8.26
J. P. Hudson	. 19		0		146		39		7.68
C. E. West	. 14		2		92		33*		7.66

Public School A	lverages.
-----------------	-----------

LEYS SCHOOL BOWLING.

	Overs	I	Iaidens		Runs	Wickets	Average
W. W. Park	198.2		25		757	 40	 18.92
H. E M. Leigh			13		361	 18	 20.05
	131.1	• •	15		415	 20	 20.75
A. B. Jordan A. S. Kelshall		• •	16		406	 18	 22.55
A. S. Keishali	93	• •	13	٠.	237	 10	 23.70

LORETTO SCHOOL BATTING.

3	Inning	gs N	ot out	S	Runs	His	ghest in	ns.	Average
H. S. Gillies	18		2		480		96*		30.00
†R. Hope Robertson	20		4		389		80*		24.31
T. G. Coverdale			6		284		53*		23.66
M. V. Gray	19		3	1 5 3	351	Wat I	92		21.93
H. L. Haigh	19		0		360		64		18.94
M. M. Little			0		167		39	11	12.84
L. G. S. Sanderson	10		2		99		32		12.37
S. P. Whitley			0		98		21		9.80
T. B. Binns	10		0		92		25		9.20

LORETTO SCHOOL BOWLING.

	Overs	M	laiden	S	Runs	Wickets	Average
R. Hope Robertson	40		2		190	 12	 15.83
L. G. S. Sanderson	142		27		416	 25	 16.64
M. V. Gray			33		458	 23	 19.91
M. R. C. Gillespie			34		665	 26	 25.57
A. G. Lee	. 113		11		535	 17	 31.47

MALVERN COLLEGE BATTING.

A Transact	Inning	gs	Not out	S	Runs	Hi	ghest in	ıs.	Average
J. O. Moss	13		3		387		107*		38.70
J. R. Ross			0		470		93		33.57
†M. A. C. S. Cope	12		2		304		64		30.40
P. T. Hamp	12	5.4	2		262		51*		26.20
B. Greatbatch	12		0		296		89		24.66
A. H. Brodhurst	12		0		272		42		22.66
P. H. Willis-Dixon	9	٠.	3		130		45		21.66
S. F. G. Tolkien			0		138		54		17.25
R. H. Maudsley	10		. 1		143		57		15.88
B. E. W. Henson			4		65		12		13.00
F. L. Rogers	5		3		19		10		9.50

MALVERN COLLEGE BOWLING.

T	Overs	M	aidens	Runs	Wickets	Average
J. R. Ross			5	 250	 12	 20.83
M. A. C. S. Cope			19	 468	 20	 23.40
P. H. Willis-Dixon	176		19	 761	 30	 25.36
A. H. Brodhurst	150		13	 679	 18	 37.72

MARLBOROUGH COLLEGE BATTING.

T. YY	Inning	s I	Not out	S	Runs	Hi	ghest in	ns.	Average
R. Heyland	10		0		413		96		41.30
P. M. Whitehouse	14		4		355		78		35.50
M. W. Harbottle	15		5		302		72		30.20
†G. E. Hewan	14		0		407		106	• • •	29.07
J. D. L. Dickson	15	8	0		371		90		24.73
R. C. Fletcher	13		1		249		51	• •	20.75
M. P. Cheales	15		ō		297		94	• •	19.80
J. C. N. Westwood	14		4		165		40	• •	16.50
N. E. Hooper	14		ō		228		63		16.28
M. L. O'Regan	15		- 3		172	•	46		
H. G. Jelf			4		30		9*	• •	14.33
	- 25		*		90		9.		10.00

MARLBOROUGH COLLEGE BOWLING.

T D T Distance	Overs	M	laidens	Runs	Wickets	Average
J. D. L. Dickson	210		50	 714	 44	 16.22
M. L. O'Regan	74		5	 318	 15	 21.20
P. M. Whitehouse			39	 703	 31	 22.67
J. C. N. Westwood	198		20	 754	 31	 24.32
G. E. Hewan	184		31	 730	 20	 36.50

MERCHANT TAYLORS' SCHOOL BATTING.

	Innings	N	ot outs	Runs	His	ghest inr	ıs.	Average	
J. M. Barnes	12		1	516		156*		46.90	
A. C. Harrison	11		3	274	0.7	68*		34.25	
K. F. Camp	12		0	389		63	13.00	32.41	
J. D. Gibbon	8		1	151	11	40	Table	21.57	
J. Price	8		2	103		39*	-	17.16	
K. S. Price	4		2	32		16*		16.00	
W. R. A. Balkwill	10		2	116		36*		14.50	
R. A. S. Ward	3		0	34		17		11.33	

MERCHANT TAYLORS' SCHOOL BOWLING.

J. Price	Overs	M	Laidens	Runs		Wickets	Average
J. M. Barnes			2	 141	٠.	10	 14.10
J. D. Gibbon	156 9	• •	34 27	 556		22	 25.27
	100.2		41	 618		18	 34.33

MERCHISTON CASTLE SCHOOL BATTING.

†M. G. Gummer	Innings	Not outs	Runs	High	est inns	Average
Im. G. Gummer	21 .	. 3	 517		105*	 28.72
A. C. Mathers	14 .		 167		44	 13.91
J. M. Webster D. B. S. Farnie	20 .	. 2			65	 13.05
W. W. Yellowlees	17 .				31	 12.23
T. B. Herd	20 .	. 2			53*	 11.61
1. D. Held	19 .	. 1	 156		30	 8.66

MERCHISTON CASTLE SCHOOL BOWLING.

T. B. Herd	Overs 232	N	faidens 25		Runs 660		Wickets 38		Average 17.36
M. G. Gummer T. D. Forster	285		52		965		52		18.55
J. M. Webster	101 83	• •	21 10	٠.	333 274	• •	16	• •	20.81 24.90
					412		11		24.90

30

624	_				erages.				
MIL	L HI	LL	SCH	OOL	BATT				
Tn	nings	Not	outs		Runs		est inns.		verage
			1						42.83 29.36
			1				107*		23.50
			1						17.50
R. S. S. Toung	11		3						
	8 .		0						16.37 15.58
J. D. Gotch			0						11.75
			0 3						10.20
			2		51			٠.	9.90
			0		99		20		0.00
							~		
MIT	T. H.	T.T.	SCH	OOI	BOW	LIN	À.		9-12-1703-1800
MIL	vers	Mo	idens		Runs	7	Wickets		Average
	vers		24		378		26		14.53
M. G. Harris	102.0		13	O. H	420		23		18.26
W. Murray-Wood .	101	• •	21		420		22		19.09
R. A. Shooter	101	••							
MONK	TOT	COL	TOT?	COL	TOOT. T	RATT	TING.		
MONK!	LON	CON	IDE	BUL	Runs	Hig	hest inns		Average
I	nnings	No	ot outs	3	280		68		23.33
S. J. M. Mills	13		1		297		68*		22.84
+R. D. Wheeler	14		0		141		46		15.66
T H Hewitt	11		0 0		203		37		15.61
W H B Bell	13		0		139		42		15.44
R. W. B. Scutt	9		3		107		34		15.28
T. L. Sole			0		162		52		13.50
G E Spear	12		0		143		35		13.00
P. Collis	13				163		31*		12.53
P. Collis	14				99		23		11.00
R. D. Spear	11		2 4		57		15		8.14
J. D. C. Sixsmith	11		4	• •	01				
		~~~	TOTAL	aaı	TOOT	ROM	TING		
MONK	TON	COL	MBE	201	TOOL .	DO	Wickets		Average
	Overs	M	laiden	S	Luns		27		10.11
J. D. C. Sixsmith	103.5		15		273	3.00	54		11.81
			48		638 386		22		17.54
J. H. Hewitt	124		23		300				
		T. V.			T DAM	TATION	C		
0	RAT	ORY	SCI	TOO	L BAT	TIM	G.		Average
	Inning	zs I	Not ou	its		н	ighter in		00 00
TT M Doron	10		1		532		100	• •	00.04
†K. N. Percy J. W. Codrington			0		377		68 72	::	70 07
B. C. Percy	18		2		310		37*		-0 -0
	17		1		297		91		4 M O 4
T Hortigan	1.6		0		305				00
J. C. Lewenhaupt	18		O		211		67 23* 50 33		4 4 77
D. H. Hamel-Smith	. 10		3	200			50		
D. T. Bellasis	. 10		0			• •	33		-0
J. W. Botting	. 17		4						. 10.77
I. H. Ingram			4		077		14		m 40
J. C. Coulston	. 6		1	, ,	31		_	17.0	E. E
					T TOT	T7T T7	TO		
	RAT	OR	Y SC	HOO	DL BOY	WILL	NG.		Average
	Overs		Maide	ns	Runs	3	AA TOWOR		70 45
To C. Downy	. 280.		F 0				52		17 AE
T M Dorow	. 203.	2	37		. 698				10.00
D T Rollogia	. 178		36				0.0		20.26
J. W. Codrington	. 126.	4	14		. 527		20		. 20.20
J. W. Couring									

	OTIMI	AT IF	SOL	TOOT	BAT	PIN	7		
G D II M Star at	Inning		Tot ou		Runs		ghest inn		Average
C. R. H. M. Stuart.		• •	3		567		119		47.25
D. J. Maw		• •	3	٠.	328		116	٠.	27.33
K. A. Payne	. 14	• •	2	*//*/	317		70	• •	26.41
R. I. Plummer	. 13		0		328		73		25.23
P. H. L. Ling	. 9		1		180		83		22.50
†A. D. Newsholme	. 13		1		263		124		21.91
W. H. Webb			1		63	• •	36		21.00
A. K. Knox	. 7		0		143		51		20.42
K. E. Cowan	. 8		1		89		41		12.71
P. S. Cowen			0		56		30		8.00
R. P. Adkins	. 5		2		23		17		7.66
	OTT	TDI	T 00	TTO 0	X 700		-		
					OL BO	WLI			
C. D. H. M. C.	Overs		Iaiden		Runs		Wickets		Average
C. R. H. M. Stuart.					586		39		15.02
K. E. Cowan			45		599	٠.	24	٠.	24.95
M. F. Llewellyn .	. 86.5		26		288		10		28.80
A. D. Newsholme .	. 142		30	•0•0	488		16		30.50
70525							-		
28.81					E BAT				
	Inning	s N	fot out	ts	Runs	Hi	ghest inn	s.	Average
G. B. Stanger			2		482		130		32.13
J. A. Porter			2		416		72*		
A. P. G. McDowell.	. 17		2		411		75*		27.40
C. A. W. Samuda . N. E. V. Short	. 17		1		421		90		26.31
N. E. V. Short	. 14		1		283		59		21.70
J. F. Willcocks	. 11	1.51	5	T. OT	122		44*		20.33
J. F. Willcocks	. 17	M.d.	0		122 327		97		19.23
M. Bates	. 13	Service .	1	Secret	128		26		10.66
P. B. Craig	. 10		0		99		53	0.0	9.90
	-			-					
No M	RADLE	CY (	COLI	EGI	E BOW	LIN	G.		
	Overs	N	faiden	ıs	Runs		Wickets		Average
	. 234.4		51		780		46		16.95
P. H. Birks	. 57		9		242		12		20.16
D. R. Stavert	. 108		24		367		17		21.58
G. B. Stanger	. 236		46		762		28	* *	27.21
	-								
	REPT	ON			BATT				
	Inning	s N	ot out		Runs		ghest inn	s.	Average
L. A. Barrett	. 15				512				42.66
†A. P. D. Montgome	ry 15		1		365		114		26.07
R. L. Lowcock			1		140		36		23.33
P. C. Ashton			0		283		46		21.76
G. L. Willatt	. 10		0		198		79		19.80
R. M. Bagnall			2		243		57*		
H. S. Seaford	. 10				162		42		18.00
A. G. Murray	. 4		0		59		19		14.75
R. E. Greswell	. 10		4		71		20		11.83
	DIDE	OBT	COTT	001	DOIL	Tare			
					BOWI				
D T C	Overs		laiden	S	Runs		Wickets		Average
R. E. Greswell			18	٠.	306		24		12.75
D. W. Foster	. 230		45	18.14	530	***	29		18.27
H. S. Seaford	. 110		29		261		13		20.07
P. W. S. Coghill .	. 65		7		306		15		20.40
P. C. Ashton	. 113		23		342		14		24.42

#### ROSSALL SCHOOL BATTING.

	Innings	3	Not outs	Runs	Hig	ghest in	ıs.	Average
†H. R. A. Beresford	15		1	 495		81		35.35
F. F. Ellis	15		1	 338		84*		24.14
C. B. Walker	15		1	 260		48		18.57
D. A. Hirsch	. 8		1	 124		39		17.71
A. C. Wood	15		0	 243	• •	85		16.20

#### ROSSALL SCHOOL BOWLING.

	Overs	N	Laidens	3	Runs	Wickets		Average
			47		100000		٠.	11.86
F. F. Ellis	102.3		14		350	 12	• •	29.16

## ROYAL HIGH SCHOOL, EDINBURGH, BATTING.

Innings	N	ot outs		Runs	$\mathbf{H}$	ighest i:	nns	Average
5		2		75		30		25.00
		0		218		78	1000	13.62
		1		168		69		12.00
		1		110		37		10.00
		1		123		28		8.20
13		3	٠.	81		18		8.10
	5 16 15 12 16	5 16 15 12	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$

#### ROYAL HIGH SCHOOL, EDINBURGH, BOWLING.

	Maidens			Runs	Wickets	Average		
K. A. R. Gomez	188.4		73		274	 52		5.26
B. G. Hay	178		34		425	 49		8.67
W. M. Penman			22		128	 14		9.14

# RUGBY SCHOOL BATTING.

	Innings Not outs				Runs	Hi	ghest ini	Average	
P. Kershaw			^		487		107*		34.78
D. E. C. Steel		17.11	1		508		81		31.75
J. Kettle			1		251		52		22.81
A. J. M. Chadwick .			2		295		68*		21.07
+M. M. Walford		1	0		311	* *	102		19.43
R. West	15		5		179		38		17.90
W. G. McIlwraith			3		173		45		15.72
E. S. Boyes			0		231		39		15.40
G. V. S. Hitchins			0		45		25		15.00
I. B. Appleby			1		71		31		10.14

### RUGBY SCHOOL BOWLING.

Ove	rs M	aiden	s	Runs	Wickets	Average
R. West 215	5.2	51		557	 47	 11.85
	3.3	6		193	 12	 16.08
M. M. Walford 197		26		643	 34	 18.91
A. J. M. Chadwick . 176	3.3	33		544	 23	 23.65
J. F. M. Dewar 154	1	26		541	 20	 27.05

## RYDAL SCHOOL BATTING.

STATE OF THE STATE	Innings	No	ot out	S	Runs	Hi	ns.	Average	
H. Burton	20		5		444		171*		29.60
K. P. Griffiths			2		319		67		21.26
D. A. Howarth	17		1		293		40		18.31
G. Wooller			3		323		79*		17.94
J. N. Littler			3		267		59*		17.80
J. G. Costain	15		3		209		59		17.41
†K. D. Downes	17		0		267		69		15.70
A. Butterworth			4		84		35*		12.00
W. J. S. Parker			1		103		35		9.36
W. R. Jenkinson	12		4		71		18		8.87

#### RYDAL SCHOOL BOWLING.

	vers	M:	aidens	Runs	Wickets		Average
W. R. Jenkinson	83.2		8	 338	 21	19000	16.09
J. G. Costain 2	62.4		32	 886	 50		17.72
J. N. Littler 1	29.2		24	 431	 23		18.73
J. K. Radcliffe 1	03		19	 344	 14		24.57
W. J. S. Parker 1	67		36	 464	 18		25.77

## ST. EDMUND'S SCHOOL, CANTERBURY, BATTING

The second secon	Innings	Not	touts	Runs	Hi	ghest in	ns	Average
A. Hickman	14		7	245		72		35.00
J. N. Topham	15		0			55		18.93
†A. G. Long W. T. Armstrong	15		0	266		45		17.73
R. H. Paylor	7.4		0	244	**	40		15.25
R. E. Jesson			1	191 163		32		13.64
	10 .		1	103	0.0	56		13.58

# ST. EDMUND'S SCHOOL, CANTERBURY, BOWLING.

W. T. Armstrong G. Riley F. G. O. Box	51.4	 3	 Runs 615 329 901		Wickets 43 16 42		Average 14.30 20.56 21.45
				5.5		• •	41.10

## ST. EDWARD'S SCHOOL, OXFORD, BATTING

				orten, Diriting.					
4 35 D 11	Innings		Not outs	Runs	Hi	ghest in	ns.	Average	
A. M. Reid	17		1	785		121*		49.06	
†J. Butterworth	18		1	690		110*		40.58	
E. J. H. Dixon	15		0	589		122	• •	39.26	
I. G. Maclaurin	16		2	418		75			
P. Cooke	11		4	189		54	• •	29.85	
E. F. Bennett	16		î	203				27.00	
R. M. A. Lawson	13		0	144		36		13.53	
A. B. Coulthurst	4	::	<u></u>			30		13.09	
A. W. Paton	10		9	45		25		11.25	
R. W. W. Howell	10	• •	3	70	• •	28		10.00	
To III . III	9			16		4*		8 00	

# ST. EDWARD'S SCHOOL, OXFORD, BOWLING.

R. W. W. Howell . 202	D	<b>I</b> aidens		Runs	,	Wickets	-	Average
TI D C TI		33		582		40		14.55
J. Butterworth 276.2		6		248		14		17.71
A. W. Paton 106		44		803		44		18.25
E. J. H. Dixon 71		12		410	٠.	20		20.50
1. U. H. DIXOII /1		3	• •	401		12		33.41

ST. JOHN'S SCHOOL, LEATHERHEAD, BATTING.   Innings   Not outs   Runs   Highest inns.   Average   16. R. Speak   15   0   600   175   40.00   G. O. Lister   9   0   310   188   34.55   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   175   40.00   10.00   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175   175	628	Pq	ublic	Scho	ool A	lverages	•					
Innings   Not outs   Runs   Highest inns.   Average	ST. JOHN'S SCHOOL LEATHERHEAD, BATTING.											
F. R. Speak				t out	8	Runs	His	thest inn	s.	Average		
G. O. Lister								175				
R. Bagnall 15 2 414 81 31.84 31.94 1.5 2.20   G. C. B. Woodroffe 14 1 218 62 16.71   D. N. Senst 12 1 1 170 58* 15.45   R. P. Chalmers 14 1 191 53 14.69   M. C. Jones 9 0 119 37 13.22   E. R. M. Saunders 11 5 64 16 10.66   E. J. Kahn 11 3 83 30* 10.37   C. C. D. Lewis 9 4 41 17 820    ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.   Overs Maidens Runs Wickets Average   J. L. C. Jones 203.3 23 605 59 10.25   E. R. Speak 131.2 22 320 28 11.42   E. R. M. Saunders 87.2 15 231 18 12.83   E. J. Kahn 76.5 10 256 16 16 16.00   C. C. D. Lewis 120.1 16 366 16 22.87    ST. PAUL'S SCHOOL BATTING.   Innings Not outs Runs Highest inns. Average   R. C. Moon 15 3 331 85 27.58   P. A. L. Passmore 17 4 327 61 25.15   N. G. P. Boswood 19 0 441 81 23.21   N. G. P. Boswood 19 0 441 81 23.21   N. G. P. Boswood 19 0 441 81 23.21   N. E. Street 16 4 204 45 17.00   J. A. Fisher 19 0 360 74 18.94   M. E. Street 16 4 204 45 17.00   D. C. Reynders 7 0 105 29 15.00   W. N. Creibin 17 3 194 47 13.85   P. H. C. Tillbrooks 6 0 70 29 11.66   B. K. Totton 225.3 43 633 32 19.78   N. G. P. Boswood 102.3 14 328 13 25.23   ST. PAUL'S SCHOOL BOWLING.   Overs Maidens Runs Wickets Average   B. K. Totton 122.5.3 43 633 32 19.78   N. G. P. Boswood 102.3 14 328 13 25.23   ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.   Innings Not outs Runs Highest inns. Average   B. K. Totton 13 0 613 180 Average   B. K. Totton 122.5 3 43 633 32 19.78   N. G. P. Boswood 102.3 14 328 13 25.28   ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.   Innings Not outs Runs Highest inns. Average   B. K. Totton 13 0 613 180 Average   B. K. Totton 14 18 1 251 89 20.91   J. R. Sharpe 13 22 253 51* 23.00   J. R. Sharpe 13 22 253 51* 23.00   J. R. Sharpe 14 25 4 158 33 19.75   C. J. S. Cooper 12 1 1 10 75* 17.36   J. R. Sharpe 19 1 3 20 255 30   ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.   Overs Maidens Runs Wickets Average   J. R. Sharpe 19 2 26 255 30   S. Sound 19 20 255 30   S. Soun	G. O. Lister					311		88		34.55		
J. L. C. Jones   12   3   198   30   22.00	R. Bagnall											
G. C. B. Woodroffe 14 1 218 62 10.71 D. N. Senst 12 1 170 58* 15.45 R. P. Chalmers 14 1 191 53 14.69 M. C. Jones 9 0 119 37 13.22 E. R. M. Saunders 11 5 644 16 10.66 E. J. Kahn 11 3 83 30* 10.37 C. C. D. Lewis 9 4 11 17 8.20  ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.  Overs Maidens Runs Wickets Average J. L. C. Jones 203.3 23 605 59 10.25 E. R. Speak 131.2 22 320 28 11.42 E. R. M. Saunders 87.2 15 231 18 12.83 E. J. Kahn 76.5 10 2566 16 16.00 C. C. D. Lewis 120.1 16 366 16 22.87  ST. PAUL'S SCHOOL BATTING.  Innings Not outs Runs Highest inns. R. C. Moon 15 3 331 85 27.58 P. A. L. Passmore 17 4 327 61 25.15 N. G. P. Boswood 19 0 441 81 23.21 N. G. P. Boswood 19 0 300 74 18.94 M. E. Street 16 4 204 45 17.00 M. G. R. flennell 17 2 315 119 21.00 J. A. Fisher 19 0 300 74 18.94 M. E. Street 16 4 204 45 17.00 M. C. Street 16 4 204 47 13.85 P. H. C. Tillbrooks 6 0 70 29 15.00 W. N. Crebbin 17 3 194 47 13.85 P. H. C. Tillbrooks 6 0 584 39 14.97 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Highest inns. Runs Highest inns. Average 20 11.66 R. C. Moon 15 29 15.00 R. R. C. Moon 15 20	J. L. C. Jones					198		55		22.00		
M. C. Jones       9       0       119       37       10.66         E. R. M. Saunders       11       5       64       16       10.66         E. J. Kahn       11       3       83       30*       10.97         C. C. D. Lewis       9       4       41       17       8.20         ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.         Workets       Average         J. L. C. Jones       203.3       23       605       59       10.25         E. R. Speak       131.2       22       320       28       11.42         E. R. M. Saunders       87.2       15       231       18       12.83         E. J. Kahn       76.5       10       256       16       16.00         C. J. Lewis       120.1       16       366       16       22.87         ST. PAUL'S SCHOOL BATTING.         Innings       No outs       Runs       Highest ims.       Average         R. C. Moon       15       3       331       85       27.58         †P. A. L. Passmore       17       4       327       61       25.18         N. G. P. Boswood       19       0 <td></td> <td>14</td> <td></td> <td>1</td> <td></td> <td>218</td> <td></td> <td>62</td> <td></td> <td>16.71</td>		14		1		218		62		16.71		
M. C. Jones       9       0       119       37       10.66         E. R. M. Saunders       11       5       64       16       10.66         E. J. Kahn       11       3       83       30*       10.97         C. C. D. Lewis       9       4       41       17       8.20         ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.         Workets       Average         J. L. C. Jones       203.3       23       605       59       10.25         E. R. Speak       131.2       22       320       28       11.42         E. R. M. Saunders       87.2       15       231       18       12.83         E. J. Kahn       76.5       10       256       16       16.00         C. J. Lewis       120.1       16       366       16       22.87         ST. PAUL'S SCHOOL BATTING.         Innings       No outs       Runs       Highest ims.       Average         R. C. Moon       15       3       331       85       27.58         †P. A. L. Passmore       17       4       327       61       25.18         N. G. P. Boswood       19       0 <td>D. N. Senst</td> <td>12</td> <td></td> <td>1</td> <td></td> <td>170</td> <td></td> <td>58*</td> <td>• •</td> <td>15.45</td>	D. N. Senst	12		1		170		58*	• •	15.45		
M. C. Jones       9       0       119       37       10.66         E. R. M. Saunders       11       5       64       16       10.66         E. J. Kahn       11       3       83       30*       10.97         C. C. D. Lewis       9       4       41       17       8.20         ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.         Workets       Average         J. L. C. Jones       203.3       23       605       59       10.25         E. R. Speak       131.2       22       320       28       11.42         E. R. M. Saunders       87.2       15       231       18       12.83         E. J. Kahn       76.5       10       256       16       16.00         C. J. Lewis       120.1       16       366       16       22.87         ST. PAUL'S SCHOOL BATTING.         Innings       No outs       Runs       Highest ims.       Average         R. C. Moon       15       3       331       85       27.58         †P. A. L. Passmore       17       4       327       61       25.18         N. G. P. Boswood       19       0 <td></td> <td>14</td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td>53</td> <td></td> <td>19.09</td>		14		1				53		19.09		
E. R. M. Saunders 11	M. C. Jones	9		0				31		10.44		
ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.	E. R. M. Saunders .	11	• •	Ð				20*	• •			
ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.  Overs Maidens Runs Wickets Average J. L. C. Jones 203.3 23 605 59 10.25 E. R. Speak 131.2 22 320 28 11.42 E. R. M. Saunders 87.2 15 231 18 12.83 E. J. Kahn 76.5 10 256 16 16.00 C. C. D. Lewis 120.1 16 366 16 22.87  ST. PAUL'S SCHOOL BATTING.  Innings Not outs Runs Highest ims. R. C. Moon 15 3 331 85 27.58 †P. A. L. Passmore 17 4 327 61 25.15 N. G. P. Boswood 19 0 441 81 23.21 N. G. P. Boswood 19 0 441 81 23.21 J. A. Fisher 19 0 360 74 18.94 M. E. Street 16 4 204 445 17.00 D. C. Reynders 7 0 105 29 15.00 W. N. Crebbin 17 3 194 47 13.85 P. H. C. Tillbrooks 6 0 70 29 11.66 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average  A. N. Alexeew 225.3 43 633 32 19.78  N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  M. J. Pleydell 11 0 308 62 28.00  J. R. Sharpe 13 2 255 51 89 20.91  G. F. Colley 12 4 158 33 19.75  C. J. S. Cooper 12 1 1911 75* 17.36  J. R. Sharpe 13 2 255 51 80 8.50  J. R. Whonk 13 1 1251 89 20.91  G. F. Colley 12 4 158 33 19.75  C. J. S. Cooper 12 1 1911 75* 17.36  J. R. Sharpe 100 20 255 30 8.50  J. R. Sharpe 100 20 255 30 8.50		11			1000							
Overs	C. C. D. Lewis	9	• • •	4	• •	41		11	• •	0.20		
Overs	ST JOHN'S	SCH	OOL	. LE	CATI	ERHI	EAD,	BOW:	LIN	G.		
J. L. C. Jones 203.3 23 605 59 10.25 E. R. Speak 131.2 230 28 11.42 E. R. M. Saunders 87.2 15 231 18 12.83 E. J. Kahn 76.5 10 256 16 16 12.83 E. J. Kahn 76.5 10 256 16 12.87  ST. PAUL'S SCHOOL BATTING.  Innings Not outs Runs Highest inns. Average R. C. Moon 15 3 331 85 27.58 F. A. L. Passmore 17 4 327 61 25.15 N. G. P. Boswood 19 0 441 81 23.21 G. R. ffennell 17 2 315 119 21.00 I. A. Fisher 19 0 360 74 18.94 I. A. Fisher 19 0 360 74 18.94 I. E. Street 16 4 204 45 17.00 D. C. Reynders 7 0 105 29 15.00 W. N. Crebbin 17 3 194 47 18.85 P. H. C. Tillbrooks 6 0 70 29 11.66 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average 42 25 3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average 11 1 0 308 62 28.00  J. R. Sharpe 13 2 253 51* 23.00  J. R. Sharpe 13 1 251 89 20.91 J. R. Sharpe 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36	DI. 001111	Overs	Ms	iden	9	Runs	1	Vickets		Average		
E. R. Speak 131.2 22 320 28 11.42 E. R. M. Saunders 87.2 15 231 18 12.83 E. J. Kahn 76.5 10 256 16 16 16.00 C. C. D. Lewis 120.1 16 366 16 22.87  ST. PAUL'S SCHOOL BATTING.  Innings Not outs Runs Highest inns. R. C. Moon 15 3 331 85 27.58 †P. A. L. Passmore 17 4 327 61 25.15 N. G. P. Boswood 19 0 441 81 23.21 G. R. ffennell 17 2 315 119 21.00 J. A. Fisher 19 0 360 74 18.94 M. E. Street 16 4 204 445 17.00 D. C. Reynders 7 0 105 29 15.00 W. N. Crebbin 17 3 194 47 13.85 P. H. C. Tillbrooks 6 0 70 29 11.66 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average B. K. Totton 229.5 60 584 39 14.97 S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Highest inns. Average 11.497 Average 11.407 Average 12.40 38 15.52 W. N. Crebbin 168.2 29 36 30 38.50 J. R. Sharpe 13 2 253 51* 23.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. Sharpe 14 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 30.00 J. R. Sharpe 13 2 2555 30 8.50  J. R. Sharpe 100 300 525 30 8.50  J. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  J. R. Sharpe 100 300 525 30 8.50												
E. R. M. Saunders 87.2 15 231 18 12.83 E. J. Kahn 76.5 10 256 16 16 16.00 C. C. D. Lewis 120.1 16 366 16 22.87  ST. PAUL'S SCHOOL BATTING.  Innings Not outs Runs Highest inns. R. C. Moon 15 3 331 85 27.58 P. A. L. Passmore 17 4 327 61 25.15 N. G. P. Boswood 19 0 441 81 23.21 G. R. ffennell 17 2 315 119 21.00 J. A. Fisher 19 0 360 74 18.94 M. E. Street 16 4 204 45 17.00 D. C. Reynders 7 0 105 29 15.00 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average B. K. Totton 229.5 60 584 39 14.97 S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average P. E. B. Calvert 13 0 613 180 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. Sharpe 14 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Highest inns. Average P. R. Calvert 13 0 613 180 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average J. R. Sharpe 193 20 255 30 8.50	E R Speak	131.2		22		320						
ST. PAUL'S SCHOOL BATTING.   Innings   Not outs   Runs   Highest inns.   Average   R. C. Moon   15   3   331   85   27.58	E. R. M. Saunders	87.2		15		231						
ST. PAUL'S SCHOOL BATTING.   Innings   Not outs   Runs   Highest inns.   Average   27.58	E. J. Kahn	76.5		10		256		16				
Innings	C. C. D. Lewis			16		366		16		22.87		
Innings	QE	n DA	TIT 10	GA	TTOC	T DAT	TITAT	.0				
R. C. Moon 15 3 331 85 27.58 tP. A. L. Passmore 17 4 327 61 25.15 N. G. P. Boswood 19 0 441 81 23.21 G. R. ffennell 17 2 315 119 21.00 J. A. Fisher 19 0 360 74 18.94 M. E. Street 16 4 204 45 17.00 D. C. Reynders 7 0 105 29 15.00 D. C. Reynders 7 0 105 29 15.00 W. N. Crebbin 17 3 194 47 13.85 P. H. C. Tillbrocks 6 0 70 29 11.66 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average B. K. Totton 229.5 60 584 39 14.97 S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  ST. B. Calvert 13 0 613 180 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. Sharpe 13 1 2 251 89 20.91 J. R. Sharpe 13 1 2 255 51 89 20.91 J. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* C. J. R. Sharpe 103 20 255 30 8.550							TIM	U.	0	Awaraga		
P. A. L. Passmore					s							
N. G. P. Boswood 19 0 441 81 23.21 G. R. ffennell 17 2 315 119 21.00 J. A. Fisher 19 0 360 74 18.94 M. E. Street 16 4 204 45 17.00 D. C. Reynders 7 0 105 29 15.00 D. C. Reynders 7 1 107 29 11.68 P. H. C. Tillbrooks 6 0 70 29 11.68 B. K. Totton 12 1 107 22 9.72 9.72 ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average B. K. Totton 229.5 60 584 39 14.97 S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23 ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average F. B. Calvert 13 0 613 180 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. Sharpe 13 2 255 51* 23.00 J. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36 ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average 19. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36 ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average 19. R. Sharpe 10.93 20 255 30 8.550 Research 19. R. Sharpe 11. 191 75* 17.36 Research 19. R. Sharpe 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36 Research 19. R. Sharpe 10.93 20 255 30 8.550 Research 19. R. Sharpe 10.93 20 255 30 8.550 Research 19. R. Sharpe 10.93 20 255 30 8.550 Research 19. R. Sharpe 10.93 20 255 30 8.550 Research 19. R. Sharpe 10.93 20 255 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. Sharpe 10.93 20 2555 30 8.550 Research 19. R. S								0.0				
D. C. Reynders	†P. A. L. Passmore			4				Q1	• •			
D. C. Reynders	N. G. P. Boswood	19	• •	0				110	• •			
D. C. Reynders	G. R. ffennell	10		0	• •			74	• •			
D. C. Reynders	M. F. Street	18		4				45				
W. N. Crebbin 17 3 194 47 11.66 B. K. Totton 12 1 107 29 11.66 B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average B. K. Totton 229.5 60 584 39 14.97 S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average 1E. B. Calvert 13 0 613 180 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. Sharpe 13 2 255 51* 89 20.91 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 G. F. Colley 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average J. R. Sharpe 103 20 255 30 8.550  J. R. Sharpe 103 20 255 30 8.550				0	• •			29				
P. H. C. Tillbrooks 6 0 70 29 9.72  B. K. Totton 12 1 107 22 9.72  ST. PAUL'S SCHOOL BOWLING.  Overs Maidens Runs Wickets Average  B. K. Totton 229.5 60 584 39 14.97  S. Feldman 154.4 12 590 38 15.52  W. N. Crebbin 168.2 28 465 25 18.60  A. N. Alexeew 225.3 43 633 32 19.78  A. N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average  †E. B. Calvert 13 0 613 180 47.15  M. J. Pleydell 11 0 308 62 28.00  J. R. Sharpe 13 2 255 51* 23.00  J. R. W. Monk 13 1 251 89 20.91  G. F. Colley 12 4 158 33 19.75  C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average  J. R. Sharpe 103 20 255 30 8.50  Vers Maidens Runs Wickets Average  J. R. Sharpe 103 20 255 30 8.50		17		3				47				
ST. PAUL'S SCHOOL BOWLING.   Overs   Maidens   Runs   Wickets   Average   14.97	P H C Tillbrooks	6		0				29				
ST. PAUL'S SCHOOL BOWLING.   Overs   Maidens   Runs   Wickets   Average   14.97	B. K. Totton					107		22		9.72		
Overs         Maidens         Runs         Wickets         Average           S. Feldman         154.4         12         590         38         15.52           W. N. Crebbin         168.2         28         465         25         18.60           A. N. Alexeew         225.3         43         633         32         19.78           N. G. P. Boswood         102.3         14         328         13         25.23           ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.           Innings         Not outs         Runs         Highest inns.         Average           †E. B. Calvert         13         0         613         180         47.15           M. J. Pleydell         11         0         308         62         28.00           J. R. Sharpe         13         2         253         51*         23.00           J. R. W. Monk         13         1         251         89         20.91           G. F. Colley         12         4         158         33         19.75           C. J. S. Cooper         1         191         75*         17.36           ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.           Overs	D. 11. 100001				-							
Overs         Maidens         Runs         Wickets         Average           S. Feldman         154.4         12         590         38         15.52           W. N. Crebbin         168.2         28         465         25         18.60           A. N. Alexeew         225.3         43         633         32         19.78           N. G. P. Boswood         102.3         14         328         13         25.23           ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.           Innings         Not outs         Runs         Highest inns.         Average           †E. B. Calvert         13         0         613         180         47.15           M. J. Pleydell         11         0         308         62         28.00           J. R. Sharpe         13         2         253         51*         23.00           J. R. W. Monk         13         1         251         89         20.91           G. F. Colley         12         4         158         33         19.75           C. J. S. Cooper         1         191         75*         17.36           ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.           Overs	ST	PAT	IT.'S	SCI	HOO	L BOY	VLIN	IG.				
B. K. Totton 229.5 60 584 39 14.97 S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings No outs Runs Highest inns. Average 15 18 18 18 18 18 18 18 18 18 18 18 18 18	51		M	aiden	g	Runs	1	Wickets		Average		
S. Feldman 154.4 12 590 38 15.52 W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average 15 18 0 613 180 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. Whonk 13 1 251 89 20.91 G. F. Colley 12 4 158 33 19.75 C. J. S. Cooper 1 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average 15 R. Sharpe 103 20 255 30 8.50  J. R. Sharpe 103 20 255 30 8.50	D W Totton					584						
W. N. Crebbin 168.2 28 465 25 18.60 A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average 47.15 M. J. Pleydell 11 0 308 62 28.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. W. Monk 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 G. F. Colley 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average J. R. Sharpe 103 20 255 30 8.50  Verage 12 1 191 75* 17.36	B. K. 10tton	154 4						38		15.52		
A. N. Alexeew 225.3 43 633 32 19.78 N. G. P. Boswood 102.3 14 328 13 25.23 ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average 47.15 180 47.15 180 47.15 180 47.15 180 47.15 180 19.15 180 19.15 180 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.15 19.	W N Crebbin	168.2						25				
ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.  Innings Not outs Runs Highest inns. Average  †E. B. Calvert. 13 0 613 180 47.15  M. J. Pleydell 11 0 308 62 28.00  J. R. Sharpe 13 2 253 51* 23.00  J. R. W. Monk 13 1 251 89 20.91  G. F. Colley 12 4 158 33 19.75  C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average  J. R. Sharpe. 103 20 255 30 8.50  L. 200 1555 43 19.90	A N Alexeew	225.3		43		633		32				
ST. LAWRENCE COLLEGE, RAMSGATE, BATTING.    Innings	N. G. P. Boswood	102.3		14		328		13		25.23		
Innings			COT			DANGO	AFEIT	DAT	TITI	TO		
†E. B. Calvert     13     0     613     180     47.15       M. J. Pleydell     11     0     308     62     28.00       J. R. Sharpe     13     2     253     51*     23.00       J. R. W. Monk     13     1     251     89     20.91       G. F. Colley     12     4     158     33     19.75       C. J. S. Cooper     12     1     191     75*     17.36       ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.       Overs     Maidens     Runs     Wickets     Average       J. R. Sharpe     103     20     255     30     8.50       J. R. Sharpe     103     20     555     43     12.90	ST. LAWRE	CNCE	COL	LEC	хĿ,	RAMSU	AII	, DAI	111	NG.		
M. J. Pleydell 11 0 308 62 28.00 M. J. Pleydell 11 0 308 51* 23.00 J. R. Sharpe 13 2 253 51* 23.00 J. R. W. Monk 13 1 251 89 20.91 G. F. Colley 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average J. R. Sharpe 193 20 255 30 8.50  J. R. Sharpe 193 20 255 30 8.50												
M. J. Fleyden 12 2 253 51* 23.00 J. R. Sharpe 13 1 251 89 20.91 J. R. W. Monk 13 1 251 89 20.91 G. F. Colley 12 4 158 33 19.75 C. J. S. Cooper 12 1 191 75* 17.36  ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average J. R. Sharpe 103 20 255 30 8.55  J. R. Sharpe 103 20 255 43 12.90	†E. B. Calvert											
ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average  J. R. Sharpe. 103 20 255 30 8.50  1290	M. J. Pleydell	11		0				51*				
ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average  J. R. Sharpe. 103 20 255 30 8.50  1290	J. R. Sharpe	13	• •	1			• • •	89				
ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average  J. R. Sharpe. 103 20 255 30 8.50  1290	J. R. W. MONK	10		1	10.17	158	* (*)	33				
ST. LAWRENCE COLLEGE, RAMSGATE, BOWLING.  Overs Maidens Runs Wickets Average  J. R. Sharpe. 103 20 255 30 8.50  1290	G. F. Colley	12		1				75*				
Overs Maidens Runs Wickets Average  J. R. Sharpe 103	C. J. S. Cooper	14	**	7								
Overs Maidens Runs Wickets Average  J. R. Sharpe 103	ST LAWRE	NCE	COL	LEG	E. 1	RAMSG	ATE	, BOW	LI	NG.		
J. R. Sharpe 103 20 255 30 8.50	NI. 1111111011	Overs	M	aider	ns ,	Runs	- Carolina C	Wickets		Average		
100 0 555 43 12.90	J R Sharpe.			20				20		8.50		
	D. E. Beney	180.3						43				
D. E. Beney	F. G. Jones	. 68.5			*:*	315		22				

# ST. PETER'S SCHOOL, YORK, BATTING.

PROPERTY AL	Inning	s N	ot out	S	Runs	Hi	ghest in	ns.	Average
A. V. Mackintosh	. 9		2		366		115		52.28
†N. W. D. Yardley	. 13		1		584		145*		10 00
N. A. Newman	. 13		1		404		93		33.66
S. Dodds	. 9		0		158		46		17.55
R. Ogley			0		130		55		16.25
J. W. Stead			0		180		49		15.00
R. H. Davison			4		71		20		14.20
K. Lockwood			0		120		34		13.33
D. G. Barnby	. 6		3		28		13*		9.33
J. R. Tyson	. 7		2		46	• •	14*		9.20
J. R. Tyson	. 7	٠.	2						

# ST. PETER'S SCHOOL, YORK, BOWLING.

Overs	Ma	aidens	Runs	Wickets	Average
N. W. D. Yardley 159.1		32	381	 31	 12.29
A. V. Mackintosh 87		18	205	 14 .	 14.64
S. Dodds 172		29	567	 35	 16.20
N. A. Newman 124.1		28	360	 19	 18.94

# SEDBERGH SCHOOL BATTING.

	Inning	3	Not outs	Runs	н	ighest inns.	Average
F. R. Bavin	12		3	261		66	
J. Lockhart	11		2	206		55	00 00
J. D. B. Fowells	12		1	232	. 168	41	21.09
I. D. Learmonth	8		2	123		51	20.50
D. J. F. Watson	6			98	WE.	38	16.33
D. E. Cockroft	11		0	164	2.	38	14.90
P. Gundill	4		0	39		25	9.75
A. E. Husband	10		0	78		14	7.80
I. R. Bell D. Nixon	10		1	66		18	7.33
W. R. Grieve	4		0	29		26	7.25
W. It. Glieve	9	• •	1	56		28	7.00

# SEDBERGH SCHOOL BOWLING.

	Overs	N	<b>faidens</b>	Runs	Wickets		Average
J. D. B. Fowells	. 48		5	 177	 12	. 5	14.75
I. D. Learmonth	115		39	 224	 15		14.93
W. R. Grieve	127.2		20	 417	 25	-	16.64
D. E. Cockroft			26	 441	 24		18.37
G. R. Turnbull	80.4		16	 233	 11		21.18
I. R. Bell	159.5		42	 431	 15		28.73

# SHAFTESBURY GRAMMAR SCHOOL, BATTING.

	Innings	N	ot out	s	Runs	His	hest in	19	Average
R. J. Friend	12		2		234		67*		23.40
R. P. Jesse	10	٠.	3		136		45*		19.42
R. H. Tarrant F. J. Green	12		0		147	***	46		12.25
D T TI.I	11		1		90		25		11.25
M. F. Murphy	11		2	• •	98		30*		10.88
The state of the s	11	• •	U		114		39		10.36

Public	School	Averages.	
--------	--------	-----------	--

# SHAFTESBURY GRAMMAR SCHOOL, BOWLING.

~ ~ ~	Overs	N	faidens	Runs	Wickets	Average
C. G. Jeffries	106		28	 325	 33	 9.84
M. F. Murphy			4	 114	 11	 10.36
R. H. Tarrant			3	 124	 11	 11.27
H. G. Friend			16	 259	 22	 11.77
†J. M. Harding	71.1		20	 213	 16	 13.31

# SHERBORNE SCHOOL BATTING.

	Innings	3	Not outs		Runs	His	ghest inn	S	Average
D. E. B. Harris	7		3		206		100*		51.50
O. Clarke			4		199		44		49.75
C. Bell		٠.	3		401		81		40.10
L. Sherley-Price	14		2		381		104*		31.75
W. J. Eldridge	15		0		463		107		30.86
J. D. Watney			1		423		86		30.21
†B. H. D. Robinson	14		0		406		110		29.00
J. T. A. Wilson T. B. Wilkinson		٠.	3		151		50*		25.16
A. V. Wilkinson		• •	0		85		26		14.16
A. v. williams	10	• •	0	٠.	116	• •	35		11.60

### SHERBORNE SCHOOL BOWLING.

	Overs	Maide	ns	Runs	Wickets	Average
C. Bell	152.2	 31		438	 29	 15.10
B. H. D. Robinson .	259.1	 47		741	 44	 16.84
O. Clarke	v9.3	 14		342	 19	 18.00
A. V. Williams	99	 18		264	 13	 20.30
J. T. A. Wilson	192	 36		554	 21	 26.38

# SHREWSBURY SCHOOL BATTING.

G mi	Inning	s N	ot outs	Runs	Hi	ghest in	ıs.	Average
G. Thorneycroft	14		2	 467		134		38.91
†J. C. Best	13		2	 423		80*		38.45
T. N. Leigh-Bennet.	13		1	 378		107*		31.50
C. F. Darbishire	13		1	 371		83		30.91
F. S. Robinson	15		1	 365		67		26.07
M. S. Warman	13		5	 160		48*		20.00
R. V. M. Stanbury			3	 199		47		19.90
P. D. Marrian	13		2	 215		86*		19.54
T. M. Bell	14		1	 223		42*		17.15
P. G. Wild	9		2	 96		34		13.71
E. J. Brotherton	6		0	 76		35		12.66
D. J. Howell	5		0	 60		21		12.00

# SHREWSBURY SCHOOL BOWLING.

D. J. Rowell	Overs	1	Maidens	Runs	Wickets		Average
O When C	129.4		32	 321	 29		11.07
G. Thorneycroft	38.3		2	 181	 11		16.45
E. J. Brotherton	105.2		21	 364	 18		20.20
P. G. Wild	99.4	٠.	16	 377	 17		22.18
M. S. Warman	155		3	 697	 30		23.21
T. N. Leigh-Bennet.	121.1	٠.	23	 359	 10	, .	35,90

# STONYHURST COLLEGE BATTING.

	· .	-				and do	LLIU.		
P. de la H. Moran .	Innin	gs N	ot our	ts	Runs	Hi	ghest in	ns.	Average
†F. B. O'Brien			2		233		76		29.12
R. V. St. Lawrence	. 17	• •	5		431		80		26.93
E. I. Weidner	. 11		1	• •	300		63*		25.00
D. A. Kelly	17		0		$\frac{175}{295}$		51		17.50
J. P. Owens	. 13		3		131	• •	77	• •	17.35
J. C. Cooper	19		3		111		25 53*	٠.	13.10
C. E. Edridge	. 10		2		96		34		12.33
J. H. Green	. 11		0		102	::	27	• •	12.00 9.27
							44.0		9.41

# STONYHURST COLLEGE BOWLING.

E. I. Weidner	Overs 52.3		Maidens		Runs	011	Wickets		Average
J. P. Owens		٠.	7	• •	154	٠.	16		9.62
A. S. Todd	226 2		14		255	٠.	15		17.00
F. B. O'Brien	07.9	•	45	٠.	602		35		17.20
D. A. Kelly	131 4	٠.	19		302		12		25.16
111111	101.4		14	٠.	502		19	٠.	26.42

# STOWE SCHOOL BATTING.

			DUTT	TIME			
J. D. A. Langley	Innings	Not outs	Runs	Hi	ghest in	ıs.	Average
J. D. Buchanan	12 10	2	401		142		40.10
†P. B. Lucas	11	9	384 334	••	73		38.40
A. E. de la T. Mallett.	6	î	151	118	84 62		37.11
S. J. R. Macoun P. G. Krabbé	4	3	30	observation of	15*		30.20
R. O. Booth	9	1	188		47		23.50
N. D. Clive	10	1	67 218		35*		22.33
S. J. L. Olver	8	1	129	3.0	71 42		21.80
K. P. P. Goldschmidt	11	0	202		47		18.42 18.36
G. E. T. Brown	9	2	83		16*		11.85

# STOWE SCHOOL BOWLING.

D D I	Overs	M	Laidens		Runs	 Wickets	A YZON- OL-
P. B. Lucas K. P. P. Goldschmidt	154		36		396	 29	Average 13.65
J. D. Buchanan	90		19		313	 20	 15.65
P. G. Krabbé	102	• •	16		377	 19	 19.84
	100		19	• •	361	 16	 22.56

# TAUNTON SCHOOL BATTING.

	* .			0.1	1 TITT	447	W.		
†J. V. Wild	Innings 17	3	Not outs		Runs		Highest	inns,	Average
A. G. Jones	16		3.	•	614		93		43.85
H. E. Collett	10	٠.	1 .		300		47		20.00
B. B. Gulati	15	٠.	2 .		256		67*		19.68
R. B. Harris	14	٠.	0 .	•	195		50		13.92
G. F. Edmonds	15		2 .		172		48		13.23
E D H:	14		0 .		168		25		12.00
E. R. Hill	8	Date:	2		68		18		11.33
H. M. Clifford	15		1		123		41		
G. E. A. Woodward.	11		3		69		31		8.78
					00		21		8.62

# TAUNTON SCHOOL BOWLING.

L. F. Nicholson	Overs . 118.1		Maidens 9	 Runs 492	Wickets		Average
J. V. Wild	. 280.5		52		 04		14.47
	. 400,0	• •	04	 757	 40	, .	18.92

Public	School	Averages.
--------	--------	-----------

#### TONBRIDGE SCHOOL BATTING.

	Inning	s No	t out	s	Runs	H	ighest ir	ns.	Average
D. A. S. Day	15		4		684		130*		62.18
†T. S. La Fontaine	19	9.000	3		749		145		46.81
J. O. Graham	17		3		417		106*		29.78
G. B. Salmon	10		0		242		77		24.20
M. A. J. Farey	16		1		312		98		20.80
L. D. Gardner	14		2		247		93*		20.58
J. D. Parsons	11		3		164		52*		20.50
R. T. Flower	12		6		106		40*		17.66
T. C. Cobb	8		0		139		43		17.37
J. R. Thompson	16		0		242		57		15.12
W. G. Popple	14		2		181		31		15.08
R. G. Hobbs	11		1		121		29		12.10

### TONBRIDGE SCHOOL BOWLING.

	Overs	M	aidens	5	Runs	Wickets	Average
R. T. Flower	224.1		30		684	 34	 20.11
T. S. La Fontaine			12		476	 21	 22.66
W. G. Popple			40		883	 38	 23.23
J. D. Parsons	174.3		29		519	 20	 25.95
T. C. Cobb	94.3		15		363	 10	 36.30

## UNIVERSITY COLLEGE SCHOOL BATTING.

	Innings		Not outs	Runs	I	lighest inn	S.	Average
†P. G. Wreford			3	 340		000		24.28
H. B. Goldstein	16		2	 248				17.71
E. R. Keyworth	16		1	 228				15.20
E. L. Beverley			3	 139		36*		11.58
G. M. Bradfield	17	٠	0	 190		56		11.17
G. W. Rees	13	٠.	2	 117	٠	34		10.63
F. W. A. Campbell .	12		2	 103		26*		10.30
D. E. H. Suttill	10		2	 74		36		9.25

### UNIVERSITY COLLEGE SCHOOL BOWLING.

	Overs	M	laidens	Runs	Wickets	Average
G. W. Rees			1	 175	 12	 14.58
W. F. G. Drury			8	 334	 17	 19.64
H. F. Woodroffe			11	 487	 18	 27.05
E. L. Beverley			11	 495	 17	 29.11
E. R. Keyworth	96		9	 440	 14	 31.42
D. E. H. Suttill	97.1		15	 392	 11	 35.63

## UPPINGHAM SCHOOL BATTING.

	Innings	3	Not outs	Runs	Hi	ghest inn	s.	Average
R. Blake			0	 282		86		31.33
M. H. Bell			1	 345		66		28.75
A. F. T. White		٠.	1	 341		115		28.41
M. T. N. Jennings			1	 367		142*		28.23
A. M. Ormsby	13		2	 272		63*		24.72
T. G. L. Ballance			2	 205		50*		20.50
C. S. Watson			4	 105		36*		19.00
G. N. T. W. Samuel.			1	 200		43		18.18
F. C. South	9	٠,	3	 67		19*		11.16

# UPPINGHAM SCHOOL BOWLING.

T. G. L. Ballance D. W. Gillespie C. S. Watson F. C. South	180.2		Maidens 100 47 49 37		Runs 588 386 454 363	••	Wickets 53 33 32 15	•••	Average 11.09 11.69 14.18 24.20
------------------------------------------------------------	-------	--	----------------------------------	--	----------------------------------	----	---------------------	-----	---------------------------------------------

# WELLINGBOROUGH SCHOOL BATTING.

D. C. Counsell	Innings	Not outs	Runs	Hig	hest inr	ıs.	Average
J. A. E. Watts	8	0	69		24*		34.50
†J. Garne G. A. Turnbull	15 .	-	206 416	::	47* 103*	• •	34.33
G. W. Dorr	15		339		67		27.71 21.18
J. J. Thompson	15	1	218 211		42*		18.16
F. J. Broadhurst P. R. Cherrington	18		235	11.	39 57	• •	15.07 13.82
E. G. Wells	17	1	217		59		12.76
G. H. Loomes		ā .,	202 177	• •	35 31	, .	12.62
E. A. Burton S. G. Vials	7	2	52		24	::	11.06 $10.40$
	10	1	77		28		8.55

# WELLINGBOROUGH SCHOOL BOWLING.

G. A. Turnbull 90 W. J. Trasler 72 E. G. Wells 215.2 G. H. Loomes 140 J. Garne 72 P. R. Cherrington 96	11.5 21.5 07.3 7.1	laidens 12 8 44 19 10	Runs 310 182 591 448 302	Wickets 24 12 36 22 11	Average 12.91 15.16 16.41 20.36 27.45	
2. 10. Cheffington 96	• •	5	 427	 10	 42 70	

# WELLINGTON COLLEGE BATTING.

F. S. Bird	Inning	s N	ot ou	ts	Runs	Hi	ghest in	ns.	Average	
R. H. W. Fowler	14 10		3		441		49*		40.09	
A. G. Roberts	7		1		257		87		28.55	
G. T. G. Hunter	12		0	•	181 259		102		25.85	
†M. St. J. Packe P. B. Wakelin	12		1	::	205		70 57*		21.58	
H I Dodmen	15		3		219		28*		18.63 18.25	
A. L. McCall	10		2		120		27		15.00	
E. H. Sweet	9		0	• •	128	٠.	54		14.22	
R. J. B. Eddison	10		5		79 41	1	21		8.77	
F. M. Forster	9		ő		69	• •	18* 28		8.20	
				-	00		40	100000	7 66	

# WELLINGTON COLLEGE BOWLING.

P. B. Wakelin	Overs 191		Maidens 17	 Runs 720	Wickets 28		Average
R. H. W. Fowler R. J. B. Eddison	. 88	٠,	1	 456	 16	• •	25.71 28.50
	. 140	• •	20	 524	 14		37 42

Public	School	Averages.
--------	--------	-----------

#### WESTMINSTER SCHOOL BATTING.

	Inning	gs N	ot out	ts	Runs	Hi	ghest in	ns.	Average
†R. H. Angelo	15		0		571		103		38.06
E. R. Hobbs	14		3		415		123*		37.72
J. Alderson	15		1		474		128		33.85
F. F. Richardson	13		1		298		73		24.83
H. F. B. Symons	15		1		256		46		18.28
C. C. Klein	10		2		145		42		18.12
J. P. Rayne	13		3		159		55*		15.90
J. D. Stocker			2		103		24		12.87
A. H. W. Matcham .	6		0		58		26		9.66

#### WESTMINSTER SCHOOL BOWLING.

	Overs	N	laidens	Runs	Wickets	Average
R. H. Angelo	112.4		6	 657	 28	 23.46
J. T. Woodgate	132.1		11	 588	 18	 32.66
C. C. Klein	111	٠	13	 463	 12	 38.58
F. F. Richardson	88	٠.	8	 421	 10	 42.10

#### WEYMOUTH COLLEGE BATTING.

	Inning	s N	ot out	S	Runs	Hi	ghest in	ns.	Average
S. T. H. Young	13		0		471		109*		36.23
H. A. L. Stone	16		2		387		121*		27.64
†J. W. Paul			2		355		77		25.35
R. C. Howard			0		218		49		18.16
P. A. Wright			2		210		104*		16.15
P. H. Phillips	16		0		257		78		16.06

## WEYMOUTH COLLEGE BOWLING.

	Overs	laidens	3	Runs	Wickets	Average
J. W. Paul	45	 9		113	 17	 6.64
S. T. H. Young		14		484	 43	 11.25
M. R. Alexander	141.1	 28		462	 39	 11.84
H. A. L. Stone		 21		254	 19	 13.36
P. H. Phillips	45.4	 8		141	 10	 14.10

#### WHITGIFT SCHOOL BATTING.

	Inning	s N	ot ou	ts	Runs	Hi	ghest in	ns.	Average
W. H. Bangs	7		4		146		59*		48.66
G. A. Lambert	16		2		381		84		27.21
R. A. W. Henley			0		370		121		23.12
P. W. Venning			1		307		52		21.92
†R. S. Merrett			0		321		48		20.06
A. Grout			4		190		42		21.11
R. B. Crowson			2		242		31		17.28
D. W. A. Voller			0		167		41		11.13
D. H. Christophers .	10		2		63		20		7.87

# WHITGIFT SCHOOL BOWLING.

W. H. Bangs 90.1 10 308	
5. Bowes 269 59 960 43 22 D. H. Christophers 271.1 59 850 37 22 D. W. A. Voller 104.5 7 515 37 22	verage 2.00 2.32 2.97 6.78

# WINCHESTER COLLEGE BATTING.

P. G. Foster	Inning	gs	Not out	s	Runs	В	ighest in	nns.	Average
J. Davies-Scourfield	15		2		555		102*		37.00
J. D. Eggar	15		2		456		75		35.07
J. T. Faber			1		431		93		30.78
K. B. Scott		::	$\frac{2}{2}$	• •	211		62*		30.14
M. W. Holme	8		0		151		41		25.16
†J. W. Grover	15		1		188		71		23.50
D. C. Wilson			1	• •	247		67		17.64
P. A. T. Holme	13	::	1		70		18		17.50
W. B. Foster	8		0		132		35		14.66
A. H. Townsend	12		2		$\frac{117}{134}$		30		14.62
H. D. Wrench	5		1		53		19		13.40
	12.1		_		99		20		13.25

# WINCHESTER COLLEGE BOWLING.

K. B. Scott 238.5 D. C. Wilson 140.5 H. D. Wrench 80 A. H. Townsend 61 R. C. P. Bryan 143	Maidens 41 32 15 4	353 415 236 276	Wickets 25 22 11 11	Averag 14.12 18.86 21.45 25.09	ge
R. C. P. Bryan 143	36	378	11	25.09	

# WORKSOP COLLEGE BATTING.

R. S. Rennie	Innings 17	Not ou	2.70	Runs	Hi	ghest inr	ıs.	Average	
†A. P. H. Lousada	18	7	• •	648		111*		43.20	
W. A. Johnson		1		496		106		29.17	
C. W. Walton	1 =	1		98		42*		19.60	
R. Bellwood	7 4	1		229		33		16.35	
F. H. Dixon	1 10	3		148		52*		13.45	
P. Wait	17	0		222		34	0.0	13.05	
J. Lyth	9	0		117		31		13.00	
R. G. M. Walker		0		161		45		11.50	
10. G. M. Walker	12	1		121		43*		11.00	

# WORKSOP COLLEGE BOWLING.

G. Martyn	Overs	N	Taidens 35	Runs		Wickets	Average
C. W. Walton	231.5			 765	٠.	45	 17.00
H. C. Dickinson	251.5		38	 757	٠.	44	17.20
Tr. C. Dickittsoff	70	• •	15	 450	٠,	26	 17.30

### WREKIN COLLEGE BATTING.

2 2 4	Inning	s N	ot ou	ts	Runs	Hig	hest in	ns.	Average
D. P. Wood			3		462		79		30.80
†J. C. G. Moore	17		1		418		64*		26.12
M. G. Haymes	18		3		313		44*		20.86
M. S. Du Pré	6		2		82		53		20.50
P. T. Milnes			0		300		38		16.66
J. W. A. Crabtree	18		3		241		44		16.06
E. S. Dove	17		5		166		44		13.83
K. T. Wild	18		0		235		42		13.05
W. W. L. Rooke	7		1	-	72		29		12.00
C. R. M. Brown	14		3		117		50		10.63
H. E. H. Greenhow.	11		5		53		8*		8.83

# WREKIN COLLEGE BOWLING.

	Overs	M	aidens	3	Runs		Wickets	Average
H. E. H. Greenhow	172		39		460		25	 18.40
P. T. Milnes			27		729		35	 20.82
M. G. Haymes	249		37		776	2. 4	37	 20.97
C. R. M. Brown	102		14		386		18	 21.44